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SSC Junior Engineer Civil Online Exam 2018

CPWD/CWC/MES
Civil Engineering

Time : 10-15 am]

[Exam Date : 22 January, 2018

1. Preliminary expenses are the examples of......

RIKEEE R L T ISTEA

(a) Capital expenditure/gsia =5

(b) Capital gain/qSiTa @9

(c) revenue expenditure/IsT&d =g

(d) deferred revenue expenditure/®id TS =g
Ans. (a) : TRE =77 G0 =59 31 33T 81 Goia =
T OTHT T §, A e 9 KT RewfEt g §
TeTas 1 59 ST e fmion, s, 3, Sl e
M W T T aret =57 Gftafed g 21 J8 el ®9
fFam ST 21 39 faebres = Fel S | Swe awas §
Tel G = &1 & A H s A T R (1) TR

(c) Most of assets is owned by government
Aferepier aRwafta T T & &t @
(d) Most of assets is owned by an individual
ey wREafoet o =i % o a8
Ans. (c) : TrES & & 9 §uft 3iiifies wd et
Sam WSt 2 €, e @i Td Seee 9R % et
# g § A R geR & Rt F wv § R e
TSl % g fher S 81 oT: wiESi &% S
rfrepTer aRwfalET T @it & @it 81 WS
FIA, R A MM JEH FA 21 Sead@ad &
TR A HAgE WS STHI H SMYAH TG

ST Gl =4 (2) e §oi = el & g9 & 2

2. Which economic activity cannot be included in | 4. The percentage of India’s population in the
the tertiary sector?/ﬂ?ﬁw a7 W @ ot total population of the world as per 2011 census
TR Tferferter InHeT A&l ot < Wehelt? is:......./2011 ST STWUET & JJARX ARA Hl

(a) Working in a call-centre/®d et § Fr HET
(b) Tuition occupation/ZFTH HIEH

(c) Bee-keeping/A¥HeRal qrei

(d) Banking/aﬁv"‘f

Ans. (c) : et | e &Ei & A9 an § e

T -

(1) mafee &7 - 39H H, e, Te[uTeH, FedTe,
T UIeH, T T 3 M S R

@) f5fes a7 - o sam (S 99 SEm, S
e, fafemior snfz e @)

(3) g & — T8 JaT &7 g &1 9H Afh, &,
Ragd, AR, ¥ =aud, Hd el § Pl
FT MR o1 fawed () Aemerdt wrem wafte &
& ST ST |

3. Which of the following statement is true for the

Public Sector Unit?/f=faaa & & == @1

R WA~k ST TS oh T TET &2

(a) Most of assets is owned by a group of people
sy GRERE @ T i % e %
I B 2

(b) Most of assets is owned by big companies
sfyertyr uftdufea &<t dufael & @i #
i

e fava oY S=EE @i feha wferd 872

(a) 17.5% (b) 18.01%

(c) 19.35% (d) 20.25%
Ans. (a) : 2011 & SHUET & FER WRG & Fd
SHEEA 121.5 S ¢ S fova # FA 6 F 17.5%
21 9Rd ¥ galfys SEEN a TS9O HES: g- S,
TN, FER, U. S, 3y T

5. Which of the following five year plan of India
recognized human development as the core of

development efforts?/frafafaa o & f&a
At deradte e 3 weft foenmatere yarat
& OR % ®U W A foreRe @ w62

(a) Eighth five year plan/3Tadl d=asia dremT

(b) Ninth five year plan/atdl Geedfa FeHT

(¢) Tenth five year plan/39at Faadfg e

(d) Eleventh five year plan/™gdl vaadig e

Ans. (a) : 3TSdl dgaSia AT (1992-97) STHRYA @i
W A & & &7 H UM SiH ey, qeR Hied W
iR ot 39 A | et foeres SErE & O %
&Y § A9 faeg #t 7= & T T 59 A F
3RYT o1 G GHHA 1 (AR eAed g {6 smge
e AT & R & G 1 SHad 1995 @ faed
AR G139 6 G a1
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6. Which of the following thinker is associated
with “the concept of political sovereignty?

T A w foone ueHifas ggEsT @@

Heheu=T'' ¥ Wrsferd &7

(a) Maclver/fegat (b) Socrates/HHId

(¢) Rousseau/&dl (d) Plato/=iet
Ans. (¢) : TG Tsh HgH <RI~ T foama & g 54
SHar #1712 % H g ®E qSAfae TS H
Heheo T ¥ el 8| &9 &1 H99 8 % A @ S
o1 8, W T8 T SIS # STebel Tl 217 &G 1 AHg
@ - (1) R 9w #Ree, 1762 (2) S (3) ™
ISR 2 Uifeifead THHE, 1758 |
7. Who said, “A good citizen makes a good state

and a bad citizen makes a bod state”?/feRE=

HEl AT, ‘TUeh DT ANk Teh DT A

FATAT € 3T T ANTRS Teh I TS ST &7

(a) Plato/=i2t (b) Aristotle/3T&]

(¢) G.B. Shaw/stal. ¥ (d) Rousseau/&dl
Ans. (b) : 3T&] & F99 o1 f& “Th =W ARE TH
75T TS ST @ 3R U ARG U g0 U7 a0 217
wer ¢ fh o] w g A antfre @ wel %
g o R & & 91 o F W9 WeH T
‘TAfery T 3R § URAR F THH T A 2|
8. Panchayat Samiti at the block level in India is

a/al............. /9 # sieh W UT St g

(a) Advisory Body/ Tsh GclgehR fHepr
(b) Coordinating Authority only
HaA FHI TR
(c) Supervisory Authority only
Faa aef wfte

(d) Administrative Authority/S3TH{=eh FIeH0T
Ans. (d) : YRA ¥ Frady dud O e & T
- T TR W AW G, sefish @R R U Gt 3
e &R o fSe 9o sl wR W A g |ifa
TeTEfh WERT 81 T G F ST e & et
it farg-sEt & wmEd &1 ARmR G T 21 T8
f3ren, w@reea, FfY o FmE el HEt F g
R gl 21
9. According to Indian Constitution, who decides

the Salary of members of Parliament?/STe=

HfFU™ % IEN, WEE o Wewl & oa+ @l

forutar i e 2

(a) Unions Council of Ministers/gra HREAReR

(b) Parliament/&¥<

(c) Supreme Court/ I=IdH =FATTH

(d) President of India/9d T TFUfd

Ans. (b) : A HfgEH & T 106 F IR TR
F Y TS % T & 9 SN 9w @ fuior gus
HOM| e ¢ 5 T B we™ g 9H F o e
ARE F- GRA F ATRG A AT T FA H
TR o T 30 a9 & g T A 9 & fow 25 a
F I FT A AMCC| U AR 39k T TH T
IFEaTe @ =R S gae g i e

10.

Which one of the following is not correctly

matched?/fr=fetiad ¥ @A @1 T WE GAfe

& 2?

(a) Eighth Schedule: Languages
STl ST ¢ e

(b) Second Schedule: Form of Oath of office
T S : 9 ET

(c) Fourth Schedule: Allocation of seats in Raiya
Sabha/=el g : T AT F W@l
e

(d) Tenth Schedule: Defection related provisions
Tl Yl : TA-age Hadl Jreer

Ans. (b) : 3T Yaifed fom
(1) 3madt - T
(2) Tl - qyufy, TSI, Al J4

Ay WE Uo¥ W9 9uufd,

(3) =t -
(4) =4l - TA-d5e Gadl e
Note- g8 g § wu W&y & auiA fFar w2
3 fashed (b) gAfer @ 2
11. When did the Chinese traveler ‘Sung Yun’
come to India?/<ft amft ‘€7 ¥7' WRa &
31T Ar?
(a) 510 AD/510 &. (b) 518 AD/518 §.
(c) 525 AD/525 &. (d) 528 AD/528 §.
Ans. (b) : T 0 G- 518 € § 9RA o1 3R WA
g fF ot # FEr H dig w= & ufeat s
e @ % wifeam, gaq|m aur s off < am
i 9Ra @ A @ wfead, W=or@ fidE
‘FospAieer’ (375-415 §.) & YA el H MAT| g9
g & WA FIA § (6293, F M) IR ST AT
12.

Which among the following state ‘Odantpuri’
education center was situated?

eyl fHren o= fafafaa & @ ffm o=
T Srafied om............ |

(a) Bengal/smet
(c) Bihar/fsgR

(b) Gujarat/Terd
(d) Tamil Nadu/dfHerrg

SSC JE Online Civil 2018 (Ex. date 22 Jan., 2018, 10.15 am) 6



Ans. (¢) : el Rrm &% R # s a1 39
fergri o SER 2aura 3 siegd (FRR) & airg &g
w3 & o FEEn o1 e @ % daud UE g
SRR o1l 3 Al H T el T 2

13.

Who was the founder of Bahmani Kingdom?
TEUHT WTUTST hT HEATUSh <hil &T?
(a) Hasan Gangu/g8 T
(b) Firoz Shah/fRIs 38
(c) Mahmud Gawan/Hgqg el
(d) Asaf Khan/3T9® @
Ans. (a) : T (R9X0) § TEHR fo qrerd & wmEA
FA & A= fadl § 1347 €. § 99 W] THF 9E@R A
IARE gHT Tg0 W8 &I U €T ek Rigiareg
g SN T WHST H TG F| IE AT
AYT I ToT # TSl g R SHE AW
ITEETE M| e € 5 1425 €. # sqat Totee
et & e AR F & T
14. During whose rule in India did the Khilafat
movement begin?/9Ra ® fehEer A &
il REETha I ST TR g3 ar?
(a) Lord Mountbatten/d(g HRIse
(b) Lord Dalhousie/(E Ser@isl
(¢) Lord Chelmsford/ie I=qwie
(d) Lord Curzon/@(€ &siq
Ans. (¢) : TS IHHE (1916-21%.) & HeT § & g
TH STHEAN TR & Y[EI gA | 3Tk WEA FA §
gfed &= F2A 8- (1) 1919 & {oie e wika &
(2) 13 30, 1919 E. & SfAFEET a0 TS (3)
Fadal favafoaem & sig % faw 1917 € # deoR
AR F ffE |
15.

Who among the following was the founder of
the Arya Mahila Samaj in the early

1880s2/1880 o TITH o W W o wWfgem

FUTST ht TATYAT 340 A fere &hi?

(a) Swami Dayananda Saraswati

@l T qOEd!

(b) Swami Vivekananda/TmH! e

(c) Ramabai Ranade/TaTg T-Te

(d) Pandita Ramabai/dfedr Tom@mg
Ans. (d) : 9fvear e F 1882 § Ul # o mfgen
A S Tmar # oAt 1889 § wiErE A fawanst &
foTT TTRET ¥ed & TMOr &t WEE S 96 6 -
o T faght o ff1 sE aEfe @ W § seER
fepam
16.

Dasht-e Kavir Desert is located in which country?

TYA-T-chfeT WEEAeT ford 9T # fRera &7

(a) Tran/30 (b) Saudi Arab/T3dl 3TF
(c) Iraq/3Ts (d) Sudan/gs™
Ans. (a) : TH-T-FR TH TH-T-q I A& WA §
Farked 21 09 U TR & 2 21 OWH H GO
3 2 3, 9 T e R 81 sevaha @
ERE B B 1 M TS A e | i B i S s B A
ST & I GOt Rt fAafd o el @
17.

Which of the following layers is called
“Barysphere”?/fAfaiga & ¥ fvq wa =l
e T 82

(a) Earth’s most internal layer
g gAY RS T

(b) Earth’s intermediate layer/‘{%ﬁ H AT 9

(¢) Earth’s topmost layer/gedt &t ¥od 00 T2

(d) Lowest part of the atmosphere where climate
changes occur/aHed 1 Had famen am
et HEE oRede 8 @

Ans. (a) : HHT TN & MER W gedt i A wa A

ferenfra fepam e 2-

(1) Temuee ([AenER)- a8 gt & 9o S0
o 8 R e off s S 81 s "5’ 100
Km &I 37 T 81

(2) UTEUERIER — 39 0T 1 fufyd Jvea o Fed 2
50 WA § W AR urEl S 81 sEe e
2880 T, @ 21

(3) SHEHERX — 78 g 1 Yol SR T g1 FHH

el Ud frbel &1 SRl Wl ST 21 FE 2880

fepeft, & = R 2

The Blue Nile river originasts from which of
the following lakes?/s <frer =it faferfaa &
¥ form sfier & fremeret 22

(a) Lake Victoria/faaeifan gt

(b) Lake Tana/dHT e

(c) Lake Edward/‘l’@fal—&F Bl

(d) Lake Albert/3/ewe et
Ans. (b) : T e, STHIHN TETET & <91 RI=T *
T 9 Fa 21 A i ¥ =g Aa T a2
Safs faaeifan fa St evhie meET @ 9eg a9 3
21 399 i 7 Freperd @ S fva & weE e 4 2
19. Which of the following states of India has the

largest percentage of geographical area under
forest as per the report of the Forest survey of

India?/ ¥R a7 TAIUT Fi RUE & FATER
O o frefaiad § 9 fohm U § Hiiteres
AT T Hatferes wierote o &t 37

(a) Manipur/AfoTqX (b) Meghalaya/HeTerd
(¢) Mizoram/ o (d) Nagaland/aNTcAvE

18.

SSC JE Online Civil 2018 (Ex. date 22 Jan., 2018, 10.15 am)



Ans. (¢) : 39 RUE 2021 & SFER Talfe aAm@ERo
e Tt # SR #2139 ga A &9
84.53 IAEWT ¥ ST &1 HOIAT (76%), HOTR
(74.34%) TIT ATMAVS & 73.9% & FA=SIET 2|

20. At which of the following towns the Alaknanda
and the Bhagirathi combines to form River

Ganga?/frefafga =@ o ot U
amfiveft et frerent T A STt §2

(a) Haridwar/gRgR (b) Rishikesh/7&fbrehaT
(¢) Rudraprayag/®sSamT (d) Devprayag/<asamT

(c) Taking care of lactating mother in the rural
areas/TTUT &1 H a=ai # 39 A Al
TIael % w@rRed F @I 8
(d) Taking care of newborn babies in the rural
areas/ITHI0T & § TESIT @Tk’l@ﬁ % e &
WIS T
Ans. (a) : NG THR & PN FAT F q8d 4 ard
U Td g A9 9 G @R W % AW ¥ 9y
W@ F1E AT URY F 21 39 FIE # 9 F A, 3
& T UYUIES F AW, T UY] & @A H QW AN ISt
Lol

Ans. (d) : 3T 3R qriedt qfed STwETs % <F
TN % Frehe ety T A & i e g1 T A
1 g Wi o § Ry TiE ReEs @1 w &
@ WEEE A4 I 3EH e SR § WA & e
foedt @1 M & 9 e F I weEe AfeE- T,
M, =ER, TUSS, HIE q91 Heel @1 Seaiadd § %
T SR SR H ST fave 1 wed a7 Se 2|

21.

‘Nirvana Fund’ was set up by NSDC for

financial help to............. /q T & o g
RECIIC L R =0 1 | S =t fasftm
HETIAT YE= & &g it T8 offl
(a) Entrepreneurs from the bottom rungs of
society/THIS % feret feed & safyat
(b) Displaced Kashmiri Pandits
foreenfua syl dfedr

(c) Old age people having no means of
livelihood/3Tfepe gt @i o Shiferr
P HE oA T &

(d) Ventures of selected candidates trained under
PMKVY but did not get any job

diuahdted & ofdia waf@ iR uRiRE
Irfigar g #1E UsTR 76 firen
Ans. (d) : T3Fa fd gaad= (NSDC) /1 ‘fafor
HY H TG FUHSAEE F A TG R AR
saficar o4 #E U9R T2 fren @, S ferfar g
YaH H =g T o
22.

Nakul Swasthya Patra’ is a scheme by the
Government for which among the following

purposes?/frefafaa & @ fera 3T9a it ufed
& faq W &R g0 e @ e
ST I Y T §?
(a) Wellness of animals

ET & WA F 3@ 3]
(b) Wellness of animal owners

T3] ATl o W@IEA & @I 8

23.  Which mine of India was in the news recently

for becoming the country’s first iron-ore mine
to have a solar plant for reducing carbon

footprint?/sTa &t H- W wET gn_dﬁ?
HY B & (A G HGT St FAYET R aret
T H AT TATE- 3Tk W e o HIT BT
g o =l @2
(a) Talchar mine/deT=R &M
(b) Koraput mine/HNIYd GEH
(¢) Noamundi mine/=I3TH<t BaH
(d) Ratnagiri mine/T R @aH
Ans. (¢) : 10 S 2017 & SRR fgd 2= wia it
A WEH AW F FYW R HAA Al e IR
TEH | TRt 3 AEE P WieR eR wWie wifyd fhar

T & U Hiel Bidl aleeigsh (PV) Ffaad 3000 7 e
IS HF F4M|

24,

Where will the Summer Olympics be held in
2028?/3froaeRTeliA efeifuss WA 2028 W whaEl

st ferarm smeaT?

(a) Sydney/faet

(b) Paris/uftg

(c) Los Angeles/@i¥ Tfeq

(d) Copenhagen/®UTT=
Ans. (c) : TS Tcifys T 2020 § 1T (STIH),
2024 ¥ UR¥ () 9T 2028 § Wrg Ufed (M) |
RIS BT |
25.

Which country has won the 2017 Davis Cup
Tennis Tournament?/2faq =y 2fm =tz

2017 e 29T 9 Sfrem 272

(a) Switzerland/fEesieis (b) Serbia/dfsam

(c) France/Sd (d) Belarus/saed
Ans. (¢) : 3@ U, @ f § T v Yt waifus
Sffeq siE AW SRR 81 A 2017 @ e
YA § w9 7 afesem F g Raae et AW fEem

SREEHT 2023 3T 3 MR 2-0  FUSH I 2
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26. “You are Unique” is written by...........

B 3 1L 1 L, g vt ¢ %)
(a) Dr. A.P.J. Abdul Kalam
et TR, g dam

(b) Khushwant Singh/@»‘ﬂéﬁ g

(¢) Taslima Nasrin/T&iT TG=

(d) Arvind Adiga/3i¥fag sifem
Ans. (2) : ‘g IR IAF THH TEH . THS. FFA
Fem 5N o W 81 ST atge Fem a 2002
¥ 2007 % 9RA & PO I

27. The third Indian Council for Cultural
Relations (ICCR) Distinguished Indologist
Award for the year 2017 was awarded to

Japanese professor............ fad 2017 & 1%1@:

HE AR Witghiaen Gee URug (WLELE.T.)

fafdre arafag T@@ JOE TR ...........

oY fem T g

(a) Hiroshi Marui/RUel 78

(b) Shimamaru Marui/3HHRE TE3

(c) Nagasaki Marui/=VTEI&H! TE3

(d) Toyota Marui/ZaIeT &3
Ans. (a) : T 2017 & foU R IRAT Gieplos g&y
uftsg (ICCR) faf¥ty wrafag ¥wm e & S
fetelt e @l faan T 98 qEER W faEE @ aRd
T w1 erege/ vy sEyE, fER, sfoem, @,
Tl o, T, QAdl, G & &9 # Seh¥ ANEH
& fofw sy fpa T 21
28.

Which of the following city has became first
Indian city to get UNESCO’s world heritage

city tag?/frefeifad § ® @A |1 I gAR

=t fove fovem wew &1 & WTE &R AT

HRA ST WA ITET & 77 §7

(a) Jaipur/SAR

(b) Ahmedabad/37gHaTeg

(c) Gandhi Nagar/Tigt TR

(d) Allahabad/3cgTeTe
Ans. (b) : TIEH # Torvd olied 9ffy i 41 so% &
2 8 @ 2017 H [T & Ui W STeHaEE
1 fovg foraa wet &1 37 ya= far e fave s
Tt § T U 9o 9% 9RG # YO v 8

(¢) India and Netherland/9Rd o fieteis

(d) India and Iran/9Rd g7 3T
Ans. (b) : S 2017 ¥ 9RG T @A A ATAEIR
&7 # Gea % oy U Aeishiel W e 5y g
30.

India has signed an agreement to provide USD
318 million as line of credit for developing
railway sector of which of the following

country?/frefeiad & & ford 29T Al WA A

Yea & o foerr o fow 318 faferamr smfent

Tl wht ThiSe WMET il HETHal i o fog

Teh GHATT fema 82

(a) Bangladesh/aa&Y (b) Nepal/adra

(c) China/d= (d) Sri Lanka/#eiet
Ans. () : &t dH F 9RG T 9 & F faHE & fow
318 faferas sTRe e &t #fee od #I TeEd
% fow weh wgitan foan 21

31. Dot Matrix is a type of............
IR 1 22 R T Teh UehTT B
(a) Tape/@q (b) Disk/fe&h

(c) Printer/fex (d) Bus/a9

Ans. (¢) : T @& oY feamy @ W FR ¥
SRR T S FHATST T BTG 81 TS W ISTYE
Tg iy &S Hidl wean 81 s dem B @1
THR 2, T8 U e fEY @ om: W PR #wd wwa
FET WX T 21 39 fet % fi g § o fl 1w
Ay BT 8 N g% i & Rfem efiv et @ st
TS €7 BT ¢ 3% B2 el Tsh et a4 81

32.

The secondary storage devices can only store
data but they cannot perform............

Ty GTETT SUERUT el TRT WU W

(a) Arithmetic operations/3{e7fUTdd TR=Te

(b) Logic operations/difdhe aftarer

(¢) Fetch operations/% aft=mer

(d) All options are correct/&¥t foheq w&l &1
Ans. (d) : 5= TIEUT SUHWT H Auxiliary Storage
Divice ff ®@1 ST 81 g FFRL HN 9FT AL Tl 2|
TR HT H I § Sl ST 81 AT IS hAA

29. In June 2017, which of the following countries

have signed a protocol of co-operation in the
field of archive?/S 2017 ¥, f=foafaa o &
fer Qoit 3 ANTHENIR & &5 | WA & oy
Teh WIEIehicT UX g&aTer T &7

(a) India and Israel/9Rd 9T SSES

(b) India and Portugal/¥Rd e ‘ﬁ"ﬂa

gR=Te, e qRETeH 8T S Hehd & |
33.

In the modern periodic table metals, metalloids
and non metals are found in which block?

JMEIfeh TTad ARV | T, SUUTG qAT AT
TR setter W U ST £7

(a) s-Block/ s- sciish
(c) d-block/ d- sl

(b) p-block/ p- =ish
(d) f-block/ f- safeh
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Ans. (b) : 3YfTH Tad § HISH ToFAl F MR W
Tl bl TR WUET A seffeh § frefew b w21 % @ -
s,p,d, fls-df6 § a7 | q91 2 & dcd, p =Aib § i
13 § 18 & T 379fq o1g, Iu€g o 3747, d- scAih §
it 3 F 12 % A A9 f - i B AEE 3R
Ufeeres el S W1 T R

34.

Cinnabar is ore of which of the following?

Freaferfiaa # ¥ faamam feraenT areres 372

(a) Magnesiurn/ﬁ'”ﬂﬁ]’al"-'l

(b) Aluminium/TefHfram

(c) Mercury/d9r1

(d) Tron/dral
Ans. (c) : TN (Hg) & fFas fyeaw off #&d 81 39
] A 80 21 T FFfd H FeuwdE H g WA wid
SR # U ST @1 IO G 3h RHaR 21 e
ha 9 T THEICT o €, S BW b a9 W 59
Faen ¥ Ul S g1 I Oge & fAedd @®
AT R T & T g1 4.12 Hfead g W gHR
Sfeer I @ ST 2
35.

In which of the following mirror size of image
formed is always equal to the size of

object?/ﬁl'l:l'%@?f T | &I § g § gfeferssr
T ATHI FHIN foal o ATHR o WA il &7
(a) Convex mirror/3qe YT

(b) Concave mirror/3fadel gYuT

(¢) Plane mirror/SHdet ggur
(d) Both convex and concave mirror

IS YT qAT 3TEqA YT L

Ans. (¢) : THIA U, HF (Glass) F TAM AL H
forept TE F TH To R Tl u1g S U} A 9
F AY Fh qA 3P IR R AT B AT Hh
ST ST @1 ST W Ol S 39 9N 9§ ehdm @
3 TEfdd T AT 8| HHAS qUuT H Sffen 1 SHR
THIN T & SN o HEA BT 81 S SYAIN A,
a‘gw?{sﬁ (Kaleidoscope) T TREST (Persicope)Eﬂﬁ q
e < 2|

36.

Mass of a hydrogen atom is how many time the

mass of an electron?/Tsh FFGISH UTHTY[ T

TATH Teh FaEH oh FAWH @ TehaT T ..

Fre §7
(a) 1000 (b) 8000
(c) 1837 (d) 5000

Ans. (c) : T FESISH WA F T TFH SFH &
THAH & 1837 TAT BT 81 AW € % gRgeH %
T ST @1 THH WA I 1 9 TRHW] 9 1.008

BT 21 3§ SECERof 1 yg9 d o hed 21 3@
TR § fah e dem iR TR % e fuh s
To B 81 A8 TH W UE A @ o =geia @
HYE BT 21 SEUE A GAlReh Wem § Iued e
BTESISH & 2

37.

Which of the following are Febrics that may
contain polyester?/f=faiad & & &= @

HUSE U UTAITEET &Y TehaT &2

L. Polycot/atfeex

II. Polywool/“ﬁﬁﬂél\ﬁ

III. Terrycot/é'ﬁiﬁl'?

(a) Only I and I1/3aa 1 T 11

(b) Only I and I1I/Fae 1 @9 111

(¢) Only II and III/3a< 11 @@ 11

(d) AT, I and ITI/ I, IT @ 111 9+t
Ans. (d) : TR TF ageligd Gver® @M 21 39
Tfvee & & fu a gEgifd T8 (-OH) Ih Hed
iRl i rfufRar, q FEiFEd T (-COOH) &
Fifiehl o Y HAA S 2| SHH AHA WEY T
U (-COO) ol 81 39 JhR uTa Aifres (X9 & 3
TR 9E B ¢ 1 SHfTT 39 Uiy #Ed ¥ 5 W %
HUg, qiedl, od gonfE aR W g1 uifereey, diferget
we 2qFie HUS § GATRT & FehdT 2|
38. Which of the following term does NOT

represent electrical power in circuit?

frafafea § 9 == @ g foga oRug &

Tarera oive =t st Tt sea?
(a) 'R (b) IR?
(c) VI (d) V¥R

Ans. (b) : TR 370 IURw TH A= B T TS
fored foem om0 warfeq & dgd S @ IwEN fafe
TR % B S H BT ST wh, faga uRyY e @

St f6 g0 S ® f6- P = VI
ST 1- 91, R -y, V- fava, p-faga wifte
Afh 37 o o & SFER- V = IR
THIHTT (2) HT AF TH § W W

V2
P=—o

a9 G (2) H AF (3) § W W(I =%) (4

V2

a9 9 g, gm- [P = o

St faeed (b) IR? & 8T 21
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39. A positively charged particle projected towards

west is deflected towards north by a magnetic
field. What is the direction of magnetic field?

Ufyem st AR FAfUa @ig e wur feret
Ak & R 3Tt A faraifera & wmar 7
<ot @ i fae o 82

(a) toward south/afRoT &t 3R

(b) toward east/gd & 31

(c) downward/3TeEEt

(d) upward/3URAE!
Ans. (d) : 995 % IR R F T8 & o Rt I
a1 JF wEed W FE T A 8, qIHT & Heard
21| Jahig & H SI A SHe (T) & 81 3% ufvem
F1 3N TRl FE aAaf B et gEE & g W
IR faSfT & S & @ gesig e @ faen sufg
(Upward) il
40. Which of the following is NOT positively

charged?/frafeafaa o @ & emmafdE & &2

(a) Alpha particle/3Tc%T HUT

(b) Proton/ei=

(¢) Helium nucleus/gifeTa® A1fys

(d) Electron/3aa
Ans. (d) : SO & TN IS, 9OET F 5 H T
off | Solaei Teh FOTARI el HUT § qU1 A F A
F I AR e el = Aol Famel § "9 Hed
@A 21 geae W 1.6x107"° FHor F1 RO AE E
2| 98 U Rl g HUT @1 SEih SeEE, W Td

BT o e g 8id © |
41. Which is a water soluble Vitamin?/a&= HT
feretftm & @ germfier &2

(a) Vitamin A/faeTfi= A

(b) Vitamin C/fa2if#a C

(¢) Vitamin D/f&e1fi= D

(d) Vitamin K/feeifi= K
Ans. (b) : FRIMA-C wd fRIfE-B Frocisq o
Toeiicr 21 wefh feifiE- A, D, E, K @1 § sereie
2l v f5 faafm-c (wes whs) & oo
gever gt off s FH Y @l A I & S R
7€ @e ol § Y@ &9 § U@ S @ 99- A, g,
e 3|
42.

Match the items given in column (A) with those
in column (B)./&¥ () ® o3 & vIsdl o1 W
(@) & 1 e St

Colume/Ti¥ -A Colume/%i¥ -B

I. Frog/Ageh 1. Skin /eer=it

I1. Leaves/afaat 2. Stomata/I&T

1. Earthworm/an_graﬂ 3. Lungs and skin
[RTRE qAT =T

(a) 1-3, 11-2, T1I-1

(b) I-1, 11-2, 1113

(¢) 1-3, II-1, I11-2

(d) 1-2, 1I-1, 113
Ans.(a):mﬁwmwwmﬁmél qief
i o # sufted Wi g vawd g 21 SEfh e
AU T F SR VI A TR e @ it gHd
HBST 1 TG gl 81 37 fFheq (a) T 21
43.

How many number of chambers are there in
human heart?/W9a @I W Hal i G
ferert greft &2
(a) Two/d
(b) Three/d
(c) Four/aR
(d) Five/dr=
Ans. () : T4 g&d H Fell # 4@ 4 B 21 S TH-
TR ¥ R 3N e @ 81 Sl & B (3v) B
Td T B 21§ A= (auricle) 8T ST 81 31feA=
q Bld 2- e Il wd o s stferal &% A A
fre-amt e @ e 3 21 e e aun
3gH 49 F fom F A9 fox @ g R =
fierd % (Atrio-Vintricular Valve) &d 21 3 Hue
et et Y S e &
44. Which of the following is NOT present in a

matured stomata?/Ueh a9%h &1 § fAfaiad

o ¥ i 1 Sufkerd T g 82

(a) Plasmodesma/Siagead

(b) Chloroplast/gRaeas

(c) Cell wall/=if¥rr fafa

(d) Vacuole/Rfmet
Ans. (a) : T (Stomata) T&F &9 ¥ Tl i ufeai &
a4l (Epidermis) T U S A g 21 T 9u
T # gRacta® (Chloroplast), Sy fAfT (Cellwall)
3N RRFHT (Vacuole) 3uRed 814 &1 T¥ (Stomata) &
T F A0 § FESEIHFRE (CO,) FUT HEAT
3R SffS (0,) Feprer @ srafa A6l &1 3eM-seH
EXCIN

45.

What is/are the cause(s) of arise hypermetropia?
el 3y S 1/ & T HWOT §/E?
(a) Excessive curvature of the eye lens.

AT A I shar &1 3(H BT
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(b) Elongation of the eye ball.
TICTR BT A BT

(c) Focal length of the eye lens is too long.

AT g & By gt S Sfes g
(d) No option is correct/®IE foeheq T& & 81

Ans. (¢) : 33-‘3’@ EL| (Hypermetropia) shl 10T T
F U=l P ashaT HH & ST 7 Y ST wiehd g
e & I 1 -3 AT B GET RO A T
e & ff9 @ g & FA & T A T F WA A\
Y BT & 1 2| ST 7 % 39 A9 ¥ g 9 5N
T H P H aee @ W fEE @ R, W T #
aqt Wy 98 el @ €1 o5 W B QR F
IIC W T IYAN R ST B |

46.

Antibiotics are useful for which type of
infections?/fFT VR & Wermuwr & feru
Tamifeen Avee gl &2
(a) Only bacteria/Fae Sfaro]
(b) Only virus/&aa fammo]
(c) Both bacteria and virus/GﬂaTﬂl adan fa"SITUl EEl
(d) Neither bacteria nor virus

T @ Sfaroy 7 & e
Ans. (a) : Soifgs a1 WA # G StaRE
Za3il’ (Antimicrobial Drugs) & 9™ & o ST ST 21
F U zad g @ S Sfnged, wew Tur Sersie 5N
I WepHu’ # fufehewr & fw s & S @1 3
Tard = d 39 S|l B AP F A @ A1 3G faeg §
AT S B S 21 GRS s ' d P
QIS g A FHHAW §F F yFTenen § fawia s
21 ©e B T Al g S Sesttest # Uffede 21
St Ueel ¥ TRIeEEd 7 EeE SR ToresveR
waAfdT F forar o
47.

Which one of the following is NOT responsible
for water shortage?/fF=fafiaa & @ == @1

Heh WA ol hAT o foTq SoRarElt =& 87

(a) Rapid growth of industries/3famfiwor & gfg

(b) Increasing population/sdl SHHEAT

(¢) Forestation/d=xrqur

(d) Mismanagment of water resources

STl HHTEAT B FHE

Ans. (¢) : 99 TH fAf¥=d @y § s & Wi I
T § 3 & S & A @ T A | e
% PHRUT IGHT ITANT AT & e &1 A A Rafy 5 H
JE M ey I A T (A 2 T L o
dAerfieor # gfg, S SHEen, S gueEl &5
FAE | SR A H FA F T Al oA A g §
TEE B 2|

48. Which gas is major contributor to greenhouse

effect?/a Ht T gRaTe woma o Worw STfireh
ARG Tt &7
(a) Carbon dioxide/®a SIS
(b) Chloroflurocarbon/FARIFAIHIET
(c) Sulphur dioxide/TcH ETEFIES
(d) Nitrogen dioxide/ T3S SEHTFIEE
Ans. (a) : 3Rd T J99 & U e 19 2 —@eqeE
FFEE (CO,) FAR-FARGEA (CFC), feq, ameg
AEe oMfl I N gt ¥ uRfa fafeor F w9
Irafeld T Bl S argEvee ¥ o § ekl 2, fgeh
RV IAS % G aHe # gy @l 21 eRa e
e H ged o AMEH F a9 FEken
AR 2|
49. Which of the following is NOT a major
problem in development of resources?
frefafiaa & @ = @1 g & faem §
T Twe T &7
(a) Depletion of resources for satisfying the
greed of few individuals.
F® Afhal /% ATCT=IaY HEEHl F BH|
(b) Accumulation of resources in few hands.
T SAfEdl & g9 § dHeE & 999
(c) An equitable distribution of resources.
e ST GHS § ARSI S an |
(d) Indiscriminate exploitation of resources.
BRI IR L]
Ans.(c):WﬁWWaﬂﬁm
SAEAvTHAS B QU B F GH B S AT § I
fSTeehr SUANT i & g s Suosy €, S enfde
&Y § g9y 3R TEplas &9 § 91 2, GO et
2| HETeE % foeg § gor wRer 3 (1) 39 el %
A WA BB (2) P AveAl b owd |
el 1 S (3) HEEE vy e
50. Which of the following is NOT man made
ecosystem?/fr=feiaea # & s @1 wHe i
uTfRfRerferent dsr & §2
(a) Orchards/3am
(b) Home aquarium/=¢] AR
(c) Botanical gardens/a&dfd-32m
(d) Grassland/=T® &1 M
Ans. (d) : T T STEEIHAT H T3, JTU-HISH,
I, AHE!, WY T T ANIAF IS BT SAE I
A IR F & T Wfae gateer § giea
H-aad HET ©dl 21 hoaewy 94 uRRefyes @
fomfor gar 8, fRred =7 ofes oo @@ 21 U@
uRRefess @ i ama fa aRRufs @ #ed 21 396
IEE & I9AN, el FOAR, aT-3gaE I
Seifeh 919 &1 AeM ipfess wRfefie @ 21
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Civil Engineering

Time : 3-15 pm]

[Exam Date : 22 January, 2018

1. Income and Expenditure Account is EIE! RESSARERIN) FH A TH TS 2 ELJC]
................ /3T EI?I cecsceceees m%? @ﬁm Wru’r&rﬂ'ﬁ am q?[ STIYROT T gﬁq’r{-{q
(a) Property Account/HIfy <t fepam 21 3 1999 & 3= 9RA ™ § off FEfA e
(b) Personal Account/3afths @ T e
(© Non.nnal Accountém-ail'q il 4. Which of the following is not a part of the non-
(d) Capital Account/ s T plan expenditure of central government?

Ans : (¢) 70 &Y ¥ dH YR F @RI N YA -3 F DI hg TR &I - TSHT S5 6T 77 TE &2

fore fpar S @1 & &- (1) =R W (Personal account) (a) Interest payment/TST T

(2) IS @A (Real Account) (3) 3NE-FHF W (b) Grants to states/TsA1 Bl TEH

(Nominal Account)| 3{F-g o (Nominal account), (c) elect.riﬁcation/ WW T g

o, @ 3 THYE ¥ G 81 35 Sl o - A, (d) _subsidy/ st

W’ﬁ’m’maﬁ(m’mmm| Ans : (¢) 95 TEAES U Hhdd Yo =F Sl ASHNT

2. Commodity or product differentiation is found
in which market?/d%] AT 3T fave fem
SIS § UTe STar 82

(a) Perfect competition Market/‘{”'f i STeIR

(b) Monopoly Market/ TSR SR

9 3R I-FAeHNT =59 # fqaeh fhan w3 81 =g
=T % Al A 8- A, S Fa, s
TRIAT, YT Hard | S ST o9 F o ST
HT IS S T TGN b TN J&9i &t At
¥ fore € T wer R & SR, T, fe,
ﬁﬂg{ﬁw firE, are fesn anfe )

(¢) Imperfect Competition Market
a7quf feat IR
(d) No option is correct/=g ¥t fahed T 78 21
ns : () 3TqUl Sfrfiar aR ol wfeeifier @ gof
THRHR & sl & " @ aem Refd g1 gl
SffEr & S # e Fgd e @ e I T

The percentage of decadal growth of
population of India during 2001-2011 as per
census 2011 is ...ccceeveenneenens /2011 I ST &
AW 2001-2011 o IR § AR hi FTAEEAT
ghg & e e ot

(a) 15.89 (b) 17.64

(c) 19.21 (d) 21.54

@ e gmey dd &) afes 39 owwm H aggei #

farsdisreoT 2 @ g awqett & qed of T e W TH

T B 2

3. the economist who for the first time
scientifically determined National Income in

India is /URA ® Ugell 9 AFT-e
adter W THR 3T S UET R AT TAITEt

Ans : (b) 2011 & SUET % SFIER 2001-2011 &
TYH § ARG I SHEEN g W 17.7% 91 2011 H
ST % SER GRG B pel SHEE 121.09 FE 2|
fSom $a@ ®9 sHEE & 9favd (51.73%) 9 Fd
Hfga SHEET H1 S (48.27%) g1 9RA H fefmgum
1000 &St W 943 ARETE §1 I H TGS TAA 382
=feh ufer et foredt. @1 Fieheaw faeped (b) @@l 21

................. e

(a) Jagdish Bhagwati/STalST STadl

(b) V.K.R.V.Rao/d. & . &R . 1@
(c) Kaushik Basu/ I ERS

(d) Manmohan Singh/ e fife

6.

The concept of Constitution first originated in
which of the following countries?

HhouAT 1 IgWd wagew frmfefea § @
ferm 2ot o gam?

(a) Ttaly/gealt (b) China/H

(¢) Britain/freT (d) France/%¥

Ans : (b) 9T § o R a9e ads § W o1 &

T FA At e feEs SRl G gl @

(V.K.R.V Rao) &1

= TN T TR s I e e 2 3R
FIFT SR # SHEIE % I S S @ R
THR 4 a8 2000 H 3¢ ‘UoH fapEer ¥ wEl
fFar o= ol 9 oredfere F e H 1998 H

Ans : (c) SEUH fRT 391 F ToMIGS e & 98 9
grar FreiRe o 8, Fes sl S ST ifta B &)
i ) Gehea & 359 g 1215 3. § BT § g
oI & Fh GfuT 0 A A § i R S &-fead
GfuH e sfefed 9| ffed dfgm o 3w 8- 9,
sfieferan, e onfy| Sf sfefad dfgem ol 3w @
A, s, =S|
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7. The Parliament has been given power to make
laws ragarding citizenship under which article
of the Constitution of India?/ wierem=

& foFT TJe8T & d8d WHE Wl ARGl &

HeET W I I ST SRR Je= fehar e &2

(a) Article 5/3T=% 5

(b) Article 7/3T=% 7

(c) Article 9/37=% 9

(d) Article 11/37%3% 11
Ans : (d) AT TEEE & 92 § 8% 5-11 % §
TRSA F Fow # Iqse 5 T § IgRe-11 & dea
TOg F AMREA & Fag § HMA a4 F AHR &=
fover T 21 srefa due AReAr % Il 3R gwifd &
qn ArRed ¥ Gafed o ot fawel & dew # S
S FhAl 21 9RA H GEWMM &Ael # g ThHd
AR Sl UG HIAT B |
8. Which one of the following cannot be the

ground for proclamation of Emergencg under
the Constitution of India?

W UH AR Gfqens & Sfaiid Surdehter

SETUT <Y TR & & Tehell &7

(a) War/3s

(b) Armed rebellion/d3T& fasie

(c) External aggression/dT&l 3TshHUT

(d) Internal disturbance/3TidReh 3TeTifc
Ans : (d) TR HfEgH % 9M-18 F 2R 352 ¥ 360
T MU 3uay 3feetfad 2 dfeem & &9 TR &
AUTHTE! HT FU fHaT T 2 (1) 319-352 F Ted IS,
IR SHAUT 3N WY K &SRO UEE 3O el
(2) 3356 & ded TsAl § Wb o7 H e &
FWOT TPAFT TMEA (3) 3F-360 & Tdod 9Rd A e
I S19aT U % R RifUa faxia smardeTe |
Safsh SR ST & STER TSGR i =HTOT AL
T F ST T 4490 WU HIEA 1978 F W
HIRE T F TUH W TG A58 Tk B WA
fFar 1978 ¥ 7@ oTIRe AT & TER W MW
T St EOTT foRAT ST @M
9. The 100th amendment in Indian Constitution

provides wfaam w1 100t

LN

(a) Protection of livelihood and regulation of
street vending/ ST &1 TRem 3R Hlarel &
faferzm
Acquiring of territories by India and transfer
of certain territories to Bangladesh/¥Rd ST
& I M FAT IR TR ¥ pw &E H
BT AT
Emoluments, Allowances and Privileges to

the Governors/TSIUTAl & URgfHeh, Wi 3
faor srferepm

Reorganisation of  state

Pradesh/ 375 Yo% & YIS

(b)

(c)

of Andhra

(d)

Ans : (b) YRAT Efa€ &1 1009 H9ME 2015, HaEm
& o g # el e 8, fgh qed araRy §
Iy 111 9Rd o & Rl =t sireer & 9
SR T4 9RA o 9. S, 7%, AU @ gee § a9
51 Fireeett o & ffeRl 1 9Ra it o S e
fashed (b) T W 2

10. Which one of the following is not a
constitutional body? /fr=fafga W & w=-|T

wfgentaen T & &2

(a) The Election Commission of India
A o fatas

The Finance Commission/fm 3Tt
The Official Language Commission
ST

The National Commission for Women

Tty Afgar s

(b)
(c)

(d)

|| Fme avfa dfagm § e w2 Saufe feE d-

Ans : (d) a9 %@ (Constitutional body) 3 e

ar AT, [AWMT AN, WA & s
TRTCRATI{eTh, TR & WerATaard Ud Heltawd, Tod
TRITeERHI, STY(ad S o UL ST, ST St
& fou wfte e sEfs afE wfger emam 1992 H
T3 wd wifafies e 2|

11.  Which Buddhist scripture describes about 16
Mahajanapadas? |t aaT 16
TETSIUS! ohT SooE hidl &7

(a) Digha Nikaya/a® 4

(b) Sutta Pitaka /gd 4

(c) Anguttara Nikaya/3T xR 47
(d) Vinaya Pitaka/foma fies

Ans : (¢) 5 T TR 964 | 16 TSIl F1 3ocig
focmr 81 SofF g9 fes § 95 F 9d o= # P
(ST ) aftfd & agr aig o & STRY GyEe @
foafies § fu o Pl % 99 w6 AR S
el STER-fER, fem Sda 1 st fes | sig
areifres RrgTi &1 auf 81 78 TR % ®9 F 21

12.  The Chinese Pilgrim who visited India in_the

early 6th century was /St vTaTsdl o
JEIATE H ORA ol a0 W A ATt it
et ........ a

(a) Hiuen Tsang/éﬂ?ﬂ"‘[

(b) Fa-hien/®iga™

(c) Sung Yun/HT I

(d) I-tsing/sfed

Ans : (c) B3 TARE FH yEAT H 518 & H A fid
It YA AR SR A1l 56 St WfedAH, T
fgdar faspmfeer & #e1 (375-415 3.) § 9RA 37T
Safh gATHT gHaE F WA HA (606-47) § IR
37| Sfed T Widdt S & 3 § qRA ST o)
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13. Which one of the following was the capital of

the sultanate during the reign of Iltutmish?
& IR § Hoa-d ol TUsrerr

/gt

frrafeafaa o @ -t oft?

(a) Agra/3TI (b) Lahore/ @R

(©) Badaun/ai']'{ (d) Delhi/feeet
Ans : (d) SEAE (12101236 E.) = Tead s Toem
ARK F W R e a@ | Toqd@e T gead F 95
FYG SR 39 1234-35 € F fyeren & & yehEaw
fomg AffaT qo1 oo & Wl % iU & o2l 3 A
R | 3o faghl W ehare 1 AW e # W
Y& a9 TEferR s & are s gt frEr @ am
foel W 3ifehd HEmET| Tomd g7 & & Heaqul faeh
I FT TR AR A H S I T AR R

14. The ideas of non-coperation movement during

freedom struggle did not envisage on
TS i TRehed=T o ..., JIieT T2 em

(a) the bycott of civil services/TIMHhH Tareit
ElREAn

the bycott of freign goods/félégﬁ Tarelt &
IR

Common riots (violence)/3H & (fg=m)

the surrender of British titles/fsIfeer IuTfert
N IR

(b)

(©)
(d)

Ans : (¢) 3TFGATT ST=Ia e S §RT 1 3WTE 1920
AR foFa T 39 o ¥ FEiEE & & W@ 9w o
o we AT HrEiwd o g el ue et
T ATl STQTCHdl I TATOAT, TEGYAAT HN I adl
ferg- e wehdT, WREl F TR SR HAR g TH
THNES FEAHT o, gk i wemEs garew &
afgspr, faasht Tamsit & afeser, fofewr swfear &
qRemT e 1| Sefss 3 & wreimA § wnfaer @ e

15. Who among the following participated in the

Salt Satyagarha of Gandhiji?/fr=iferiaa & &
ferer Tieftsft o Toes deamre & am feran?

(a) Sarojini Naidu/SURH 1.

(b) Rajkumari Amrit Kaur/Wlﬂ 3|d HR

(c) Kamladevi Chattopadhyaya/av'qa'léﬁff

(d) All options are correct/q4t féhed wEl 21

Ans : (d) TR TE T 12 A 1930 . F 9 78 T
T4 STl & WY WeRAdl SMYH (3TEHIEE) § F0Er
(e e, o) W IRes R T 6 et 1930 €
F UL oAy T Y TG SR TS B AIST TH
TS TR/ AT YA i IR fRer e S 3
FUARE TEUEAE F WOy | Ot ¥ ff 9
R § 9N O S el TSPAN 3TYT FR, TS
g TE FHCRA FEaeAE J ff 39 ofred Hoom
feram

16. Which among the following is not the result of

underground water action? )
I AT T T et foRa ot aiene @ §7?
(a) Fiords/farg

(b) Sink holes/fi% &t

(¢) Stalactite/ SARTEE

(d) Stalagmite/SReTHES

Ans : (a) I S T 98 379, S 9f g 9Rg v S
21 At ST e 21 it S fear g
wapaal 8- % @ (Ao, F<U A W,

LolREe, WoMEe, $Hay @Y, 3= =@, Iarrn
et |
17. In which of the following countries the Great

Victorian Desert is located? fea
29T H N faeiian weeere fierm 32

(a) South Africa/ZfRI0T 3THhicH

(b) South America/aRI0T 3R

(¢) Australia/3Teferar

(d) China/=H

ns : (c) ML fava &1 99 BT q9 G599 A

SEE A WY 21 9% sl Mo # fud ¢ ud

T T 3k A § e oA 81 eTeeferen # Rew
|

18.  Which of the following is a typical feature of

river erosion in youthful stage? /JaTa®AT ?E?r

(a) Gorge/ﬂﬁ

(b) Cut-bank/hIT-8<T T

(c) Ox-bow lake/TGR

(d) Natural Levee/Jhfcish dead

Ans : (a) AT 9 FamERm wEAE &d § dwEq
AEA W Ml wE gHwl "Ry VSR & ad
formfor et 81 fopeg ST 91 FSR B € T W S wed
gl Wt forees a1 urvd did Bl o 8id @, TS @
formfor et 21

19.  Which of the following Indian state does not

share boundary with Myanmar? /frfatad o
W fore awdi v = dur =i & vy T8
Tt &2

(a) Assam/3qH

(b) Manipur/HfOTqX

(c) Nagaland/ EIUICE

(d) Arunachal Pradesh/31&0Tacl EEN

ns : (a) BER # W G AH g ARGE T 8-
ST W_Y, ATMevE, AUTR, fASRH| S&fh sy
SRy S i F et war 21 areRyr & g g
wel g T 2 9 S, AueE, AU s
foemR |
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20. Bhavanisagar Dam or Lower Bhavani Dam, is
located in which state?/WaT-IANR e or
AR wart aier ferm o A e 872
(a) Tripura/Brqy (b) Bihar/fER
(c) Tamil Nadu/dfHerg (d) Telangana/%fc"l"‘THT
Ans : (¢) TAFENR aY a1 IR war iy aferrg &
e e & erafied g1 9 9o A6 W erafed g1 o=
TeAUt Y §- TgFH A B H URIAR TG W, FE
RS R & i T W e 21
21. Which of the following is a scheme of
Government of India for providing vonline
connection of LPG? /ARd Ak T 3ATHATSH
TSt g e & O frefafaa o @
wA-T ¥?
(a) SAHAJ/S&S
(b) SARAL/E
(c) BHIM/+H
(d) DIGI DHAN/fSS &=
Ans : (a) IRA THR FRT AR Tt HaRM J&H
F 87 30 T 2015 FI TeST G2 H IRH foham |
22.

Which one of the following schemes is aimed at
all-round development of adolescent girls in the
age group of 11-18 years and making them self-

24.  Which of the following countries will host the

Commonwealth Games in 20182 /f=fefaa #

H HF-9T 2018 W TTHISA Tl st WS

HA?

(a) Sri Lanka,/ #fcien

(b) Indonesia/SUSHRTAT

(c) Australia/?ﬂvT@W

(d) Britain/fs2a

Ans : (¢) a8 2018 ¥ 219 UpHvSA Woll & SMENH

sffeforr & “Mies Fie’ # o SR Saf af 2022 #

2049 qpvSS Tell &1 AN B & affem # fer mm

25. In December 2017, who won the World Rapid
Chess Championship Title 2017 held in
Riyadh, Saudi Arabia? /fa@s¥ 2017 |, fue,

edl e ® orditva fave g v

SftoafyTa Raamer 2017 =t fera Sfar?

(a) Magnus Carlsen/HT8 e

(b) Viswanathan Anand/fa¥eHTeH 3=

(¢) Vladimir Fedoseev/safEHI harga

(d) Tan Nepomniachtchi/3aM =ufar
Ans : (b) R 2017, Rome, 9t owa § s o
it ¥ fova e woisr Aftwafm & faae 9ma &
forgamy eE 3 S

reliant? o @ forT ST &1 3e9 |26 “Gandhi in champaran” is written by.......... /
11-18 & 3ng-art a feiRat w1 waftior “arieft BT TR e g feret 8 2
Tarerma &t 3R 3= snrenfaredt s=mET 87 (a) Arundhati Roy/3fesfy T
(a) RGSEAG (b) IGMSY (b) Fatima Bhutto/ ST ‘ﬂ?
(c) NMEW (d) RMK (¢) Dinanath Gopal Tendulkar
s : (a) TSTE TME RRY GYRRIHOT ASH- Heel EEERRIECIGEGER
(Rajiv  Gandhi Scheme For Empowerment of (d) Harper Lee/gTda oft
Adolescent Girls- RGSEAG) %% TR R 2010 # s @ (¢) T 3 GURT TEr T WA dge
TRA T ot 39 A % T@d 11-18 a¥ g A A ||| gy fordt W 2
ereifRell o1 affor b e 3R 3= 3 PR M1 21 || 27, Whho among the following has received Arjuna

23. Bharatnet Project is related to which of the
following? / e frafafaa o @
forear waifer &2
(a) free wifi to students in rural area

arfor &t & faenffE & o faryess arg-wE
(b) High speed internet to farmers

fau eEwe fete

(c) Broadband connectivity to gram panchayats
A Y= & fou stede
(d) A project connecting rural area with urban
area/THI0T &1 1 RY &F 9 Sied arelt
RITRIEE
Ans : (¢) YR I URANHT & 32YF <9 A et Im
U (S 2.5 Rg AW U=l @ 100mbps S
sigds HAfRMA STd= & 81 Seat@a & & wia
sfifiche WIgsR Jeasdh (NOFN) & & 36 9Rd =<
URANST % AW § ST S 2| 39 9RAS B gfeda
Hied sifseriiem B’ (USOF) g1 ot ifti fobarm 1 w1 21

Award in August 20172 /f=faiaa § & fra

3T 2017 W 3TN YR UTw TRl 772

(a) Harmanpreet Kaur/gtH=dd B

(b) Sardar Singh/¥ER g

(¢) Bhupender Singh/ ‘{&E‘( f&g

(d) P.A.Raphel/®. T, Thet

s : (a) 3T 2017 § @ 17 faarrsal & oA

TSR g fFar mn fem aRdm Afeer et
TSI FR o et o

28. Which of the following is the 14™ Intangible
Cultural Heritage from India to be listed in
UNESCO?s list of Intangible Cultural Heritage
of Humanity?/ﬁlﬂﬁﬂﬁaﬁ T | i AT A

3 ¥ FATR! Wt WHGAT i U WIRITH
forre gt & wftafea & 78 awa & SR W
TAEHRT Y 14-7 3T Tiwepfan e &2

(a) Ramlila/Twetiem (b) Mudiyett/‘jf?{a"dr
(c) Kumbh Mela/3F Hell(d) Sankirtana/Hahtda
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T 3EY 9RG | BRgR, SoREE, IS Ug Args §
RIS B aret ‘Fa wer @i ot wnfre far

29. The Union Finance Ministry’s Revenue
Department has imposed a five year anti-
dumping duty on Sodium nitrite imports from
which of the following country?

s faw W & e fawm S

Ans : (¢) 4-9 @R 2017 & wea S, 3R FRkar #(|33. Which of the following is slaked lime?
T A o W PR A g &g s foreferfiad & & g3 go o = | E?
afafa 1 12af 99 ST gaml & 2017 H "eaar A (a) Ca(OH), (b) CaO

o i BREd g § 33 79 aE F e e (c) CaCo; (d) CaCl,

Ans : (a) HHIH FELIFMEE (Ca (OH),) H T3 I &
F&d 81 T8 HewaAT AFUES (Ca0) H I F fbam 51
S 81 39 UF A eTeM W gREn A 9w @ 21 39
Sl 1 FAN QAR W ThE B § fhA S 21 5k
Fete, di< vy onfy s § foFar S @1 9y
A HH H H off fowan gsgiadEe & gam A

frafafaa o @ fera 9T @ Hifsaw AEfee &

S 21

AT W 5 Ul o fore -2 o @ &2
(a) Japan/STHTd
(b) China/==
(c) United States of America/Sqwh T TG
(d) Russia/®9
Ans : (b) T o e & Torg g9 3 99 @
Hifeam ArRee & AT W 5 ant & fau w-SfiT gow
T 2|

34. Among the following respiration is which type
of process? I ¥ va@ s
STRIfsRaT AT Teh YehT &7
(a) Exothermic process only/ Ha AT
(b) Endothermic process only/ el FEATIMS
(c) Both exothermic and endothermic
e ’
(d) Neither exothermic nor endothermic

T A TG T & AT

30. Which neighbouring country of India
celebrates its Independence Day on March

267 /9 T ShiMl AT TSIET 9T 26 WL
AT TIT feard 7T &7

(a) Bangladesh/sTTelR¥T (b)  Pakistan/ e
(c) Nepal/dret (d) Sri Lanka/ieieht

Ans : (a) 3 IRfpd 9 = sffa @t @,
FSES (Exothermic reaction) fEHard wgamd 21
gt =g AR (Combustion reaction) A&
Afufpard 21 vaua s SR Rk @ s 5w
e & A el Ic9A B 81 Hewqul & v

31. Which of the following is NOT an operating

system? /TAfeRad § & a9 AT Teh SATRFET
Rreen =t &7

(a) Unix/Ffd

(b) Ubuntu/39]

(c) MS-DOS/THTE-SH

(d) MS-Excel/THUH-TFA

ns : (a) NG & TSIl < ATARY 26 T BN G FYCTT O SR S5 2
AT g AT & S TRhEE 14 o ud i 35. In Modern Periodic Table, while moving left to
4 & 2 e Y right across a period, the metallic
character........... /Mg omMad  WRuft #,

foredt oad W WE W T WM W anfeeh
TT&IUM....oceneneene |

(a) increases/dedl 2

(b) decreases/®dl 2

(c) remain same/¥HI L&l J

(d) first increases then decreases

Tt edl @ R sear @

ns : (d) SRET frew w feq diweam 8, s
Frge ey % geae Ay, S9- 30, SEE qo
TIe- 3M8eye feamey # =aftum & 81 SR
s, g T8 WHeam & 99 §g H FE B 2|
eqrq%féﬁﬁw%mw% I, 39, TAUH S,
% ol T, faee-10, o dw afwwy2 el

32. Instructions to computer are given through...

T Y T K

Ans : (b) 3YfF oTad Tl & SR AN T &
IH YR NAd-FTEH % SER Al % Hifs IR
T -, 39 TI] AR h SEd Bo ald
g1 g oM groflt # el stad # 9 ¥ W@ S
R wiftas 0T Hed & q91 ST 0T 9% 9 § | e
2 f omad gRoft # qot i e dRedl # emEd e
S 2

(a) cinput unit/3MYE I(E(b) ALU/TTAY
(c) Printer/fiieX (d) Pen drive/dT SIEEl

Ans:(a)wﬁﬁ%ﬁwwmﬁﬁaﬁél

36.

How many moles are present in 36 gm of
water? /36 U Wl T fehe WieT Sufkerd gid &2
(@) 1 (b) 2

(c) 4 (d 8

T Y T FFEY 3 W WM & STET HE w
2| qe fEary & SaR & A, WeY, S,
A, Aee T, IR-HE FeT, W 7R

Ans : (b) FIa7 ot garef & WAV, STU] AT A W
fof¥er e i =k Sl 8| Hiet Ush SI 9ef $hE 21 S
qarel S WET I A BT 2
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e’ A=
Hiel A 18 19 & 3:-
=365 e

18
TG YHR 36 AMH Sl § 2 HidT 3uRed 81 21
37.

(S&l, S/ (H,0)

In which mirror, image formed is virtual, erect
and point sized? /fHT Tdur W yferferar e,

Hieft T foig & wew ot o=t §7?

(a) Plane/¥Hdct

(b) Convex/3d

(c) Concave/3ddd

(d) No option is correct/®IE faeheq T& & 21
Ans : (b) S el 90 &1 Wads T8 39T @ 8,
3T 3T U7 kel ST 21 3H STUHRr gy (Diverging
MiHOt)ﬁWW%W%W@mWW
F T 81 et aqur # R awg 1 wfafe weg ador
F d® 39% ¥9 7 BHY & 74, I 9 B, o1 wd
My ST 8| e @ fh gHeRl SUANT gh-mreihl Al
Ot § Ao & ol 9geyil <9ur (Rear-View

Mirror) % &9 # fohar T 21
38.  Which of the following affects the resistance of
the wire? T ¥ %A A &
W YOS ST 87
(a) Resistivity/ﬂﬁﬁw
(b) Length of wire/aR &I TaTg
(c) Area of cross section of wire/dR ED SIREN]
FE H GTFA
(d) All options are correct/q fahed Tl €
Ans : (d) F5E gard =1 a7 U fSEe FROT 98 ") %
YaE § Sy I el 8, WY dear g1 fRd
s F gy e am @ el e @ wrers
Yfogehdl, Aed H daE W, AAH b TR FE
&thel T T TTeieh % g W 37 ot fehed @l 2
39. Which of the following statements are
CORRECT? /fr=fafad ® & wiH-91 ®ead
A 2?

I. Force applied on the conductor depends on
magnitude of current./<cleh UX EEl

farera amr & uftwmor w¥ fAeft e g

II. Force applied on the conductor depends on
magnitude of magnetic field strength./<cTeh

T RIS Teehid Q1 TN o URHTIT WX
Foraft o €1

III. Force applied on the conductor depends on
the direction of current./=cTeh T et
foregra e & feom o fyeft weam €1

(a) OnlyIand]Il

(b) Only I and III

(c) Only II and IIT

(d) All are correct/T+ T&T g1

Ans : (a) TAH R JARMT 9 faegd o701 wd g &7
gmed & A | A w81 e § % e aaref
Y Y HN AT WeAd § & S ¢, % [T e
Seia faereq, siar @1 IRR e

40. The direction of heat flow between two bod
depends on which of the following?/ﬁ |3185I€i;

& " ST o yaTe o feen frefefed § @
form ¥ foreft et &7

(a) Their specific heat/37a! fAf¥TE 3wAT X

(b) Their latent heat/3et T HPAT |

(¢c) Their temperatures/m [SISHRSEY

(d) Their area of contact/3eh T3 % A R

Ans : (¢c) T TH SHR B FHoli g, gy f&afkm &
Tuifed & & GEaT B g1 & R % He S %
YaTE & R Ik g W R F 81 S 3=9 a9 ¥
ot |19 &Y ) B 21 eades @ % 3=v a9 ¥ f= A

S I % YA § AT g FT AT IR G S
21 g srEE i S Gqo el S R
41. Which disease is coused by deficiency of
Vitamin A? A S & | I |
B 2

(a) Beri-Beri/a8-58  (b) Night blindness/Tdreft

(c) Rickets/S@I T (d) Pellagra/ I
Ans : (b) feifim - %t ¥ g4 At I
(1) B, (gmaw) - s
(2) A ({fesren) - e
(3) D (FedithlieT) - @ I
(4) Bs (FeRifefass 31=t) - Uomm
42. Air enters the bod of cockroaches
through........... ] %—T ) 1 ISR
R Wa9T il
(a) Iungs/HHE! (b) gills/Frar
(c) spiracles/¥ard i (d) skin/@=T
Ans : (c) faorast (FiH) &1 awfaes AW IRwH §
T A SNATGIET Y & S 21 36 IR H A v
g0 AW R g1 FeUdT § Scas S adEh
AfereeTd Bt €1 il % ged H el ) G 13 a
21 3O drafad A ger wfR R @ e

S 21 T8 Th TR AR T i &1

43.  Which of the following carry the blood from all
parts of body back to the heart?

AT I F gt arit | F ST d% o
ST 87

(a) Arteries/gH{TaT (b) Veins/RrE

(c) White Blood Cells/¥ad T it

(d) Platelets/<lecieq

Ans : (b) ST affEr vR % fafm s @ fR
THHT B 72 § WA 8, 3% R e &1 s
(Veins) & FH=Ia: 3198 SRR o7l € fhg U@
¥ ys R BwSl § 729 # IR @' 2|
Ffefal geg T BRR #1 wR F At ami |

& 8

;ﬁi%

A 8, 3= gmiEt (Arteries) Fed 21
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44. Which of the following is an example of

unicellular organism? o))

Teh- IRt Sia AT Serewur 87

I. Euglena /7T

II. Amoeba /3THi&T

I11. Paramecium /Ui tdTae

(a) Only I and II/&ae 1 @ 11

(b) Only I and I1I/3ae 1T T 11T

(¢) Only II and ITI/%ae 11 9T 11T

(d) All option are correct/ T foheq wEt @

ns : (d) 9 TSRS & S WA ¥ Wa e

THHIREHE 2 71 T S g F JUH S 9 9 2l
H el ¥ e R deurdl, wemdi A A g}
gl 21 el vage fban foeeor g B 1 39 e
(THHIRTT) & ISR 3~ ordfien, Freiar, ddferm
ey S|

45. Which of the following controls the size of
pupil in human eye? T 9 H A
T A | YAt oh TR ohl =E hiam 87
(a) Cornea/if4aT
(b) Tris/ R
(¢) Aqueous humour/ =g
(d) Retina/3® Tea

Ans : (b) FHa1 & diF I8 s unesf waf & 21

50 aRaRe®T (Iris) Fod 21 IRARH F 78 § TH B
o fox @@ 2, 9 sf@ & gl (Pupil) F&d 2
qRafeT, 3@ g0 T fd T s # AT F SER
qTell &% R &1 fEfE FT 21 S s & A
Ay 8 @ e fage S @ Safs wF v § qae
et ST 21

46.

Which of the following disease is generally
caused by viruses? /fifeIiad # & i @1 I

W= feramaped grr grar §72

(a) Dengue fever/@"‘lﬁ@'{

(b) Typhoid/3TT ST

(¢c) Cholera/&s

(d) Tuberculosis/&TaT
Ans : (a) fomTU] U8 39F FW EH A T & ST A"
aReT ER ==, ARG N BT W@, e A
SN Uiferdl, W AR N TS, wad asd g’
diq SR oMfE | SEfh TEwiEe (31 oY), & A agr &

SfaTe] gRT & ATt I 8

47. Which of the following diseases are NOT
caused by smog? o | i G W

gu | & e 72

(a) Rickets/g@m I (Rehew)

(b) Throat cancer/Tel &1 H&

(c) Skin cancer/dl I HE

(d) Breathing problem/Ya& Hadl THE

Ans : (a) T & HE, @€ H HO TH YIHT T
uEl & BN et & SEfh g I (Rhew) st
foeifm D° & = ¥ e ¢ Sd sfeat, oo, a=ieh

3 SE-AG & Sl 2

48.  Which of the following gas is the second most

abundant gas volume

atmosphere"/ﬁfﬂﬁ’iﬁgﬁ 'ﬁ T @ ﬂ'{T
TIHTSA W AT F AN O T TR
T et i #?

(a) Nitrogen/?@a:f

(b) Ozone/3TIIA

(c) Oxygen/3TFESH

(d) Carbon dioxide/®TE S FEES

ns : (c) 9 F AR AR F W g T H fawna
U] FGAVSA FEAMl &1 agHved H YW 6
ST % STIAN L HH & ARSI 78.8%, IS
20.95%, 3 0.93%, FdT SEHFES 0.03% 81 37
fased (c) wet 21

49. With respect to humans, why is carbon

monoxide a pollutant"/TFl'Eﬁ o Heier ﬁ EacE)
THIATFATES Ygueh Tt §7

(a) It reacts with nitrogen dixide

Tg RSO SRS H qY iUfHaT S 2
It reacts with sulphur dixide

T% TeH SESATFIEE & WY Al A
It reacts with haemoglobin/ag EArelifed &
fopam et @

It makes nervous system inactive/J@ TfIehl

i @ T o 7

(b)
(©)

(d)

Ans : (¢) FET AT ATFES (CO) TN gar T 9ift, 5
¥ goreia, el @ GRA 81 98 AMe & we-ay
3 WoTEt % U ST gieRe 81 39 oF =i 9 o
Fed 2 I VA & Wew ¥ VR F e W H
Ife SHNaead i SedoT 984 AT F fepa FA
X AW 2, 9% BROT g 7% & T &1 wme §
A AHI-3TFRE H A & T § Iufked dEraifaE
T fopan S F emar e 3 TR T 10 A
3feh Beft 2

50.  Oil spills is seen in which ecosystem?

et R fera ariifterferant &1 W @T ST 87
(a) Desert ecosystem/HEEIed qIRffen o
(b) Grassland ecosystem/JarT TRfafdet o
(c) Forest ecosystem/a UiRfEfaat @

(d) Marine ecosystem/STeitd TR o

Ans : (d) 7o faE seia aRRafdes & § @ S 2
T oMl # gde a1 Re@ & FRor 98 &9 |
SRS KRG L ARl e e A i o)
(@) Shg G- Foe onft W S 21 e @ 5 9
qiftefaet o # Sta-faferemr gaffus amn # o Sl #
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CPWD/CWC/MES

Civil Engineering

Time : 10-15 am]

[Exam Date : 23 January, 2018

1. By what name is the BRICS bank presently
known?/fger® & @l adu ® fReg AW |
AT AT 82
(a) BRICS Development Bank/fsierd ferpra s
(b) Afro-Asia Development Bank

. P
(¢) New Development Bank/=] Saeiqiie s
(d) No option is correct/®I$ foheq T& T2t &

Ans. (c) : 559 5% F ad9q # ‘< IS oF &

qH Y S S @1 S & wietds # ey 23

fororr foreR Te, 2014 § st s &6 fvfa foran

TN 39 S 1 geerd v (99) § 31 eae @

forery g &1 uiw Sl gt srdferamansit @1 e

IO TS 39 -0, §F, 9, =, IR0 ST

2. What does parallel economy mean?

HHHTAR STLTTEAT ST T AT &7

(a) Black Money/ahTell &+

(b) Parallel Business/HHMI SATIR

(c) Illgeal Economy/?ﬂa‘a sreferae

(d) No option is correct/®I$ foheq T&l T2t &

Ans. (a) : GAFTR Seeqae &1 qcqd ‘wem o 2|

srferaRer H Prel o & SAET T IV H TF GHARR

Fforaer g @ St @ e Teee @ e

S A& B g1 Frene qf srderesr &

oM AT 7 S/ T 1 U§ GDP ¥ Gl et

P T STHAT FX I GFA & S & IR STeferar

F T TR T B 21 gwe Afa i § s

T 37 U

3. ‘Who implements monetary policy in India?
O ® Hifyen ifer S o] war &7
(a) NITI Aayog/ife s
(b) RBI/“f fisid o
(¢) Ministry of Finance/fa Harera
(d) Parliament/&¥<

Ans. (b) : 9T RSd S & w@mgar 1 3 1935 &

g1 S 1949 F R e o 1 UFiEw

T T g & 2 (1) wifks iy s ud any

FE1 (2) foelt g1 1 w6eH HEN (3) TRA TWER

ST 3 ARA % 3T Abi F AP F &I F FE BT

(4) T G H g #@ FERA F (5) IS

FT R 3T AFTEET HET T wREeT F A q

T R ST TE BT

4. The ARDC is a branch of the NABARD. What

is the full form of ARDC?/ ARDC HTaTS eht

Tk 9T 81 ARDC T U0 €9 T &7

(a) Agricultural Research and Development
Corporation/Hf¥ STHE 3 fawr fm

(b) Agriculture and River  Development
Cooperation/&f¥ 3R & faebrg Fgam

(c) Agricultural Reform and Development
Cooperation/F G 3R fawm Team

(d) Agriculture Refinance and Development

Corporation/3f¥ qAfe 37 faspr fom

Ans. (d) : TETE F M@ ARDC & IUF A9 F fad
AR foeprE o 21 ey @ f AW & s 12
T 1982 I W off| s wdE Rerd d6 7 P
g & foru meamafy o dufafy fEw o1 Suesy
T % fore a9 1963 | F e iR fawm frm it
AT F ot | AETE & O & s1e RBI 3 ARDC &
Hd AT W SFaka H A

5. Which of the following is a part of machinery

that settles industrial disputes?

Frefefae # & i @1 woftdt o Tk e §
it efrenfires faamel et FrerT st 82

(a) Labour Court/sTd i

(b) Industrial Tribunal/ Hreifien @VEIH

(c) Work Committee/&d |fafa

(d) All options are correct./g4 fasheq T&t g

Ans. (d) : Tl foae siufram, 1947 & sria
i H faere Jspgm wd FEmor yonferat & SR @ 8-
(1) denferes sonferat (2) W gonferat| derfies somed
Fid B (1) ®d gfEfE () gge SffEr (3)
AIETT JOMA- (a) 51 HIE, (b) Nl Toger,
(c) T fesma (4) Pl wome- (a) smeamlt sm
giufd, (b) IR 9| g, (c) e wfufd ) e
e T | fohew W 2

6. In which year Nagaland was created as

separate state?/feh® AT ARTAE T TR T
HETH AT =T AT?

(a) 1961
(c) 1963

(b) 1962
(d) 1964
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Ans. (c) : US9 Wd (ed a¥) — AMEIUES (1963)
ST (1953), FEE (1960), TS (1960), gRAT
(1966), fA=a w9 (1971), Hemerd (1972), AT,
B (1972), fafFem (1975), fosim (1987), s
FRATE TH FREVS (2000), T (2014) 1

7.

Which one of the following is responsible for
the preparation and presentation of Union

Budget?/f=feifiaa & & T Ha soie ol

Fardt @iyl % o Rier §7

(a) Department of Economic Affairs

anfYfes A & fasm

(b) Department of Revenue/TSTed faemT

(c) Department of Expenditure/s4 femT

(d) No option is correct/®I$ foheq T& T2t &
Ans. (a) : {0 Fera # g faam 2- (1) e A
% faum (2) =23 faum (3) ToE faum (4) fafrew
foum (5) forftar Qamd| F=ia s dAR H 3R SH
T9e & T A H qd1 TPU I A T
TR T HF WA gE % e F AU aee TR
F T A A AHA % T 2|
8.

Who presided over the inaugural meeting of
the Constituent Assembly of India?/¥Rd )
HITTT |UT &l Uil oSk ht LT Teha
=t oft?

(a) Dr Rajendra Prasad/sl. ToI= J4IS

(b) Dr Sachchidanand Sinha/l. GfeaaHg =1

(¢c) B R Ambedkar/sit 31X G EECT

(d) Sardar Patel/S%ER w©od

Ans. (b) : YT ! GRAEE T9 F w99 9% 9 fER,
1946 & g1 %9 H & A7 3 T & g@9H aRe
e gl Gfeaare fawal &l 99 1 STl evee
T TN FEE AR 11 R 1946 F . T TR
I wE A, gl S wHT: GRS g st iR
I A AT W AMTA T H G H G
Tereshr g fohan |

9.

Which of the following was not adopted from
the Maurya Dynasty in the emblem of
Government of India?

O TR & et § fr=fefaa 8§ @ @9
Tt 9T | ru=ran & W ar?

(a) SatyamevaJ ayate/Wﬁaf S

(b) Bull/diE

(¢) Horse/areT

(d) Four Lions/¥R IR

qgt % weg § 3wl gl el § w2 R @i ek
TS die R T SR T uer 81w % A T
Saq ST € S qresmfme ¥ foRm mr g1 e
fehed (a) TR ST 21

10.

The first session of Constituent Assembly of
India was held in which of the following

cities?/TRA ohi WG HAT T Ugem o

freferiaa & @ fre wre & gam ar?

(a) Bombay/as (b) Madras/HsT9

(¢) Culcutta/FHererdr (d) Delhi/feeet
Ans. (d) : 9 RRER 1946 E. H Gfaem g & yaw
do% ¢ facelt Rom FRERE 9= % TEHed g9 #
| R el stemy Wieaa< f4we1 & aemn T
oaT| wed € o diew wwr & 3ifaw dgw 24 SHed
1950 §. &I gdt| 3t o7 dfaym w1 & 30 = W=

YEIE BT AR BT JoH AU T T R

11.  Which of the following is the best example of
Vijaynager Art?/frefafga & @ &= @
foSEr TR el T T STEST e §7
(a) Ajanta/3TSidr (b) Hampi/gdt

(c) Puri/gd (d) Sanchi/gr=it
Ans. (b) : FERTETR el &1 T 31 3T g 2|
T faSE R gmsg & qoEE off | 98 TR 3T @E
HETH A B AN F FHALH ToT § e g TR faew
fortraa Tl &t g & wnferet 21 eamed @ el ek
TR AHE A 9 A 1336 3. H IR wme &
T # ot gl § fRem e Fenst § ww 2-
fereqrer Hieex, g T, faorer Ay, g5 I9 AT 3 |
12. Taxila was capital of which among the 16
Mahajanpadas?/16 WESHUar o & femaent
TSTTT qeIvTer efi?
(a) Kosala/®I¥rel
(c) Vajji/afsst

(b) Kuru/3%%
(d) Gandhara/T¥R

Ans. (d) : S5 T (R 5@ § 16 TeoATE H
Seoig firerr |

TETSHUE - REBIE)

(1) HreTe - SfTeretty STteA

(2) 3% - T

(3) afsst - fodg W& faeren

(4) TER - [N

13.  Who was founder of Mughal Empire in India?

O ® QI WU <hl HEATUS i 17
(a) Babur/dsX (b) Humayun/ @TI'{_L

(c) Akbar/3fheX (d) Jahangir/SEIiR

Ans. (a) : NG &1 T A6 997 F IMES S 5
R o g w9 3 3P 81 IR T 7@ fw 26
S 1950 @ RN gEH =R fig (IW) & o
T F AR Gz Fh o83 8, Frgd e e 7@

Ans. (a) : RT § TG WEST F HEOE TR A
1526 3. § & off g@R 9 TEA¥IH Feaq & WIU
g 7T P ‘TGN =fo o ar| amex 3wy |

e fafr & u A amEEn Y OCE-T-ew e
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el ST 1| e o1 39 SARHANT el S ¢ e A
HUA AR TR H had i qRem TS
Fa, faeel, Ao, oA TE g UsE 9o @ e
Todl — Barg e fRSETR # Seore AT 7

14.

Where did Vasco da Gama arrive in India in
1498?2/aTeht €t TTAT 1498 T YR ¥ gt (e or?
(a) Madras/HgT™ (b) Calcutta/Hetehal
(¢) Calicut/aTefise (d) Bombay/s@g

Ans. (c) : FoH QAUAST q9T T AR AR arehifeTET
‘FgA G AWH [N U¥ YSEE H e §
1498 . & Fhe (YRA) F GUK ¢ W |
A 4 9Rd § FeiiE & UK § 60 T
e @ FHEn, fNEE o agie SRl & oof
Siceee fiel| SR % S’ 9Rd o At g6y
TS I UST ST et (15008) o

15.

According to the treaty of Srirangapattanam,
which of the following was ceded to the

British?/sffougurs - &t €@ & MWW,

Frafefaa & @ forar farfeer =r wiw feam o an?

(a) Mysore/Tq (b) Hampi/3wdt

(c) Kannur/&L (d) Malabar/HTeTsI
Ans. (d) : Y oo R TS F 9T 1792 F g
Tha omd AR gE § AY # Wem gl ukom
WEY 3 R A & 7 off Grogw 6 g Sy
# v F SR Y F A A T A R
3% TeATEl &1 3 o113 % ded ATeER & ffew
F Gy e w1 e @ 6 g dws 3 g
o i drer Fer 2
16.

By what name is the Ganga known in
Bangladesh?/SITeTR9T § T <A1 ATH o7 37
(a) Padma/T=n (b) Ganga/Tm

(¢) Damodar/aHIeR (d) Meghna/SeT
Ans. (a) : T 94 T ST TGS & IAHENT et
¥ g % fe T RuE & gam &1 T A @ e
YN STehAET ol WARel awaAnT § W R T
fomfor et @1 T ARG TS STRavs, WA,
foer, sREvs ud ufem e # yared @t 81 T
oy 31fieh o TR SQY H @1 T Avenser ged &
W Y IS T, S B S v & g
FeT ST 7

17.

Which of the following are not kharif crops?
TTH | I 91 T T TE 87

(a) Maize and Rice/Heh1 3T =rae

(b) Arhar and Soyabean/3T@l 3R =T

(¢) Wheat and Barley/Tg it st

(d) Ragi and Groundnut/Tft 31 TT"«‘)T’ﬂ

Ans.(c):@ﬁmaﬁwﬁ%e’a@m%— Hefhl,
T, <iferan, foer enfz 21

Tft wt wEEl % SeTeNuT §- TE, S, W, WX, WE,
T, AW, FYE, TR, TH, aHE, O S|

ara: faeed (c) wd 7 21
18.

How many seismic stations are required to
locate the epicenter of an earthquake?/SJ&U o
T T UAT A o fT feRam et ReEt
Ht IETAHRAT et 272

(a) 3 (b) 4

(© 5 (d) 6

Ans. (a) : Y HRAE °ed B A TH AHH
T 2, R e % ot a1 qael W g H B
2 99 ©F W 3 30 €1 8, 39 3T &= (Focus)
Fed 81 39 ITM e & 3% FW YA F g W
feord T # 3RFHS (Epicentre) F&d | 39 YHT &
F5 a1 HFE F U@ A F A 3 dt RyHi
ST B & |

19.

Madhya Pradesh shares its border with how

many States?/TeT WIT feha= Tl & @I

a1ut HiHT |rEAT L €2

(a) 5 (b) 4

(c) 6 (d 3
Ans. (a) : .9, 5 TSAl 3., TG, R0, HENY W&
TG & WY O o Wi HaT 21 LAEe § %
HY. H TSI FE-ICTE, TSehid G- R, TSH
wef- qEUS 1 T8l fMM e wewn wem 230 &,
ARG HeeT F&1 29 Td ToqEHl 9e&7 §eT-11 1

20. Palghat joins which of the following
states?/urerae frafafaa & @ fom o=t =t

Tererar &2

(a) Goaand Maharashtra/TeT 3 HelIg

(b) Karala and Karnataka/3%el 3% shice

(¢) Tamil Nadu and Karala/AfeTg i

(d) Mizoram and Manipur/fisiRe 3t TR
Ans. (¢) : TR HAMR U SEHAE TRIEl F wed
feort 21 7% ufyerdt we oot 1wk X &, S A
e § Siedr @1 39 & ¥ sl -He-srwEe-
@ 1 3 e o e &

21.

Which of the following authorities regulates
NPS?/fre ¥ | wadiew &1 fafame s oar 82
(a) IRDA/STEARET  (b) PFRDA/HUHSRET
(c) CAG/Zrsit (d) SEBI/Tst

Ans. (b) : {99 e F nla 3 are YT HiY
fomTe T8 e MRS (PFRDA) T% U9 e 2
el e e o Yy te & fafEme g
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FEEE T G H Tl o, WA G I A
3 3G9 S NSHRAE Wl H TeH & Rl #own
FH & faw & T 31 e Yve gorel (wadieE) &
fafererm = e 21

22.

Which of the following is a centrally sponsored
scheme to empower adolescent girls?

fervTic TTeferal sl TW9T™h oA o AT 390 @

HI U H U ST 82

(a) SAKSHAM/®&™  (b) ABLA/3%aT

(c) SABLA/Hscl (d) BBBPS/defteidieg
Ans. (¢) : HEF AR U@ a1 [GHE HAT Z TSl
e RO FeRhET AN Haer & YEsTd shed
et F T fREg W 19 FEER 2010 H FH W TGH
I 11 9 18 2 o ol fReiRel Qerh = 21
23.

Which among the following has inscribed
Kumbh Mela on the Representative List of
Intangible Cultural Heritage of Humanity?

frafafaas & § ffee OHaar & smd

Hiwghfaer foraa &t wiafatr gt & S aa

Y vITftreT feram 37

(a) WHO/Tsqu=sit

(b) UNCTAD/Ju-HETE

(c) ADB/TfyrTE e s

(d) UNESCO/T%ht
Ans. (d) : TF% 7 GG 2017 § AFEAr # e
giepfos e ot § 33799 @i @ wiEa e 2
39 9 H BRER, IoRERE, IS99 ud Afds d
SN B aret 1 Fet i o wfiver ke T 2

24. Who has been appointed as the General
Manager of Board of Control for Cricket in

India?/9Ra ¥ fohhe &S o1t el oIS &
TEYsieTe o &9 § fordt frggen feram e €2
(a) MV Sridhar/THat HieR
(b) Saba Karim/¥aT1 &{H
(¢c) Rahul Johri/Tge Sited
(d) Anurag Thakur/3TITT 31X
Ans. (b) : 9Rd H fhhe 2 3% &gl oI &
TEEE & &9 § [ IR Ghhel w0 @ Fgw
ERIRICIES
25. FIFA Word Cup 2022 will be held in which
country?/®wier fogar ww 2022 foww dor ®

26.  “The Idea of Justice” is written by..........

‘g I a1fw wiRew . ....... 51 foreht T8 1
(a) Ravindra Singh/Ife= {43
(b) Mamta Banerjee/™HaT astt
(c) Amartya Sen/3m ¥
(d) Abhinav Bindra/31f%=e fermT
Ans. (c) : T 3MEEA 3% IReq SrdvmE smed 4=
TR foret T e 2
27.

Which author has been made Companion of
Honour on December 12, 2017?/fc@@=R 12,
2017 S fRE T @ /ARGeRT T HWTET 3R
AT FATIT TTAT B2
(a) J.K. Rowling/s. &. Tfei
(b) Roald Dahl/3TeE BT
(¢) Charlotte Bronte/dTdle 5=
(d) Jane Austen/S9 ST
Ans. (a) : 12 &G 2017 & dfgsr S &, T *
FEFTEA S A T T
28. 31" Surjkund International Crafts Mela has
begun at which of the following city?/31—<‘=ﬁ
TWGhe FagE Frew den fafatea ¥ 9
forr oTex & ST gam arn?
(a) Faridabad/®{<memg
(b) Jaipur/SAR
(c) New Delhi/7E feeeft
(d) Jaisalmer/StEerat
Ans. (a) : 313 gEFre SFRIEE foreq dar 1 wad
2017 & AT F wiEER W F AR I M
Saf 2-18 FE 2018 F HeA 328 YAFUS TP
fS1eq w1 s o wigee # fhar mr e
i T ‘T TR 2
29.

ONGC Videsh has got a two year extension to
explore which country’s Oil block-128 in the

south China sea?/3NUASHHT feeer =1 gfaror
= TR § R Q9T % dd sAR-128 &
HOFAYT o T St o @t T fier 37

(a) Cambodia/Fwmifsar

(b) Vietnam/faaa=m

(c) Taiwan/drgam=

(d) Philippines/fheidi=

. , forraam & 97 &A$-128 F AW & faw & & &
(a) Russia/&9 (b) Spaln/iﬁ-"-f
o / et firem 21
© Ukrai Q@F{ (d) Qatar/®R - —130. The 5™ India-Sri Lanka joint training exercise
Ans. (d) : 2297 I et fova &7 2022 # FW A “Mitra Shakti 2017 was held in which state of
SIS BT Safs 213f Wik Geara favaswd 2018 India?/5ai WRA-gficiem @gw &= InwEm@
w9 ¥ S g TE 8af Wiw Afee Feard fava “firsr oifvw 2017 ARa & TR T ® s
&7 2019 § wiF § ST gml fera T em?
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(a) New Delhi/:l':f feeett
(b) Tamil Nadu/df#HerTg
(c) Maharashtra/FgNIg
(d) West Bengal/d9f¥= svrel
Ans. (c) : 537 IRG-HicH 96 9 T “fE-vke
2017 9RA % HENIY TF | SIS fohar 7w o
31. BIOSisa........... / BIOS Teh ............
I. non-volatile firmvare/TR-URad=tar wHaET
I1. Volatile firmware/aRad=a wHaET
II1. Software stored on a small memory chip on
motherboard/TeTaE W Tk Bt dt Aardt fora
T ATEAER ST GUEUT
(a) Only I/&ad 1
(b) Only II/Faa 11
(¢) Only I and I1I/&&e I T4 111
(d) Only IT and [11/&ae 11 91 111
Ans. (¢) : BIOS (Basic Input/Output System) Teh
TOEaR a1 FHAR 2, ST sl Hge fqew ¥E

F H g&H a9 21 BIOS He@ie W ot EEPROM

(Electrically Erasable and Programmable Read Only
Memory) fod & WR T g U TF R-URadd

w39 Fg 7 37iq 319 BIOS & 219ee @ R-se &)
T &
32.  Which of the following is TRUE?/fferiaa o
A HiF A1 "/ &7
(a) Primary memory is non-volatile
- g 2
(b) Secondary memory is volatile
T aRed e 2
(c) ROM is non- volatile memory
7 T-afed 2 2|
(d) RAM is non-volatile memory
-aRad 2t 21
Ans. (c) : Tefeh/aEad 98 & SR # a2 (1)
RAM (2) ROM | wefiss A9t qRad=ia (Volatile) T&
R-ufad-ra (non-Volatile) a1 TR B 81 SE-
RAM TRadH F1d ft & Safs ROM R-aRad-r
gt & eaed § T s AuId &1 S g2 A S
* E Y Y T FH o fHar s 21 B e,
wndt feth, AHfesd 2T M 39 [T 21 T IR
TRad-a g 21
33.

Which of the following metal remains in liquid

form at room temperature?/fA=feTRaa L)
I Ht UTg el 919 W T WY W Tt 87

(a) Cadmium/Hsfram

(b) Mercury/d9M

(¢) Germanium/SREfIT

(d) Tin/fe=

Ans. (b) : T F s et off Fed &1 39H T
A 80 TUT THH &I 310 fGHaR g1 I8 Tha 9
e wHeRTel oI €, S A (BeT) A9 O ST e #
& 21 o el % fawdd A T A eremasE @
R T & T SHH TS 234 K T MRS TS
13.6 BT &1 THHN IYAM ©IGSN & SHATH FAH F 7
RS g A SN S H I o &9 H fRa
S 2

34.

Aqua regia is a mixture of.......... /3T TS

LRGSR 1) Y <hT TorsroT gram )

(a) dilute hydrochloric acid and concentrated
nitric acid.

(b) dilute sulfurice acid and dilute hydrochloric
acidic.
T 9oHIRe o7 a1 7 SEeaaiRe 3T
(c) concentrated sulfuric acid and dilute nitric
acid./His HewgReh 37T T a7 Asfdeh o7t
(d) concentrated  hydrochloric acid and
concentrated nitric acid

g FRSIaaes 370 q9T |ig i 37
Ans. (d) : RS 45 FESIFANE 37 (HCL) 9%
TEfes 3T (HNO;) &I 3:1 & 31U # Ay 3 W
A BT 81 AE UH YA A 21 Forgd w@uf, o,
Wi Tt F0 fraria (3mpe) gt € g S 2
T I I W B F AT T A ST 2
35.

In a concave mirror if object is placed at centre
of curvature, then image will be......... e
rgder gUur ® afe farar s aehdar e W WEd
g, T I are giafer.... e, Fm

(a) virtual/3THTE

(b) erect/dren

(¢) diminished/®%T

(d) at the centre of curvature/dshd & &g | e
Ans. (d) : 361 U§ 3gdqel &9uT a1 & ggur fRel e
% FS 9N A @1 I IF A HT B GUU H Aol
F5 FEAM 21 U aqdt guur H Ay farm Bl ashar
F5 W @A 8, @ 5 Frell Sfefars awdr Fs ), HH
HHR 1 Ie2T 9 TS B

36.

What is the mass of 4 mole of aluminium
atoms?/TEITTEH o TS o 4 HieT T
FSTHT T §?

(a) 120 grams/120 I (b) 108 grams/108 I
(c) 136 grams/136 IM  (d) 140 grams/140 IH

Ans. (b) : T TS & AEn @ B fAfyew wEn |
fafge woil (WA, oMEM, TELH o) W e
Tefyid AT H TH qES 2
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= T & WAS & A 1 S

= T I FEAH S x wial @ e

= 27x4 = 108 (SEl 27 TefafTam H g He)
T Al % TAGS % 4 AT H FEEE 108 T I
37.

Which of the following particles were made to
fall on a thin gold foil by Ernest Rutherford? _
frrafafes # 9 orfe WwE 3 & ¥

! I Tt TSt TR EeRraT or?

(a) Gamma/THT (b) Beta/der

(¢) Electron/seiae  (d) Alpha/3Teht
Ans.(d):wmﬁmmﬁﬁﬁﬁﬁ
THTAT I71 T WM & SER W TEWHE A T A
Hied w&qA foha ek stria “fopelt o] o i TH
YR b BT & o e ed €1 fRedt w6
T YUl G A % Il Bl 81 gelag
e % AR S goReia westt &l w817
38.

Which of the following statement(s) is/are
TRUE?/fAfafad § & &9 91/8 &a" 9
%/%7
Fuse is generally placed in series with the
device. /TS FI WEMG: Ifth & T A0NHA
e 0
Fuse is generally placed in parallel with the
device./TS ® HHI: Ik o WY ALEHA

# gl w2

III. Fuse wire has high melting point.

TS AR I Telish 3w Bl 2

(a) Only I/&ad 1

(b) Only II/3aa I

(¢) Only I and I1I/3&a 1 @ 111

(d) Only II and I11/3&& 11 T 111
Ans. (a) : T 999 & TR ¥ g9 & fou fafm aftas
¥ W R @ 9 2 WS AR, 7 9 99 & fay
9T I T Bl T AR 3| THHT Teiish B Bl 21 59
qRuy % fohEl ush e AR & Aot W & o 34§
v ufiag § 5 R0 g/ @ 71 uH fAeifa we w
afersh &1 ST @ o e aR qied T ekt el S @
R ufuy H A @ T EE O B AR T E
ST 21
39.

IL.

A rectangular coil of copper wire is rotating in
a magnetic field. The direction of the induced

current changes once in each?/dis & AR &I
Teh AT et (et gashia & W guff
Tfer T @ 31 3 heelt § IR fage o w@r
ferom & uftad= feramr aRwrmoT & ugere e £
(a) Two revolutions/a guid

(b) One revolution/T& Fuid

(c) Half revolution/3Ten Fgﬂh

(d) One fourth revolution/Tsh =g guiq

Ans. (¢) : T & AR & TH IAHER FEl S fhdl
W%ﬁ@ﬁnﬁm@%l%ﬂg@ﬁﬁﬁﬁa
fogd e & foem & w@s omen gl (wRgHon) &
Y= UREde & & |

40. Noise is measured in which unit?/9T¥ &t fer@

FeRTS W HTUT ST 82

(a) Watt/die (b) Faraday/&?(@

(c) Pascal/drhet (d) Decibel/SHiset
Ans. (d) : 3T T dTel 91 3=F AT dTell & Pl ST
SETS A YR Fel ST ¢ | A B g q S SR
(dB) 21 o1: SR § & WK f A9y S 7
41. Which of the following vitamin helps in clotting

of blood?/fr=ifefiaa & & =i @1 o= =%

& Thed B HEEIET Shidl &2

(a) Vitamin A/f2fiE A

(b) Vitamin B/fae1fi= B

(¢) Vitamin D/f&21f#= D

(d) Citamin K/feeif®= K
Ans. (d) : R K &1 TE@tS 90 SeefEae
21 W g H Mifas A gared & frafor § 9w o
21 3Fd: I8 W T Th F Thad (SH) B HrEdr HLar
21 gHifeTy 38 ThEE-UH faee o #8d 31w 'd
TeR Wfesral, Zmrex, meft, SEEE, (R, swEl &t
ECE i i i B T
AR ff g dvanor F §
42. During heavy exercise, breathing rate in an

average adult person can increase upto...... per

minute./2TR% SFEM A & SR, Tt
A TR W IAET W yfe e a@
g Tehelt Bl
@15 ()20 (©) 25 () 30
Ans. (c) : HIE ARG Th T § a1 IR va897 HLa
2, 98 3UH YU & Heell g1 AHd duwh $ 4g
T 3 AW R THT 25 9K ¥ e 9% 9%
ohdl 8 SEfe T auh ARk & g & oraeyr §
2 & 3T 15-18 9N Bl 81
- AN I 39 I B Godihd ¥ el T R B
43.  Why is the colour of human blood red?/dT=a
TR T 1T T A1 Brar £
(a) Because of myoglobin/ATITAfSH & HRoT
(b) Because of haemoglobin/EHITaIfE & HRUT

(c) Because of immunoglobin
ST

(d) Because of heptoglobin/ZEITelIfa & HROUT

Ans. (b) : TR F @@ IR FHEE (R.B.C) |
clieae S AT ST & ford A wed 81 o
£ vl BT @ Ud W 7 ol Bl 81 3§ SRy
HEE Th 1 OT ATl BT 81 eAded @ foh vedenn #
Ao ST % HY wh UH R e
ST & S il Fed 81 sl
TR OREEROT N 39 i qb ugear €, S
ST F ST BT 2
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44. Which of the

INCORRECT?
frrefafaa § € 19 |7 ®u= 98 T8 €7

(a) Oviparous animal does not give birth to
young ones.

sfeyst® Siq famfem oy & s & &4
(b) Each sperm is a single cell.
T YT T el HITH B
(c) External fertilization takes place in frog
g | @ e g g
(d) Fertilisation is necessary even in asexual
reproduction./3Tifes S H o fEm
T 2|
Ans. (d) : § g ST 3UE 3T 2, SIS deed 2l F
forepfar forey = 5= & 39 € 9 g g ewe AW
TV S0 I Il o H 3 G@IE HI GHT AT |
= e # A =R g 8, W dew ue # e
T & S A w2, W W W Hew A9 Y
firr & 8, /@ vt &1 e @ S 2
—> Yo% Y] T Ul IV & IHH] A AT S5
TS B }1 T8 T R, fen ik g § fyafa
& 2
= reifiies S B i sravas 6 81 9 feven,
THA, AN F A, AN, GUEA, HIOSH
Yaa EH e 2

following statement is

45. What is the cause of arise of myopia?

TrreRe ¥ 9 Seast E9 hT 9T ShIUT 7
(a) Excessive curvature of the eye lens.

AR S T 1 3fers G
(b) Eye ball becomes too small
e 1 BT & S|
(c) Focal length of the eye lens becomes too long
AT S Fhg g S B
(d) Lack of sleep/ia @l &t
Ans. (a) : e 3f¥ 29 9 I 49 50 A7 F 9 A
Tt 71 W e A 8 T R g & e
F geqd T T @ 6 T W AW F 2 I 2-
(1) 79 &9 % gt & dsbal &1 Afeep 31 9D ST
BFE T B & T RN (2) T AF F W F A H
T &1 g ST Ul 77 & TS H A qg FE
46.

Which of the following multiplies very slowly
in comparison to others?/fA=feiaa T q A

TE @t g ® sga ¥ Ui whwar €7

(a) Bacteria/m (b) Vims/fa"slTUl

(c) Fungi/®a% (d) Worms/&fH
Ans. (d) : U el FEfa@US (Multiple Pission) 4
St # g A wh orafie fafr @1 wg-faven #
S S faafiea (ar fawfsm) 2 T & 9m W %S
T3 Sl # S B @1 Sy, femy wd was A
T § Y sgd R UM @ 2

47. The accumulation of non-degradable chemicals

progressively at each trophic level is

(a) biological magnification/3ife Fhgehwor
(b) chemical magnification/T8rafeh gfgeror
(c) residue magnification/3TaTs hgator
(d) No option is correct/®1g fohed Tl &l &1
Ans.(a):mqﬁ@wﬁ%wm@?@ﬁw
Tt 1 T S IREHY/SE SEET BEel 81 qE
e H @ g § UE ae § uy e § S
T Bl wets gwd @ e (9 dewn,
feamfra awqd o1 9 uiqd) & =@ § gfg S|
ST FTAT 2 |
48. Why Taj Mahal is suffering from “Marble
Cancer”?/aSgd ‘@R &EX’’ A o=
Hfga 82
(a) Because of sulphur dioxide
Tl SEHATFIEE & HROT
(b) Because of nitrogen dioxide
AELISH STEIHFALS o HRIT
(c) Because of chloroflurocarbon
& FROT
(d) Because of carbon dioxide
FE STFHTFAELE & BT
Ans. (a) : 37 A & FRU ASHEA & HITAGR FH
TeIRoT B 31 39 UREed F W FE off s
ST 21 37T aut H & GHR b YGUOT A § | FohL S
RS (SO,) TH AESISH & 3ffEs (NOx) | 9
Teh SRS HRE o Tao § "geayqul i
fomar 21 or: fahed (a) T ST B
49,

Cancer treatment is done by which of the

following noble gas?/a:THT T SUTR Ta=feriad

T ¥ o ot etfra 9 g feRan e 272

(a) Helium/gferam (b) Radon/TEH

(c) Krypton/fshe= (d) Neon/f4=14
Ans. (b) : T (xRn ) I @ie 1902 & 4 T #
9 I® T a9 31fFT TG (Noble gas) 2|
THHT ITANT WA F &7 F FH0 & el H v 21
50.

How many types of ecological pyramids are
present in ecosystem? LER:)
YRR o uTiftefaent frrfrg g €7

(a) Two/a (b) Three/d

(c) Four/=R (d) Five/ui=

Ans. (b) : T8 ot TRfafes &7 % mafis Sces @
faftra ooft & Sudipslt @ e, sfe o) qwr 9w
ol # TR TH THR F T G 21 I g S
v o &9 # fegeman e @ @ 3% wiRRafas ey
Fed 21 3 97 &Y § &4 TH5N F & 8- (1) g g
foRfrey (2) Sfaur fRfreg (3) d@fua o &1 flfied |
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[Exam Date : 23 January, 2018

1. Depreciation of fixed assets 1s an example

(a) deferred revenue expenditure/€Ifid T5 =

(b) capital expenditure/‘iTrﬂTW 22

(c) capital gain/gsiTa St

(d) revenue expenditure/TSTEd I
Ans. (b) : T8 TN =@, S ifes 9 foria aRomfat
S H "eEs 2, gt =g &t goft e @1 9
sfiid e fmfor, sy, Yo, s fas@ ot w
fFa ST o g wfEfed @ 81 U St ' 9
fpar ST 21 39 fosmEs =@ o wed @1 wrEh
oftgmftedl S9-wed, &y, FREH R @ qe
4T =19 1 e 2
2.

Which one of the following is not a feature of
monopolistic compentition?/fTeTRaa )
-t Teh Terdiwrar wentiirenr wrgl ot &l £
(a) Large number of buyers and sellers in the
market/=MAR § wlieer 3N s=-are # g€
e
(b) Differentiated products constitute the market
ferifee Searel § oI ae &
(c) Product in the market is homogeneous
EISIES ﬁ SIS TSI EﬁﬂTé
(d) Selling costs are used for sale promotion
foshar Tasq & forw fasht @l @1 wan fepan
e &
Ans. (¢) : THHFR ol IWR & 98 @eq 2, fred
et g % S R 8, g 3T 0 A ST areh
T UF TR Y e St @ S7af IR # I wEedE
T B 81 UHSR wel & faeead @ s aen
fosharsti @ sifers T, axg fawg, fosa daaq & fau
foshl ATl T S, 9 SR A aren | agh, qof
TTRieTaT 1 3THIE 3T |
3.

What is the maximum loan amount permissible
under the MUDRA Yojana?/q&T ST o
3T=er STfireher® ST HuT HiAT feRaet &7

(a) Rs. 50,000/50,000 ¥qa

(b) Rs. 1 lakh/1 &g &9

(¢) Rs. 5 lakh/5 @@ ¥93

(d) Rs. 10 lakh/10 <Rg &9

Ans. (d) : T 8T AT A IEE 8 IS 2015 FH
F T R 3 AT F ST < F ARG F ShE
N & W A (0T 3T HAT 2| T8 A TER
IUA 2- Y] A, fFeiR @ 3R 80 A4 3w Fe
& 3fid AT SR T HE 50,000 § 1000000
(39 @RE) 99 B

4.

As per a latest classification of countries by the
World Bank India now belongs to which of the

following category"ff%l'sa ELURCauRIY N
& T TffeRtuT & ITER WRA adH
ferar groft @ Heifera €2
(a) Upper-lower income country
I=g-fT T AT
(b) Lower-middle income country
f-Aem o7 aren <
(c) Middle-middle income country
T § WegW I AT 390
(d) Lower-upper income country
f-3=9 7 AT
Ans. (b) : @8 2017 # favg &% g0 g @ W &
o Fffetor & IRd N fr=-mea o A
a9 A oot F @ T 21 SeeiEAE @ 6 9wd % e
Y-SR, e, TR, ik, dice of g6 gof
i e 81

5. As per census 2011, which state had the lowest
sex ratio?/2011 @&t SFAUAT o IJER, foRe
T | feimgura wee & or?
(a) Punjab/dSTa
(b) Haryana/gfRamom
(¢) Uttar Pradesh/3TR S&9T
(d) Bihar/f®R

Ans. (b) : 2011 & SHUAT % IFER ‘zﬁqTUﬂ F
fermiara T &9 879 §1 wEhs W A
T @ HA- 1084, dMEAIS-996, -993,

BUETE-991 | Safs a9 H ﬁwfgcrra 943 @f&e/ 1000
T 2|
6. Pluralist Theory of Sovereignty emphasizes the
importance of which of the followings?/ga=t
o SgeaTet fagia # frefeiad # ford W o
feam e €2
(a) Association/&®
(b) Monarch/TsT
(c) State/Ta
(d) Government/SHR
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Ans. (a) : YO & dgaardl fgid § ¥ W aq faa
ST & M 1§ S % e 3R greivs § fedls
P g fEER P Sh AT ST 21§ STER HHIS
B o ¥ o & 8 s o wia s el

9
Taw & T FA ¢ 3T GO F T5F 3R e & weA
farfma g =nfeu

7. In which of the following countries the system
of judicial review was originated?

frafafas & @ few 2o & =nfae wfian

TUTTEAt ST S5 g3t oAT?

(a) France/$id (b) Germany/</Ht

(c) USA/JuHT (d) Britain/fses
Ans. (c) : IH TsT IRE § =l wrien yomelt &
3q9E g3 AT| ARAT I=add =Ararerd | ff =k gt
F wfth ffed 81 395 Ted 98 H= T ToF qF W W
fqemlt @ FESH e #t Hifeenfwa S B e
21 3R ARSI T 91 W 3= or-fafte, sy
3R Y T F THA ¢ TG IR WHK 5N A
T fepar ST Wb

Ans. (a) : ITB2-368 § TagH Fened et uay faa
T 3 TH% ded QYN SgAd g S Hawife geie
fF2 <1 Ghd 21 A 8- (1) TAN &1 99 A1 WA (2) A
Tt @ i ok sweh &, Siwsd ar weftm el &
i &1 9Radd (3) TeafauE uReg & fAwir a1 3went
Tl | (4) 998 TS & daq Td 91 (5) U §
T (6) AMREA # WRT wd TR (7) frata &
1 QAHEROT 31|
10.  Which officer of the Government of India has

the right to take part in the proceedings of

parliament of India even though he is not a

member?/9RA TIHR hT hIF-AT  AferehRTH

e J B gu oft vRedte due it wEiad §

T A T TRIRR e 872

(a) Vice-President/37 Tgfd

(b) Attorney General of India

R T A SAA
(c) Comptroller and Auditor General
freiae Td weTeran wiere

(d) Election Commission/ITd 3T

Ans. (b) : YRdT Hfagm % FIWE-76 ¥ 9RA

8. Under which article of the Indian Constitution
is the District Planning Commission

constituted?/ RS WAL o fohe TTWE &

et et SreET |t w1 TS Brar 87

(a) Article 243 ZD/3TI=3% 243 ZD

(b) Article 244 ZD/3T=3% 244 ZD

(c) Article 242 ZD/3T8% 242 ZD

(d) Article 243 ZE/3T =% 243 ZE
Ans. (a) : SRS TfEeM % 319 243 ZD (243 T W) F
T SO Tsd, el TR W U Sen Je afufy &
e UM S el & d=Edl U6 RARE g dar
IS I GST ST AR el T | wh fomb Femr
T WEY TR BN | I ST F ST oA Ao
offa & 4/5 9 ge= fSen guEd N TR &
fraffed we=r 50 =@ & § 94 S 9t % &
TeEl &t e et &) AT v vl e & S
7 g =R
qe— AN 7 U HET ISt ¥ 3H T @
e ¥ e T 2

9. Which kind of majority is required for
constitutional amendment in forming a new

state?/Teh 9T T o1 W Haenfer Eoiers

Rl (SIEHT SFEel) U8 &1 e & T 21
frgfs TpfT g0 S ST 21 39S FEGE S G

)

The term ‘Stupa’ is associated with which of
the following event of Gautam Buddha’s

life?/ & YT TWAH FF ok SEed

FrefeRad feae w2 @ deiferd 872

(a) Death/Jg

(b) First Sermon/JH IYSYT

(c) Birth/S=1

(d) Renunciation/Tg-=mT
Ans.(a):ﬂ@ﬁﬂ%aﬁqu@%
(3Rg3FasI) & M 9T R dU WS WM W wW
AT T | AT H Jog ¥ TeeE g1 e € fh
483 3. 9. ¥ 80 I I srawyr ¥ FEAR F I H Y
2 TR | 9 TS I alg T A wemRiveir & g9 &
T &l 29 a9 i TR § @ g4 8 @ A a

70 ‘HRIISHhATT el 73T 2 |

* feg ST oqgad =feq? 12.  Who was the last ruler of the Gupta
(a) Simple/TTEROT Dynasty?/T[e 9T T iferT Ik i or?
(b) Two-third/d-fei () Puru Gupta/TeT%
(¢) Three-fourth/d=-=terg (b) Vishnu Gupta/ferso] T
(d) Two-third plus ratification by half of all (c) Skanda Gupta/®ha Ta
states/3-f8TE T 3T AN B SFEHAA (d) Kumar Gupta/FAR e
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Ans. (b) : T a3 F Afqq ITH & A 91, S 550
g TF VA A W A ¥ W U qE o
foroy T 1 o faemr @1 T 99 F SR off T
o fbq ISTW WEW (319-335 ¥) A @ WEST &
iRl &M @ TE TH & W FW H s HEw
HET ST @1 399 TS 41 Had [ Had e

Ae— AT 7 fabed (c) F 394 TR W § Tl
a1 Sl R e 2

13.

Where was Guru Govind Singh educated and
learnt Persian?/3T& Tifar= fig &t fo1am el g2
3R IR THRET et HiEt oft?

(a) Lahore/ER

(b) Amritsar/3TgdER

(c) Patna/TeT

(d) Anandpur Sahib/ 3TFR‘E( qifgs

Ans. (d) : TefaR g St @1 o= fegeR 1666 8.
TeT # g 3 feel & awd wd S TR 71 SRR
wifea & gt e g8 wd wRe am i e et
ffig 9 1699 €. & ‘@ 4o & O i f fed
% fRg #1 TOEeR (R, F, FII, HwT W
FHTT) GRUT HA FT 3L &2

14.

Which of the following was the precursor of
Indian National Congress?/fefeiaa T &=
AR T HUT it ST de oft?
(a) Servents of India Society

gd=g 3% e gt
(b) Indian Association/3fUga TEIRITI
(¢) Indian National Union/3fteam Fvma Ifem
(d) Indian League/3fUeaq iul
Ans. (b) : ‘TS THRITRE I T 26 SR, 1876
{2 ¥ Faed F oI B TS qAT 3=
e A ¥ A A 5 A e Fe A s
T AT ST 81 Sl SUeTd i S TeAT et
§ faamr 1875 3 FIfR R =W 4 & wdved sifw
s SRRl (YA YA HH) H T 1905 § g
H TIaTer w7 MREet | @t ot
15.

During which governor general’s time was the
annexation of Sindh in British State done?/f&®
TIR SR & 9Ha ° g @ oo fafew
T o e Tan?

(a) Lord Dalhousie/dE Seraielt

(b) Lord Chelmesford/@Te =wamig

(¢) Lord Ellenborough/@f€ TersRl

(d) Lord Hastings/?[vfé'c dicae]

Ans. (¢): 1843 . # oS Taal (1842-44 ) & THA
¥ g & By o= § fromn T e @ e
el & 99 H & U i g’ I e @ o
R fer m AE A # FA PO SFHHIA A
T 1 FIeT FaT S |

16. What is the second most abundant element on
Earth’s crust?/gedt = Ta@ Juft W ()
X IUTTET TE Hol WX v o T §7

(a) Carbon/®E (b) Silicon/fafeTia
(¢) Oxygen/3fFd@ S (d) Hydrogen/TgglSH
Ans. (b) : JeAT # Fo9 FUH WA () § UG dd
AT 2~ ATRISH (46%), Rl (27.72%), Tt
(8.13%), TR (5%), Hiewad (3.63%), TETH (2.83%),
R (2.59%), FHREH (2.09%), 2 (1.41%)1
ferehed (b) @& 2|

17.

What is called a shallow stratch of river that
may be crossed on feet?/<dl T Weh ST
foream <1 Uget o M ¥ UR feRar & Wk, =T

HEATAT &7
(a) Ford/®iE (b) Atoll/T2Ta
(c) Reef/f® (d) Lagoon/dTa

Ans. (a) : BIE & H TH YA [N & S et a1 e
T IR R ST el 2

= Saf TH vara fufs s fedr € a1 SoEE er %
TN AR AUSTHR &9 § gl S 7, WA aed Sheel
2, Fifs a8 =g H AT A1 W TgW B g o 39
WA (Attol) ¥t el ST &1

18.

Which among the following is a cold-dry

wind?/fr=fafaas § ¥ &= @ tw 3T iR

Ik a1 §?

(a) Hurricane/gieh (b) Tornado/2THe!

(¢) Bora/aR (d) Cyclone/dTserA=

Ans.(c):ﬁﬂ@ﬂ%aaﬁmﬁaﬂéw

tfeafess PR % gt fFR | Fodt @ 399 ge:

sl & rieerten FfEa 8 g

— R T IWHT Thard 2| T8 Thald FcAIS
frereRrd ot Wit @ @1 e weER # 3R
TEFA Td 94 fhelde qor e & e SRR
T ST 21

= TRAST Tohaml % MHR F 3T T T B & g

T & 3PN ¥ Gaifie eIl d9 SEUS g

1 T8 G ®U ¥ Ugh TT SR § 3w B 2

The man-made reservoir Gobind Sagar located
in Bilaspur is situated in which of the following

states?/TIeTEUR STaftad WHa fAfHa S

Tfeg arr freafafaa § @ fora oo o fea &2

(a) Uttrarakhand/3T@Us

(b) Uttar Pradesh/ST J&31

(c) Punjab/dSiTel

(d) Himachal Pradesh/f@amer sewr
Ans. (d) : QR fug wma ffifa s @fe) b
IR foee wew § Rem €1 9% 9daw A9 W 9qRae
AT S g S 2

19.
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20. Which among the following rivers does not

flow from East to West?/{=feiiaa & & &iA-

24.  Which country will host the Summer Olympics

2020?/3s7 3eiforer 2020 & WSS ®HiT AT

o et gd A uf¥em i S T st 2 9T HET?
(a) Narmada/ BB (b) Tapti/arei (a) Qatar/a (b) Tokyo/ﬁazﬁ
(¢) Cauvery/sad (d) Mahi/#TEt (¢) Rome/A™ (d) Jakarta/Srebret

Ans. (¢) : FHaT, A<l 3R W A< 9@ ¥ ufEw AR
Sedl @ Sefh HAd A9 FAleh & g forel H s@fR &
e ¥ freadl @ T a9 1 @t #§ ARl 21 SEd @
SR F T N ITA T F T 7| TEEdE AR §
FEl & ok oS @ e 9 W oSa Yo a
T 2
21.

Which of the following historical monument
has been chosen as a “Swachh Bharat Icon” by
the Union Government on Novemebr 21,

2017./21 TR, 2017 st fr=fafaa & & fea
TR ol T TR ¥ ' Weg 9rd

MR’ ok ®Y | TA(=a fera?

(a) Haveli Dharampur/%a?ﬂ Hﬁgﬂ

(b) Charminar/JHHAR

(c) Amaravati/3Teadt

(d) Vishwa Bharati/fa%a 9t
Ans. (b) : 21 &R 2017 H IRGAR B T THER R
‘WWﬁ’%WﬁW@IW?%
FRHAR I ‘ 38’ = HERT 971 I8
gt ¥ o 21 T

22.

As per a recent announcement, where will
India’s first Electronic Manufacturing Cluster

(EMC) come up?/gel & ® @ T =WUT &

ITAN UNA & TAW FoIagI-eh Stharat

TR (SUNHY) Tt TATIAT haEl hi STTT?

(a) Andhra Pradesh/3T¥ BEN)

(b) Maharashtra/FgRIY

(c) Rajasthan/TsTe

(d) West Bengal/9¥=w siel
Ans. (a) : 9 & JUH IARIS
(EMC) 31 TI19AT 31 3= § & ST 21

23.  Which of the following is a multilevel global
campaign to spread awareness about

importance of girl’s education?/ﬁ?{ﬁlﬂﬁ )
e & wgd & 9N H WANTRehdl thet o foT
frefafaa # @ sgada afvasw s wiF-
ar?
(a) Girl Rising/Tel T
(b) Most Important Part of our Life:Girls
TR Sffae &1 9 37e few: aifers
(c) Save Girls: Educate Girls
(d) Education of Girls/aferehiati sl fRwen
Ans. (a) : ‘T TR efHal #t rn & wed & ar o
ST el are T dfvass S 21

FAEN

Ans. (b) : FHEEAT 3l 2020 & AT T
(ST < o a8 3240 I Helia STicifUs o1l S
AN 23 A ¥ 8 3MRA 2021 & 3TEfoM fopar
T AT 2024 T 3397 WHEGH SAcifus IRE, HiE
At Bl

25. Which of the following sportsperson is not
correctly matched with their respective
discipline?/fr=feiaa & @ ferm Raemdt =1
et 3R W & gt T 37
(a) Jitu Rai : Shooting/SlIq T : T
(b) P.V. Sindhu: Badminton/d 3. iy : Jefiiea
(c) Sakshi Malik: Boxing/dreft AfeTeh : siiferdT
(d) Deepa Karmakar: Gymnastic

a7 HER ¢ e

Ans. (¢) : @ faeret

(1) g - S T

(2) dsfife - o ot fiyef

(3) Fit - wref Afetsh

4) Ffes - 9T TR

26. “A Better India: A Better World” is written

% g

(a) Arun Jaitley/3T&0T St
(b) Aamer Hussein/37HT @:{
(c) N.R. Narayan Murthy/T. 3T, R0 {fé
(d) C.Raja Mohan/®. TST Hig
Ans. (¢) : T I e T FR F& ANF THH T,
3R, AN gfd g1 fordt m

27.

Which among the following has won the Nobel
Prize for Chemistry in October 2017?
frfefaa IS 2017 § WEA
IITET & T et Jehi Sitar &7

(a) Jacques Dubochet/Sied S

(b) Joachim Frank/Sia1f=m Sheh

(c) Richard Henderson/ e detEd

(d) All options are correct/q¥t foheq Tl 2

Ans. (d) : T 2017 ¥ TET T B AN [EBR ST
S, S e Td REe g8t & e m

28.

On birth anniversary of social reformer
Basavana how many volumes of Vachana were
released by Narendra Modi in April,

20172/31eT 2017 ®, =% Wt ¥ WA GUNER
ST sl Tt U FoFl o fehaq deehwr
it fer €72
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(a) 21 (b) 20
(c) 23 (d) 25

Ans. (c) : 39a 2017 § W&HHA TS I F g9

YR ITHAMT &l SR T q== oh 23 HEhT I e |

29. In May 2017, with which country India has
signed an agreement on Maritime Security?/ﬂ's‘
2017 ®, 9RA A fRE Q9T & W1 W G o
T T TEe R 87
(a) Sri Lanka/sfcient (b) Bangladesh/aﬁ’@ﬁﬂ
(c) Mauritius/d9MR¥™  (d) China/=F

Ans. (¢) : T 2017 ¥ 9RT A WReE & o1 9N T

% THEId R gERR 5§

30. Which neighbouring country of India measures
prosperity by gauging its citizens’ happiness
level?/STRE T @hi9 AT USIt T GYfg ol
3T ATTRERT G % T R A 872
(a) Pakistan/TfF&™  (b) Nepal/adra
(c) SriLanka/#iiil  (d) Bhutan/9e™

Ans. (d) : TRT F TS 9 G A ARB F G

F TR F Tgfg § AUl 1 eaaed @ f6 qem, =9

() 3 9Ra & & Rem 9ff o1eg (Land Lock) 39 B

31.

In which communication mode, data can be
transmitted in both directions at same

time?/fehT HOIR & Wk ® T T HORUT Ueh
TqUT § 1 fagmeh § Hwe gt 7

(a) Simplex/fitag

(b) Full duplex/qof Sgwis™

(c) Half duplex/3T¥ SIwiad
(d) Mulitplex/TeE e
Ans. (b) : FEFHIF (FIX) I @ TR F & 2-
(1) Rreaete (Simplex) — 39 3@ § ST G0 Had
TS fewm § @ @ oteiq &9 ST YA O S
g, o T H GH |
(2) 38 ST (Half Duplex) — 39 3fa€q H 2ET
Heror T feemedt & @i @ fheg v W H Uw &
ferem & HeRoT BT @1 31Ul 7w AT gEAe # U
& g § a7 @ U Gohd § A1 I L Tehd 2
(3) It Egwiad (Full Duplex)— 9 378w # 21T HeR0T
THT feemsdt § H9g g ¢ oeiq ew s & v §
TG 47 off b @ S e off X T €

The computer program that converts assembly
language to machine language is called.........

TS T G WUTH ST ST WIoT ol
T AT H TUART AT § jeveennnn.. THECATET E

(a) Complier/FHEeR  (b) Interpreter/3TTR
(c) Assembler/3T@=TR (d) Comparator/sHFET
Ans. (c) : BT 3w 9w H foRd W A AL
U1 8, F€ WE a1gA0 Gebd efq 0 3 1wty aefeh

AT BT & THSA B A HEIS T HAH S vl
AT i wIR AT H SR BT ¥ SO gl 2 |

32.

33.  Which is a base metal of amalgam alloy?

T FUSTeITg T TR &g i AT §7?

(a) Aluminium/TegHf=H

(b) Mercury/9R”I

(c) Copper/dfst

(d) Zinc/ST&
Ans. (b) : TRT €17 I T a1 3o arqst o g fHsreng
I AHCTH el WA &1 I STHCNH o SER € U
2l e @ f6 whll, Rew, A it % % =
ST I Efal § o % fow 49 fafears g
fepam ST 21
34.

Which of the following is the structure of
graphite?/fefafiaa & @ &= @ AwEe @t
HTAT 72

(a) Rigid three- dimensional/3g 3Tt

(b) Hexagonal/Seahioftar

(¢) like Football/Besier Sigt

(d) No option is correct/shs f&heq T& T8 21
Ans. (b) : THES HET H FTET 2| JHES B G
SZHUNT STelsh g (Hexagonal Lattic Layer) % w9 H
et 21 IBIge e 9 T BT G &l 81 T8 IS
1 i qArEm WeR 3 gard 81 39 wen g of FEd
21 TR WA Ufie Ut &1 Y A (lead) M H,
SIFLIS AT FEA 3Tk a9 § Td I Teh & &9 H
woft # s fohar ST 21

35.

A wooden spoon is dipped in a cup of ice

cream. Its other end will............ [eRgr &t

Tk T hl ATGHHIT & T B gara T

EUELE I R-GRUR T £ R |

(a) become cold by the process of conduction
T R o BRI ST & ST

(b) become cold by the process of convection
Hag Hfshar % T 3T & S

(c) become cold by the process of readiation
faferzor fshan gr S & smom

(d) not become cold/3eT & BT

Ans. (d) : THI F TH TG H AR AEHHH & @l §

ST SR SR @ g g e gt @ s i

TAHE A FH pAEH Sl 2

36.

Which acid is the most abundant acid found in
grapes?/3TTl H We@ WX WTAT § i 9T 7T
T AT §7

(a) Oxalic acid/sTafe o7

(b) Ascorbic acid/TEhifais 3T

(¢) Tartaric acid/eRe 3t

(d) Formic acid/®ifHe 37
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Ans. (c) : TRR& A (C4HeO4) Th FEfS AMMTH Bl
STt od el F wifas ®9 4 U S @1 a8 oWl g
Foelt & s A # forerr 2

— SIS 3 (C,0,H,) TeRTH TR SmERte

% ®7H i F T (8- w9,
ORen) | 9 S 2| ﬁwﬁﬁaﬁﬂm%@w
i & S B9 F & el ')

= UEHHS ot ol § oot sEfs 3T § S wg
Gl H urar S 21 59 faerfte 0 ot hed 2
= Fifdd I WIS A A difed § ad wgHed!
NfE % <% H AT S 2| A UGN =T W H,
WR FH #, I % w9 # fpar S 2
Thek splitting of white light into its component
colours is called............ /33T WHRTIT T IHH
et auif ¥ fAaE. ..., SHECTAT B
(a) diffraction/faad= (b) refraction/3T9ad=T
(c) dispersion/fa&IoT  (d) scattering/Sehut
Ans. (¢) : Y90 JHRI-RUT &7 379 STl T 1 FhTeT
fepeolt & ferefSre @ srebreT bt a0t T B 7 |
= TSl B RO Wt Y@ # @ @ foheg 7 TE
ge A el ety & fopd W oieT g off < @
3 3TH! BT F FAY B ST 8, TH TAT Bl TBTA
&1 fada e €
= & FIE TR BT UH qReeft wrem ¥ g grawh
o § S @ o 98 o7 Ant § faaferd & S 2
T THTYT S AU Fed &
= I vHNT R T W g W g ﬁmﬁ
3 T b I GeH HUT HieR ?
mwwﬂ%mﬁﬁwﬁmﬁw% s@w
T FehI0 et S 2
Which of the following statements are
CORRECT?/frfetfad ¥ ¥ & & %" W&l g7
I. Change in magnetic filed produces induced
current./SF®kE {F W URadd ¥ AR
T S Bt B
Flow of current in a conductor produces
magnetic filed./<MTeler W Wargd & T
AT A I et B

Magnetic filed related to coil can be
produced by motion between conductor

and coil/FUSEH W WATUA TEHT &,
TR qUT HUSET o HeT AT T ok

SHIUT &1 Hehell 2
(a) Only I and I1/&&e I 91 11
(b) Only I and I1I/3a 1 @ 111
(¢) Only II and 11I/&&e 11 9T 111
(d) All statements are correct./THl HI T ol
Ans. (d) : % AW & 9 &F fud R g o

?—»\ﬁu W FE A A &, TEHF &F FaT S
W@Hﬁqﬁaﬁ@ﬁ%mmﬁﬁélw

e F R UR e &9 3o e 2
Heift qEehra &7, aras a9 @usw%ﬁwii%sjﬁ

% T &1 Gehal B

37.

38.

II.

I11.

39.  Which gas is used as a fuel in a rocket?/J(ehe W
T & W0 ¥ o o T & SuEnT feRar Sr 87
(a) Radon/3ETH (b) Hydrogen/gTggIsH
(¢) Chlorine/srd= (d) Nitrogen/Tg2IsH

Ans. (b) : Tl & Y0NS e & ®9 § sfad gggior &
T 5T S 81 e & fF S gEger S St
ST 8, A 98 3U-3c9E % ®Y H UM T IR HLl 8
T T TH WS R TAHT F IFA 69 & ®Y §
ST S 2 | S § gty aen § Suesy o gEeier
&2
40.

Which of the following is good insulator?

Siean FHeTeAsh i
2?7

(a) Mercury/arI (b) Cadmium/Fsftram
(¢) Germanium/SH{=M (d) Glass/H=
Ans. (d) : T T fasedt § 39 ge9 Sfear $ao 2
9 (Glass) faftra ardm argeli & fafadel @1 araxff,
Al Tt fagor 21 36 T S § TE SR 98
2 T a1 HE FfEd ToEis T A S § o
firetl 39 W 9 I § fumer € 9 Wl FdNgs
foem 39 ¥ A wora ¥ gy & S 21w &
Tavgw fmfor s 7 gam anl
41.

ar

Which is the most abundant Vitamin found in
carrot?/ATSX H WaW YR WET § @A @1
TereferT ura <trar &2

(a) Vitamin A/f2fiF A

(b) Vitamin B/fae1fi= B

(c) Vitamin C/fdei®= C

(d) Vitamin D/fde1fi| D

Ans. (a) : TSR § F AAT # fyefiE cAC wm@n S 2
forifi <A &1 TEmEfs W WAt 21 T8 T et
YT Tchied & S a9 # goneid 81 Sqei & a%a
TS ST vors S Hifved § 8 R @@ 2 g
My 1 gfy s (Visual Pigments) & Hyelor # o
ST T 21 3T i F teft Ak I & S 2

42.

How the rate of absorption of water through
roots can be increased?/ﬁgff o U W A
AINIT Y ST A TG AT Tehell &2
(a) Keeping the plants in the shade
[ BT § W@
(b) Keepmg the plants in the dim light
F AT THR H @R

(c) Keeping the plants under the fan
dteft B TG % A @R

(d) Covering the plants with a polythene bag
et i gierd ¥ g

Ans. () : STSI o HEAH G ST b AN S &L el i
Tg % FY TR T S Hehdl 21 e 98 o g4l &
HNUT GtY I it o adiedsi & 98 S 2 |
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43. A spore producing plant is......... /Eﬁﬁqu IqA

A AT Ueh UTEY Sfe

(a) rose/TaE
(b) bread mould/SITIET FH FHR

(c) potato/3Te]

(d) ginger/37ets®
Ans. (b) : 5 Hieg UEY AT TIH Hah ¢,
sirsy fmior & S

Fed &1 & uted S 7@
%, g, S, ﬁmm@mﬁ@?aﬁ%
I T G B S 3§
Which chromosome is responsible for manliness
in man?/J%9 ¥ TEE & T i |1 orgst
HIAIS ST &2

%ﬂ;

44.

(b) YO
(d) XY
: Q89 3] AESd H 23 St
31 T @ 22 S @

3t 4

e
7
A N

(a) cornea/sifaT (b) iris/aRarRen

(c) pupil/Jereit (d) retina/3f¥9ea
Ans. (d) : FE 97 & A (3fPwed) W aw &
sfafswsl T 81 AFE 99 & W 9eel (Choroid) & A
T F T fR w uReEl Rt @i e
(3fruee) Fed 21 F® 3w Rweh @ dfst (Optic
Nerves) & &t @t 21 & fomnd agedt & wfafwi &
&Y, 7 3R AR H JH ARG a5 Ugar g1 Faf
W W A g WS Se A 8w S %
SER W A 1 78 dren fearft 3 2
46. Which of the following is NOT a multicellular

organism?/ffetfad ¥ @ Eaci:l Teh dg-

RIDTR Sfrar TE F7

(a) Fungi/®a% (b) Spirogyra/TIEIME

(c) Hydra/gmsgr (d) Paramecium/dfafmEa
Ans. (d) : F9%, ST T BEE TEHITHA I &
s R T mﬁ o 2 S SerseT 99 %
FAIT S & 3T Th VT Sdl F IO -
aTefa, Feel, rsHfeam o |
47.

Which disease is caused by cadmium metal

pollution?/&eftrarm arq & Fguur | A |
T 72

(c) Asthma/37em T

(d) Dermatitis/sHerEed
Ans. (b) : $eE-Ee U helEw oy & T gl 2
Tg IfeEl qo1 Sigt i adAr dEd 81 s g9
e & Al ¥ e qun Bhel 1 FE F & Gl 2|
Safes foeamr W1 U’ (Hg) & IHR H 31kt & srom
AT 81 uge ¥ BN A 3 UT B s de figm-
AELT F SAHT T T ih Fe- THAF FR B 2

48.  Which of the followm is an organic gas"
Rt 5 & e g 1 S

(a) Carbon d10x1de/ﬁ3f'vr SEATERES
(b) Carbon monoxide/HTa TAIAFZS

(¢) Ethylene dichloride/Tfaelia SEaIRES
(d) Nitrogen dioxide/ATgZISH SRHATFIEE
Ans. () : ¥ SEFANES (C,H,Cl) TF Sfdeh 19 81
THH HeiReh ST foEe FaNEe’ a9 H @ 8l
wHifeet, T R
49. Basel Protocol is related to which of the
following?/90eT Wil fr=fafaa o @
ferm@ weifera &2
(a) Ozone layer
T

(b) Burning of forests
hl STl
(c) Sea water pollution
H ST H A
(d) Trans-boundary hazardous dumping
TARATH Tt & TATROT

Ans. (d) : ST NIHie TR TARTE TSt & HHaR
WMWROT § Gaft @ Sed@dE 2 6 ad 1989 § swet
(Reesieive) # o9a A (Basil Convention) T
TEIRR fohdl T Fo1 1994 H Soet e & 9 geisRi
I fofa fauw - (1) sifm fer & foau
3UfYTE yqrgt & fafd W arekfers 9 ¥ ufiey (2) 1
Sl 1998 | TEH % forw srufere gardf % faatd w
Sfersier |
50.  Which of the following is parasitic food chain?
o | o W 4@l 87
(a) Trees —Fruits eating birds— Lice and bugs
FI »>HA TH AT Tt >3 o He
(b) Grass—Rabbit -Fox —Tiger
HqE—> AL —a=
(¢ Grass—)Grassh(gg;r—)Frwog% Snake— Hawk
HH— €81~ HGh—> HIG—s oISl
(d) Phytoplankton—Zooplankton—Fish— Hawk
q1eY Wash—> U Wash—> TScli—> dTsl
Ans. (a) : TUSHET/ TS BT ST WMHERR Sl
w2l €, T el 1 VAR aS SR h Sqai
H BIe AHR AT T A SR B §1 T TS IR B
S 9N TE B AHR ard S S @ e
ST T ET o A 2, ‘mﬁaﬁ Fea 21 3w

(a) Minamata/HI=mHTar fashedl weier @ AT H 3B -
(b) Itai-Itai/3eTE-32T8 FI —> & TH At Bt — F a9 F
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1. Which of the following is an indicator of the
financial health of a country?/%?ﬁ ¥ W= |
2T & forefiar @ o1 g §7?

(a) GDP/SiErdt

(b) Inflation Index/ﬁi{l@fﬂﬁ gahich

(¢) Wholesale Index/2s g

(d) No option is correct/®IE fohed &l &l &
Ans. (a) : TF @ 99 § TS < 3 e 99 & 9w
fafe orafy (Fmma: T af) § Safid awgel @ warel &
3o qoT H GDP a1 & S 21 GDP F fabrr o
I F F Yeu B TH Feaqel Yo B &1 TH AW F
ferfia e &1 ge o A S 2
2.

When workers move from one job to another

job is known as:............ [Sts siftreR UeR HieRdt

(a) Seasonal Unemployment/HTHet SIS

(b) Frictional Unemployment/ﬂﬁﬁw EUERI

(¢) Classical Unemployment/aita ERERIEY

(d) Voluntary Unemployement/ﬁm ERSHIE
Ans. (b) : WieeITeHes SISATA- TET AR S Th
ISR i Sreat fFft @ IR § S g, a4
ISR & e St o7afyr # 3 SUSEIR & Febar €, A1 T
2 geba1 @ 5 T St F YA % FHROT U ARk
TH TSR § et a1 fshrat Ry s & SR ISR
F TAT F T E, q G ARG Bied SR T4 ISR
U F AR # SUST A ST a1 ST
EREUIIET S
3. Who is most benefited from inflation?/TSTe®iTer

| Hol 3tferen feh@ 19T Erem 872

(a) Creditor/EuTarr

(b) Business Man/fssig a4

(c) Debtor/ft

(d) None of these/3T8 T HIE Tal
Ans. (¢) : IR (Inflation) o8 Refy & fad #ma
W # gfg @t @ q g & yed FRaT 21 e
TSI T8 STER & S a&qS & U Wl o
¥ qz1 g " #oAen § o gy @t @ el uRomm
EEY od T H Fe 9 meeet 9t @ 81 gEesifa
& 99E- (1) Foft I @9 T TR B e Bt 2|
(2) IUEH (U, IANIM, UL H AT B 8
(3) fAfyaa o= Wa & Aol IUERET q9 aaaunt ai
FY T8 HA 2

Which Committee’s recommendations are
being followed for estimating Poverty Line in

India?/9md ¥ T T & e & fog
Wi o wfufa ot fawmen @ oes R s
w1 e?

(a) Kelkar Committee/Fes TfAfa

(b) Desai Committee/3TE Gftfe

(¢) Tendulkar Committee/dgereht SfAfd

(d) Lakdawala Committee/cTshgTaretl GfHfd

Ans. (d) : 9RG ¥ T @1 F HeAT & [T AT

giufe & fawlel & weE A S @ 81 dsemEen

wHd § weld faa % e 3 ofwife aftel &

SYRET e gashich 9 AT &l W 39 IR 2 P

el % IUHIH Jod Fashich I SR S=T 11 59

THER ARSEE FHA & ded et TSA H SISt

forefen Y@ feifa o w=h &

5. When was the decimal system of currency
introduced in India?/9TRa & T i IIHAS
JUTTCA ol YT g3 oft?

(a) 1947 (b) 1952
(c) 1950 (d) 1957

Ans. (d) : G5 &I IVHET IUMH 9RG H 1957 ¥ =

# a1 1957 ® 10 99, 25 99 3R 50 99 F faws

fpdr T &1 1 e 2011 § W H 25 TH 7 THA A

T % ek JaoH § iUaie &9 9 S0 & T o

9 & o et fafy e g 50 G Ry 2

6. Who was the first woman to be nominated as

the member of Rajya Sabha?/T<Id@YT & W&

&% ®Y U T g aret ugelt uigen s oft?

(a) Rajkumari Amrit Kaur/TSigH § sma R

(b) Sucheta Kriplani/g=dl Faam
(¢c) Rukmini Devi Arundale/&feoft 4 sea
(d) Kamaladevi Chattopadhyay
T
Ans. (c) : TN & ITEVSH WAARIT H WHF AR
Jemr ff af 1952 § TSF T TS & ®9 H FAHA
B At v Afgen o) 3% a¥ 1956 § uem-omr § o
AT feham T2 o
7. Which of the following is Human Right under
Universal Declaration of Human Rights?/qm=ar
arfreRTl o Wrdsiifiren TSUT % ded A H @
I AT SAfUHR §?
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(a) Right to Education/f¥1ef1 &1 31ferpR

(b) Right to food/STIsI T SR

(c) Right to equal access to public services

s Harsll T HHH U89 1 SRHR

(d) All options are correct/T¥t faheq wdt &)
Ans. (d) : TIF TF 99 9 10 fHR 1948 & wHafEsRi
F1 Wi ST YT 1 THh deq (Ve H SR,
G F AHR qAT FASH YT 76 THA UgT B
IR T 21
8. Who was not a member of the Constituent

Assembly?/ETeTT THT ST & i TET a1?

(a) Mahatma Gandhi/®gTem et

(b) Dr Rajendra Prasad/Ef T Y91&

(¢) Sarder Patel/TER o

(d) G V Mavalankar/STt &t HIaeieht
Ans.(a):%ﬁﬁ?ﬁ?ﬂmmmﬁwﬁ%
STl TEa 1946 | HfowM G H TSA g3 ITH
fopedi # were M & i e weft dfawm 9w &
TeE 91 waed ¢ 5 dfgum g o fafe ofafaat &
JER w2A- K dfue 9l e o see- wfE
e ofifa wd Sttt mmEcs- d@fgum ww & wEf
gaieft winfa & s1emer o)
9. Which of the following describes India as a

Secular State?/3H ¥ i W ! Teh R

TSI & &Y W AT iar &7

(a) Directive Principles/feem R

(b) Preamble/S&TaT

(c) Union List/®% =it

(d) State List/Tsa Tt
Ans. (b) : T TEYE #F TEET 9IRA B TH
YAy TRy T & &9 § aftfa swl 21 e @
foh 429 wfoem demem sifafem, 1976 g0 wwarEAn §

9 T3 v THeErd, SR (S9eR) 3R sTEvsd
g ST T

10.

In India, the concept of single citizenship is
adopted from which of the following

countries?/STRA W TeheT ATTIhAT el STLRUT
frrefafaa o @ fora 291 9 3ru=mE 372
(a) Treland/3Tma%AS (b) Australia/3feferan
(c) Japan/STaE (d) England/gwets
Ans. (d) : A # THA AVREA H AU FTATS F
@ T 21 Fvs ¥ o T o RRmAd - SueE
wed, fafy @1 e, faerh ufsear, afwved o,
TR oG, H9d9 fagmifisRr i fEoams|
11.  Who was the founder of Nanda Dynasty?/5g
T(STEIT hT HEATIH hl AT7

(a) Dhana Nanda/=qHg

(b) Mahendra/Te%

(c) Mahapadma Nand/®g9d =<

(d) Gaja Nanda/TSIHg
Ans. (c) : 9 TSEY & HEAYH HRIGHAS AT U H
T e (G B A B TN TG 9 (G
TR FT 3TEAR) F T 81 6 ThUIe, 3R THesd 1
I OROT | A ¢ ARueH W W @O
feheat T I o q91 50T HiE A AR d g
A 9T Y T oot

12.

The Greek ambassador Megasthenese was in
the court of which of the following

rulers?/ITt Tgd WS TH € fRE

I o SR § o7

(a) Ashoka/3TeTis

(b) Chandragupta/<IgT

(c) Bindusara/fag8R

(d) Chanakya/=murer
Ans. (b) : T IEF Toghg et T I w0 B
S Gy & ded wRa, sweifdEn, S w@
TfEeE &7 o= Ta ® Y Td TRy S s
Tord & ® F IEW F @R F A1 eAwed §
TR S R 9Rrg gws s 2
13. The Persian translation of “Mahabharata”

done in Mughal period is known by which

name?/qTA A ¥ foham T ' wEraRa’’ @

TRt 3rgaTe foRe AT | ST S §7?

(a) Rekhta/A

(b) Risala-e-Haq Nama/RETel-T-ge =

(c) Razmnama/TSATAT

(d) Safinat-ul-Auliya/THia-3a-Siferar
Ans. (c) : 3TFR F I FA § &, THiT @ IR
HFA FfeX = FETHRA H B! THAEC & A
T fram on THE R ok & & Fa § a4
‘THE F, TS A T A GNTEd [T H, R
TR T ‘ydad # T et 7 W H TS

‘et S R H SFare fhar

14. In which year did Khudiram Bose tried to
assassinate Kingsford in Muzaffarpur?/‘@g’qﬁ!‘l’q
G F AFRYY § fREwIE i & &l Jamre
fore o ferar em?

(a) 1904 AD/1904 E.  (b) 1906 AD/1906 &.

(c) 1908 AD/1908 €. (d) 1910 AD/1910 %

Ans. (c) : 3T 1908 H shifterd GEW a9 R Tgeat
FAR 7 O # fFEEE @ g@n & oy R @
fhq a8 a9 TN Tged FAR A 4 I ¥ g9 F
fow @@ & et 7R o off | Safs gERm ag @ ReR

F 11 A 1908 FI IHFRG S § Hift 2 & 7
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15. Who was the first Indian to be elected as a

member of the British House of Commons?

[faTesT TS| 3T HIAH & TG & &0 § I

T ST UEe AR i 97

(a) SN Bose/TH TH &Y

(b) Motilal Nehru/idierer Je&

(¢) Dadabhi Naoroji/a=mrg st

(d) Mangal Pandey/H57Tet Ui
Ans. (c) : 5o g9 oife #Fw & 9e & &9 &
S AT 999 qRAE g ARl 41 eawed @ 6 g%
e olicedq i gear w1 ST 81 g4 1867 H
T gfrea TEtUE & o & e s e
‘afqdf wre sHfafew ®a 34 sfisar & @A #n
16.

Which of the following is known as ‘Island of
Pearls?/frfaiad o & s @1 ‘Ot §i0’ &
AT | ST AT 72

(a) Japan/STa= (b) Maldives/dTerara
(c) Israel/3SIEe (d) Bahrain/s&d=
Ans. (d) : 809 BRE & @E § fed @9 2w R
TU TS A 21 U WA W S e 21 @edd
3R I F T BT I § Tl F W F9 (Island
of Pearls) & 7™ @ off ST STl 21

g Safs 23%3%&&@@%%%@1@ 23% aferofy
STTY P HHL 1T el S 8| Tew ol & R T W
WISI TR X e T E
Nathpa Jhakri hydel power project is located
on which of the following rivers?/arerar E 1G]
Ster ferga uftEiern frafafaa & @ feg =
e 87
(a) Sutlej/Taqs (b) Jhelam/3eH
(c) Chenab/fAma (d) Padma/ggHT
Ans. (a) : I IS T foga oRaSE REEa wew
% fopeit et & waerst 9 W R 1 g8 aREismr R
Gy ag T e oREeERT § ¥ U 21 e ©
o Taer A€ AR 3 & e ThEdre 9 et
21 7 oy o wes A4 31 oy weEw Afar- sem
IE, T, 9 UE HAes Hosl Tee deer 2l
g YRGSl AiTe ai S Ja W gl &= T4 2 |

20. Which of the following ports is the fist port
that was developed after independence in

Gujrat State?/fAe=tafad ¥ | i G UgAT
seemE ¢ R o TS @dsar % 9
Tererfara ferar T e?

(a) Mundra/ﬁﬂ (b) Kandla/sigar

(c) Hazira/&Si (d) Bhavnagar/HETR

17.  “Oder-Neisse Line” is a boundary between
which of the following countries?/*‘ 3eT--frq

g’ feRe 3ot o fter =it e 872

(a) Israel and Philistines/gsRigel 37T fhferedi

(b) Germany and Poland/SHt 3iR dicis

(¢) China and Vietnam/9 3 fqad=m

(d) Mexico and USA/AfrehT 3 Juam
Ans. (b) : 3T I @ ST 3 dietvs & e &
qm 81 I HEequl g @ Y@ R- dedied
W- 9 T A F 7, e Eruead ud
HEMTEN % qe, TSfFa® W~ 9 3] T &
7o, FifiHie T S iR HE & me |
18.

Which imaginary line, located at zero degree
latitude, divides the earth into northern and

southern hemispheres?/¥=1 feIft arativr w
feora sim ©t wreutes [T geeft 3+l fw
feruft Tremerf § e st €2

(a) Tropic of Capricom/Het @

(b) Tropic of Cancer/®& @I

(¢) Equator/s[Hed 3@1

(d) None of these/sTH T HIE Fal

Ans. (b) : HSAT SEUTE HI WAl M F a1g a8 1950
T ToRE U9 & oo et # fomfaa fohar e o 7w
IR 9e @ U S9! I Trpfash @1 FI dued &
qREmT & Hely # I8 39 H GO T AG0ME 2

Note- 3TaER 2017 # 9@ 9 uRafdd & Eaara
e’ e T 7

21.

Which of the following states covered in
Namami Gange Programme?/SHTH T
wEm o fefafEa @ 9 RiE-u1 T
yrferer &2

(a) Uttar Pradesh/3TR S&31

(b) West Bengal/d9f¥= sirel

() Jharkhand/s@s

(d) All options are correct/q4l fahed &l g

Ans. (d) : T T OREASAT # EE WE 2015 §
T i1 g9 S F ded T A B gEE AR R e
R @3 FH F ¥ 2@ TH 3| TEIH: T H 94
TS IAEUs, 3.9, 9N, Fi@ve e u. s T A
F g H I ¢ T I8 Tod 39 A & ST W
2| SElh T H wEEe AfRE % BruT feHee w3,
Tor, giamn, ue facel & off sw Sl o €

22.  Which of the following is a centrally sponsored
Ans. (¢) : [ feat sverier @ gaeq T o @ T g scheme to empower adolescent boys?/gﬁ k)
get i & Mersl a0 T ol Mol # fafea e I G Teh FRITR STgehl s W9TTR o9 & g
21 emer € 6 0° owemet Y@ o faed @ off et S %, WTEAIRA ST 872
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(a) AKSHAY/3%& (b) SAKSHA/%e

(c) SABLA/HaeT (d) UITWALA/3ssaet
Ans. (b) : T&TT ASHT [HI ASH! I TR s & [oTT
5 TS IS B
23.  Where will be held Kumbh Mela-2018?/5%

TeAT-2018 HEl ST femam SITam?

(a) Ujjain/3sH (b) Haridwar/gRgR

(c) Nasik/a1fe (d) Allahabad/geTRreme
Ans. (*) : SARERE § $9 T a9 2019 H FRTTT g3T
o SeeiEHg @ f g 3 ad 2017 # Aear $ e
Tipfoss forad g’ # 9Rd # BRER, 3RERE, 35oH
TS e H SAEINK B At $9 A 1 IMAA R

ueif
qe— SENT A 36 U ol Toichd | STeT Y feam
2

24. Who won the World Rapid Chess
Championship  20172/fava Iug viw
ST 2017 fREa Sfrar?

(a) Vladimir Fedoseev/sEHR Hherda

(b) Vishwanathan Anand/fa¥a-Tg= 37Hg

(¢) Ju Wenjun/S 5[4

(d) Padmini Rout/9gf¥T T3d
Ans. (b) : YRA & YA gl faveTg e 7 o=
(@S oFE) ¥ Ta T fave eyl SfweEie
2017 ST 4rl

25. As per on 27 December, 2017, which Indian
Cricketer has recorded maximum sixes in

International Oneday Cricket?/27 TeEwR,

2017 o AR, TR WA fehohex 7 Sfavigia

TS TeRehe o 3tfreraw Beeh It feRT 7

(a) M S Dhoni/TH TH -t

(b) Rohit Sharma/dfed 3t

(c) Sachin Tendulkar/Hf= dgaat

(d) Sourav Ganguly/Ha e
Ans. (b) : 27 f&@=R, 2017 & sifFei & FER T
2017 ¥ Fcole Ufed w9 N T W TH
feadia 4= & qaiften b (46) MR T8 T W 8
Safh 30 TFh AN Fed WA TR WH R 7oA [
IAT A Te= [HE G 9 19 Db oM B 637 W
gifer femam

27. Who among the following has received Dhyan

Chand Award in August 2017?/fr=fafaa & &
fFEa smmE 2017 ® &9 W< YRR UTW
fepam &7
(a) Cheteshwar Pujara/%@W SIRT
(b) Sarder Singh/TER i
(c) Syed Shahid Hakim/&9g wfee g
(d) Arokia Rajiv/?ﬁﬁm LG
Ans. (¢) : T8 2017 & ©AME< R & o 8- 997
T%ﬁ%m(@aﬁﬁ), 0= e (Tgafesw), gmm 2
(BThT)
Note- &= &R fasiar & yoifd o, sfom wd uf=
ARG T TR T & P S
28.

Which of the following city has been included
in UNESCQO’s creative cities network for

contribution in music?/fFrEfaiaa & & form
vier s # A et #
TIATH ITEA o Aeaeh U Iiirer fepam e €7
(a) Chennai/=9g (b) Pune/gol

(¢) Kolkata/®I@@®a  (d) Bengaluru/s7Te[®

Ans. (a) : JTEH T IFFER 2017 HI 44 W F 64 T
g g fpufed A dead S @ g 3
TS IR & Aead H GE § T # v wWew §
AreH % fog afterig & <wg witel fhe 81 eAred @
fof @ 2015 § A% 7 T g F ovwlq WG & @

IRY AN TE SR F IS fpaAT o)
29. Which of the following countries have
established new two-by-two  ministerial

dialogue in August 2017 for maintaining
peace?/frefafiaa o @ ferm <ont X vrifa o=
WA % fau s 2017 ® WY ZT-Em-T
fafafearer STaatT &t TemaaT &t 87
(a) India and Russia/9Rd T91 &F
(b) India and China/9Ra 1 94
(¢) India and USA/9Rd a9 EACA
(d) India and Japan/¥Rd q9T SAH

Ans. (¢) : IR T JUEL | Vfd 9@ W@ F fAu

26. “2014 : The Election that Changed India” is | |37 2017 # T3 Z-a@-2 fufafigae s@@fm &t T
written by............ /2014 : T ToSE | |H 2l
B S - | KA g foreht g ¥ 30. India and its which neighbouring country will
(a) Rajdeep Sardesai/T<i&Tq T conduct joint tiger census using a/ globally
ized method for the first time?/¥ T qAT
b) Aamer Hussein/3HX recognize
®) . & IHHT i AT S 29T et faveg T ©@
(c) Abdul Haq/3Tsget &6 TAT U Ugfa R Ugelt o) are @
(d) Tarun Vijay/a&u1 fasm STTUrAT 7
Ans. (a) : 2014: T TARE 2 I e TeEm (a) Myanmar/®IHR (b) Sri Lanka/#eiet
e g fordt w2 (¢) Nepal/<dra (d) Bangladesh/siTarasr
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Ans. (¢) : 9Rd N U {99 THF STFI, STl 3R
TR &l U Th @ SHUET bt | e e
F AT FRIHA F9 2017 F TR T@E T TRA g2

31.  Which of the following is an operatin system‘;

|1 Tk

1. Ubuntu/39=q

IL. Linux/fe=ea

I Unix/IfeRT

(a) Only I/&ae 1

(b) Only II and III/3a 11 T 111

(¢) AllT, T and I/ T, T & TIT &eft

(d) No option is correct/shg faheq T&l T8 21
Ans. (¢) : ITRRET =T (ERE ) TH Aeaal T=H
B 8, FTad FEe #1 92 B 9ug |E 59 T T
A B 81 T T URAHIH g F g of
Rrder 8§ SiRfen fued Swinmdl, TeiHeH
T, FEaeR 3R ReH are SUhUil % HeT FIhd &
&9 # e B 81 AR Rywew % sar 8- g,
fore, 39w, fomei, W, 9 s, " sty afe|
32. Which of the following is NOT a logic

gate?/ﬁl’ﬂﬁﬂ'@ﬂﬁﬁaﬁﬁm@ﬁmﬁ?

& &2

(a) AND/UTS

(b) OR/3R

(c) NAND/AtS

(d) All are logic gates/H¥T ffsreh ﬁ{\q J
Ans. (d) : 37fhes aRay fSren ST
eI ¥ favetyur fFar ST weh, wifors e AT difched 9
Feell 21 5 it e § & ar e fawh
e Th & Frld gar 21 aifers e @9 aw % e -
TWE (AND), 3R (OR) T8 dfc (NOT)| <5 Tei i
YR dfera ST 9 FeT ST 21
33. In a reaction, what is the loss of hydrogen by

substance called as?/Ueh 3tfuferar o, uared &

T ZTE AT THgeTell &7
(a) Reduction/3Tq<==
(b) Oxidation/3u=a

(c) Hydronization/g 33;4 ST

(d) Both reduction and hydronization
I T BES EE|

A

III. All acids have . similar chemical
properties/@sft 3T W WUE TSR
Tqurerd € 2

(a) Only I and I1/&ae I 91 1I

(b) Only II and III/3a 11 T 111

(¢) Only II/&aa 1I

(d) All statements are correct./SHl H= Ta 21
Ans. (a) : 9T SIS § AfRaT F wifcas AfeEs
SR 21 R ST e et @1 o wnfeae sifaEs
& et etfTEs off ed 2|
= 3 qad S U ST faeed # gEeeE & e
(H) 30 FW 2, 37 Feand g1 Toff ol § ¥am
Tt o7 o g 1 S- ere, el ¥ il ek
AT g e S B
35. Which of the following is an example of

colloidal solution of liquid in solid?/f=faRaa

W & I |1 59 T I | hicEed feea= &t

IEA &2

(a) Mud/#=e (b) Milk/ga

(c) Cheese/THX (d) Rubber/g
Ans. (¢) : HIEE TH TR fquarh fooe 8, e
focra &l &1 THR afas e 9 a8 W e
T BT A1 21 Hicgs | [T HUll &1 SHR (AT =)
10° wex qgr 107 WX % wed Far 81 %9 &b o9
HeESd faead & 3SR & TR, "EH g1 wal
Seft | S 59 1 59 H HiAEed Ao H ISR 8-
Y, dd N I H Premged faere |

36. Hydrogen chloride is....../gT8gN FANES

(a) diatomic/gIeaTATIH

(b) triatomic/FRATTH

(c) poly-atomic/sETHATIH

(d) No option is correct/®1g foheq Tl &l &1
Ans. (a) : TESISH FANEE F TGAMNS T Hel 81T 2|
R FAL W] L HeEAe Uhe 9 N 9 & 2
ZESISH FANES FW & d9 W Th TR 719 et 21 48
AR I SMRAT & T FRSIFANE I & Tha g3
A 2

Ans. (b) : 3UFIT AT BT (Oxidation) - Jaef H
SedISH &1 3AMT Ud BESISE & B A1 gUEE 3UEa
FEamd 2|
39I (Reduction) - e & a1y %rs@a? F AN T
RIS T GIFHT AT B NT=I el 2 |
34. Which of the following statement(s) is/are
CORRECT?/f=fefad # & &= 91/ ¥ ®aq
wE 218?
L Metallic oxides are said to be basic
oxides./elfcarer  3TfeFATZE @Al &Y
feraTgS oft e B

Non-metallic oxides are basic in nature.

SATFATSES ATHT Yehfer o B 2

II.

37.  Which of the following occurs due to refraction?
Frafofaa # F S TUad= & SHROT FaT/a &7
L. The apparent displacement of a pincial
pertly immersed in water./STeT o AifdTeR
®U | gt ufeer w1 g g2 famm
II.  Sun appears before the sunrise.
TateT | 9d gd o fe@H
III.  Sky appears blue.
JTTRTIT AT T @A

(a) Only I and I1/&ad 1 @ 11

(b) Only I and III/3a 1 @ 11

(¢) Only II and I1I/&&e 1T T4 111

(d) All statements are correct/q4 H99 Fal 21
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Ans. (a) : 59 JHIY P HE BT Tsh RGN ATAT
TR uReel areew # Sl 2, @ 9 orad Ant 9§
2l ST 21 59 oIS S ATEA hed 81 AT
g arelt g 8- (1) S ¥ 3ifye '
ot 1 g2 gl fw (2) yAed ¥ i g w
(3) T @ feafead g fewrlt 1 w&fs
HROT ATHY FT 1 e fe@rd gedar 21

38. What will be equivalent resistance of two

resistors R; and R, when connected in series?/

@ 3 wre R, @ R, &l I ST AT

AT ST oI Fleier ST g ?

(@ R =R, (b) R +R,

(©) Ry +R)/RRy (d) 2RI R)R; + Ry
Ans. (b) : J0fisha & Ml H 39 FHR SIS ST 2 B
yfoiedl & HaeH § g gfoly & gE R S ard
yfodg & Ted RR ¥ S21 39 YR 39 gaeE § 9t
fodel #§ T & G yarfed g 81 v # wft wfedst @
e sy ot 9ok & Sie & SWeR B 21 3T R,
F R, i gvft 59 H g1 9 & @ I qod WY R,
+R2'@’TH
39. The phenomena of electromagnetic induction

=t

(a) the process of charging a body.
forddt aeg @1 H F AT B

(b) the process of generating magnetic field due
to a current passing through a coil.
fpeft et & fag w0 waifed g9 & FROT
TH & 3T H I AHAT 2

(c) induced current in a coil due to relative
motion between a magnet and the coil.

o % He SR T % SR
Feell # frgd arr IRa 4 )

(d) the process of rotating a coil of an electric

motor./fRdl fél'gﬁ e A W Fl iﬂhm

F wfwar 21
Ans. (¢) : A% S I wRuy (Fredh) # goR o
FAy § gfada o fear sm@, @ oRuy A

aret
forea o Io @ S @1 fagd oW Sew g & e
e 1 fag IR ST #ed €1 ST HEC ad1 gu
& e Ufer M F FROT Helt § faegd g/ IR w
T forgd gaebia SoT aRee &
40. Light waves are....... [FERTIT ..o Zrel

(a) electric waves/fgd Tt

(b) magnetic waves/JaH T

(c) electromagnetic waves/fSd dashia T

(d) No option is correct/®IE fohed &l &l 81
Ans. (c) : T TH YR H S g, S &g Joa
T % w9 F d9Rd A 8| TE: R U faed
e T Bt 8, 74T 3 TN BT HUT HeRT
F TEEd ol @ SN IHh T % fow wemm &
FEYIhAl & Bt eAed @ f6 e @ v aed
gt  erefq 78 et BT 3 GEN TR T 8 B Al
&l TEI

£ e IR gEet B ¥ a=a ° Reew (g@r am)

41. Which disease is caused by deficiency of

Vitamin D?/f&etfi D &t &t & &= @1
Frar 872
(a) Polio/diferat
(b) Rickets/q@r T (ReFew)
(c) Scurvy/=Hdf
(d) Goitre/==T
Ans. (b) : R S & THEfS 99 Sedthia 2|

o gl § ‘SRR (Osteiomalasia) ATHeh g
S 21 7% eI weRae, +ff, 3ve, Heel % dd e §
T S 21 meyt © f gd &t Rt (ULV. Rays) o=
¥ 3ufted SR i faefe D’ & ufafda &= & 2
SEfs faerfm ¢t w9 e, STEEE & o ¥
S AT I BT 2
42. During exhalation, the ribs........... [3=BTaaq

T T evvvvevenennne |

(a) move outwards/TeX I ST T Ff &

(b) move downwards/=1= &I 3T 7T HT €

(¢) move upwards/FW I S T FHA &

(d) do not move at all/fSregpa T & Faht &
Ans. (b) : T8 g F HHSI B T AfYEd T (12 9 15
IR AffAE) & IR-GR 9 3R P € vardeEas
(Breathing) Seelidl 21 I8 Uk A 3R sfms fHar
21 Ba1 H BHSl H 9T T (Inspiration) hgeirdl
2, 39 qug ugferdl SW H AR M F &1 Sl @
% Hhel g ared e # 3= (Expiration) Hed
2, 39 gug qHferdl H S R wd &1 o fbed
(b) T 21
43. On an average how many million Red Blood
Cells are present in a healthy human adult man
per mm’® of blood?/fREl e Toeh gey )
Th o gfa T, | sfraas ferat fafeem omer

TTh RITITeRTY BIelt &7
(a) 5-5.5 (b) 2-2.5
(c) 1.5-2 (d) 9-9.5

Ans. (a) : TR FHUHR TR HT AT 40-45 AT AW
2d 81 A i JHR B 21 (1) o SRR B (2)
v TR HUEE (3) TedH | A Th IR BT,
UL, M T A AR F Fa F &l g ovafq SwHEda
(biconcave) T 21 T b AL Al g S
STy T 120 o B 21 UF Wy qu T/ H
F ofq fr. @2 & sftwad 5-5.5 ffead o o it
Bt 21

44. By which process, a tadpole develops into an
adult frog?/feF@ Ufsham gRT, 3= Ueh ook
Tgw o foremfaa g 872

(a) Fertilisation/fi=r

(b) Metamorphosis/Id<UT

(¢) Embedding/TquoT

(d) Budding/ﬂ@?ﬂ
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Ans. (b): SEMRI (Metamorphosis) T Siadsii-h

Ans. (b) : FEFERT T ST YgEUT &1 GRemE a1 WRY

siher @ e fopdht S % de1 219 & a1 e § feher
& 9 HIRTES F Ifg T 3Th RS e § w4 90
% 92 uRady o1 S 81 S9- Sgud (Hed o we) S
Tl ST fae @ foheq SEh @i Wewh o ST 21 g4
TR UM Al goell (hefier) SR g fadel &=
I 2

45.

Which of the following gets activated upon
illumination and generates electrical signal?

it e w fr=fefaa & @ & wiea @
STt g e foga fer Seaer aheet §7

(a) Light sensitive cell/FeHTeT AR HifHTE

(b) Optic nerve/3e e

(¢) Ciliary muscles/9eam+ft ufyrat

(d) Vitreous humour/S=Y &o
Ans. (a) : 3@ F IR fd 9 F: W (3fvmea)
Fed 21 W § gm frceh @t @, fud gew gew
JebTYT QA HIVTRIC (Light Seusitive Cell) a1t 81 fit
g W ol g e Rl e |9 g sTaed
Ty WA Rl s 81 e W e a9 &
2 a0 frgd fra 3w w31 3 fagd e 9%
el g wiass 7% g i 9| g1 wRas e
Tohdll I AR FIAT § AU A TH AT Bl G
T 2, P g et a%g 1 St @ 9w & 3@ W 2
46.

Which among the following constitutes the
central nervous system in human body?

frafafea & @ @9 g IR @1 S

df3rent o= STar 872

(a) Only blood/®ad T

(b) Only brain/ac AfT=h

(c) Only spinal cord/ad HEL

(d) Both brain and spinal cord

AfResh qoT HETSS QT

Ans. (d) : GF T3 F1 g8 91 S gegol IR a9 @
?‘fﬁiﬂ?ﬁWﬁWT@ﬁT%, Wmﬁ(Central
Nervous System) hgelldl 2l @ TR & & 31 W
feerd €M 81 A€ & SN H & BT B- (i) WRAS (i)
Tetes]| &AM ¢ {6 g dfieer @ di 9wt § fav
WAl 8- (1) H=F a7 (2) 9RdF dfE @ (3)
W I Eed ikl 7 |
47. In 1956, Minamata disease was caused by

which type of pollution?/1956 &, HiATHTaT TNT

TRl WY o UGHUT o SHIXUT 3T T?

(a) Air pollution/dTg J&uuT

(b) Water pollution/S/eT ¥gqUT

g UE & fiEmer @t § g gefed asfaat & Aig
@H ¥ gam a1l F% T IR F U (Hg) I St &
HROT Bl 81 39 AT F IR & S g qur e M
FHEAT T2 B A ¢ WY & A, G F gHen adqr
T SrEder ff Seqd & ST 2

48. Which of the following is the best solution to
get rid of non-biodegradable wastes?

frafafea & @ =9 @ /-Sg Fefier

TS | GeahrT U o oy wed Wl s &7

(a) Dumping/&quT (b) Burning/SteT

(c) Recycling/JF:=R0T  (d) Burying/Tg-T
Ans. (c) : T3t fefietor sl S9- wifies s,
we-fesd, foea, wefufam, @wr i o7 ek §
FTHN UH & U Tad T& IU™ A T (Recycling)
21 39 fafyy g wfes 3 wigsl & T g Y §
AT S 2 |
49.

In which condition, tree is most vulnerable to
die?/ferm feearfe ®, Ug wod Tt & ga @
HehaT &7
(a) During loss of its bark/sTd & ST & A
(b) During loss of its all leaves

Tt uferEll & Fed & A
(c) During loss of half of branches

el Tt % <29 F N
(d) During 1oos of half of leaves

et ufE % e % N
Ans. (a) : &3 79 fobedi § 9 Ug I UWATE (Phloem)
AT ¥ 98 g9 T ¥ g & S Hife diel &
1 9T % o g A dee T wge o
(W)a@ﬁmwﬁfﬁﬁwwmﬁﬁm

UgAd ¢ Safh GwaE (Phloem) Ul gwr fAffd

Wﬁﬁ%ﬁ%mwﬁwwm%l qATE %
T R BT H T ST ST GET F G g q
T T £
-3 3 TH Y91 i Godichd ¥ el T feam
Tl
50.

Taiga is an example of which type of

ecosystem?/3TT feh@ wehR o uiRftarfaent &=
T ISR 27

(a) Grassland ecosystem/Har TR o

(b) Forest ecosystem/a IRfEfaant @

(c) Tundra ecosystem/23T TRIEafdeht &

(d) Desert ecosystem/HeEgeia qiitfafasnt @

Ans. (b) : 2T, a7 TRRYfE & & SR g1 2 &

1 faar 50° & 70° I vl % e B0 AR TH fowq

TS F ®Y H FAE], A9, e, wied, faygstE,

At qon Ak § % g¥ € g% & Aot §
CE)

(c) Noise pollution/&af sgoT FUE g UH W E1 I A b YW IF - A,
(d) Soil pollution/JaT FEH0T T, B, A, T K 2
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1. Bricks market can usually be kept in which
category of the market?/é? % AR &l
T fFe guft & sTem § T S wehdr 872
(a) Local market/SIHIT STSIR
(b) Provincial market/SiIa JSX
(c) National market/TET TSR
(d) International market/3TE a=R

Ans.(a):%ﬂ%WWWﬁ%Wﬁﬁ%-
(1) T SR- 59 66 a5 & wa-fowa fordl
&7 7% Tifod 9 WA 8§ @ I W aeR wed &
Y- 2, TR, W, 39, ASl, Bd SR
(2) Wil STeTR- 9 foRelt a%q o shal-fashal Ry &
% B §, T 39 KA A1 ST SR el S @1 S
TSI &1 A & el H aeR|
(3) T ANR- 59 R g & okt faskar @ W A
% @ @ 38 UHE SR ded €1 99- Oidl, s a
Tfeal, aad, gt @ et
(4) Y IWR- 59 foheft 3% & shar fashar Tyuf
fova § et 81 @ 39 SRRIP AR FEd &1 S9- 9,
Tidr e |
2. Which of the following is a fixed cost?

frrafafaa ¥ @ feer amE SE-6 872

(a) Expenditure of raw materials

Fed WIS H T

(b) Traffic expenditure/TarATd =g

(c) Expenditure on machines/™fHl T =T

(d) Labour wage/%@"ﬁ Eﬁtﬁaﬁ
Ans. (¢) : ReX oG ¥ ifwg 39 = ¥ & W ReR
T/ AT T T T A 27901 36 A W fear S
2, St st § qen a5 Ud el % Sced @ qE W
fadft T T 81 98- il | o= (G ofy) ReR
AN 21 SEfh uRedi @ra ¥ o uRad @y
AT S oW WY S At = g 2, foed aReda
fepam ST Wbt 1 - siftrnt A Aol
3. Entertainment tax on cinema is paid by
whom?/fFHT T AARSH T T A [hEeh
BT fera raT €7
(a) By producer/fAmfar g/
(b) By finance-manager/fem-5si&is gR1
(¢) By Director/fe3m g1
(d) By Audience/3¥® /T

Ans. (d) : TRSH R AR U6 AR el | T
TR G AN S 81 AE Ueh ST H 8, fgen
A SR G R S 21 e B f6 1 e 2017
¥ AN 9% @ T F (GST) & ded qoff e
gftnfera fra ™ §)

4. National Telecom Policy was announce in
which of the following year?/'{Tg'hT ) it
o ST e & e o g oft?
(a) 2010 (b) 2011
(c) 2012 (d) 2013

Ans. (¢) : T¥F R =R FAfT FI =wom 31 7 2012 FH
T @ 3w AT T 13 3 g gEER AfG-1999
e forar 21 3@ € A § sudreRl & fau s T,
o Hemd AR ARRE 9 e AT e Tg @
IR Hd g < & forelt off qWER Aved # HewEa
TR Rl STy U S STeu R T 2

5. Which of the following oil refineries is located
near the mineral oil field?

frafafaa & e @ 9@ Reead @< aa

s o wrfig & e &2

(a) Noonmati/m (b) Barauni/sRi1

(¢) Visakhapatnam/faemardd=+

(d) Kalpakkam/seTqernd
Ans. (a) : LERICENIT 3/ w) H feq
GEll agﬂ?ﬂr ??%Tﬁﬁé, ds{ohﬁqmv(w—ﬁ%m g 133:;:
T Tt @ 9 &7 81 37 ke (a) E S

6. What is the most important function of the

legislature?

TerenfirehT o1 Ha® WEIYUT hre o T &2

(a) Establish peace in the state

TS ¥ i wfhd e

(b) Making laws/sT[T SHMHT

(c) Passing budget/aSie 9§ AT

(d) Control on the Executive/aufcre T f==or
Ans. (b) : faunfre &1 998 we@wt F& S (&)
FAT 2| A <9 F B 9 B U TR T
T 8\ e ¢ 5 aRa # hes faenfe w1 g9 wa
ST 21 Fe U fEue fawnfye @1 g a5w ww =
T T a7 Ted 2 | S % STER R
# TEE F A9 S - TP, ARG TH ToAGT |
7. Which one of the following does not come

under social rights?/3a8 | A |IHINTER
TR o AT LT ST &7
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(a) right to vote/Hda 1 ARIHR

(b) right to life/Se &1 AfHR
(c) Right to Religious Freedom
1fifer T 1 SIRIHR
(d) Right to Education and Culture
fRreqr wa H&phfd 1 SRR
Ans. (a) : TAGF & ARFR GHISS AMHR & F=iq
T A B, doh g TSI SAUBR g1 TSI
ARPR ARSI B HFT & THIT THA qAT THicrb
mﬁmmﬁéﬁélwﬁmmé FA
F guyy gHal, AfEARh & oA, i 8= @
AFR, T A F AER, FHR g F e,
T 7 A # S

8. At present time how many Zonal Councils are
working in India?/ada= ¥0g # 9Ra W fepa
it uftue writa 772

(a) 4 (b) 5
() 6 d) 7
Ans. (c) : T QAfeq afefaam, 1956 & 913 &

IFTER U ﬁeﬁ?{ qRtel- 3adl, aferft, qof, e & 7
&g sl T & wh Rt s gER e
ReE # e ¥ 1971 H foRar T o1 o adAe H
T 6 & IR @
9. Which of the following is not a work of Election
Commission?/frfeiflga & & wH-wr &W
Trratem sman = = €2
(a) Allotment of election symbols
TA9-fegl &1 afEeA

(b) Fixing of election dates
fraffem A @1 &e

(c) Keeping the fairness of the election
TAE ! FITE aE T

(d) Selecting Candidates for Election
T & I Sfieart 1 T51 FE

Ans. (d) : FEta 3@ET ©F Gaute Fwe 2, e

% TR 324 % ITUR TUR, TSAGYM wUed, Tpufd

g IWFUM & g & et & fow gued, fdve g

foreor & freert fafe oM &7 21 S9- wAE-fa

F A, fated TE T FE T AT H TSI

IS T, fate & §9 gl 9 SHEaRl & T SR

sfgar fafifa s enfe Fafed omEm % & 81 wels

T % oI Snfiear i T97 BT TqH HE AL 2

10.

Which of the following states has bicameral
legislature?

frafafas & @ fem o= d ghmemes
feremrree 872

(a) Uttarakhand/3w@s

(b) Himachal Pradesh/feamaet y&91

(c) Maharashtra/FgY

(d) West Bengal/af¥=H st

Ans. (¢) : IRd & ®: Usdl- STEWeY, faer, e,
TERY, qdm 3 S Ry # fggeda faum quea
W%W@ﬁww%élaﬁmwﬁ
T fque oRue & Tod wd IR & geEuE fRar
T B
11.

The Harappan site “Manda” was situated on
the banks of which river?/gswg et ‘‘wigr’’
fermr =1t o fepmmt feera am?

(a) Chenab/=ATs (b) Sutlej/Haerst

(c) Ravi/TEt (d) Indus/fHYg

Ans. (a) : 3SR WA ‘Fer @R N (W) H @
T F @ de | Rem g o gewm Tl Tl F,
Aig-sieel, Jgagl U@ Hedst oy ad & a1 Jug
“Haers T4 % qe W Red 2

12.  Which of the Rig Veda’s Mandala is completely
dedicated to Soma?/RTET T WHIH-UT WSl
Tﬁ?r: | ot gada g2

(a) Seventh Mandala/daai Hsa

(b) Eighth Mandala/3T3at Hea

(c) Ninth Mandala/7at Hgat

(d) Tenth Mandala/3gat Hea
Ans.(c):ﬂ?ﬁ?wﬁﬂww:@qéﬁﬁﬁﬂﬂﬁﬁ
21 SEf% Fag F 9 Aved § afid gew O # fawe
TeY N IR U S Ify B guia faemr @1 g9H e
T} ST WE-0eY % 9@ 9, & Sus qensd 9
v 3TH T T TH Y 3G W Y I gI &1 AR
# e 10 WUSH 2|
13.

Mongols under Genghis Khan invaded India
under whose reign?/TiSt @ o el W@t

3 forueh IR | AR WX SATsRAT feRan?
(a) Balban/scte |
(b) Firuz Tughlaq/fst USED

(c) Ttutmish/Feqroer
(d) Muhammad-bin-Tughlag/ W—f@q—w
Ans. (c) : feeell Gead & IMES Seqarael & wEd Hd
(1221 ) ® W 39S <9 WH & AEHAT H Tl
IH Y 397 gIT & 8 TARSH & A I8 TeAqeA
T S # 9T Fd g e d@ e wdan foeg
W&Tﬁw@?aﬁwéﬁémmfw g
SHHATT § Falfed gl Tsd &< T
e 8 fo gl 99 & s STe=e faestt (1296-

1316 3.) & IM9A FIA H Faifee Hre STeHAT ga |

14. “Back to the Vedas”, whose statement is this?

gt Wt AR A TE wue fREeT €7
(a) Swami Vivekananda/&mHt IEEEAEE

(b) Swami Dayanand Saraswati

@l gIHE Sl
(c) Swami Shraddhanand/S™l FgH& g/
(d) S. Radhakrishnan/Td. TR
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Ans. (b): 981 & AN R T T H HI B
@t T | 1875 H o # 3 g &t T &
e wAS g T W AR S T T 1882 |
o wAS MA@ eg W ROl wer @ e
F1 1863 T TS T I Ur@ve Wiedl gae
TE | doerd fola 3 o0 e sfieam s
‘3 Hur T AR TR FT STHET S|
15. 'Who was given the title of ‘Punjab Kesari’?

“varer Rt Rt Radrer TRt feam T an?

(a) Ranjit Singh/TuoTsia fiig

(b) Bhagat Singh/97d fig

(c) Sardar Baldev Singh/S%ER ERECRET

(d) Lala Lajpat Rai/<al &eqd T
Ans. (d) : T AT TF H1 Tola had of a7 S
2 98 AT T FEE F RA I F Tg@ Ad@ 9
AT AT T qrveEr e % gHde o a9 g9k
T TS WAl Afash Hiciel (1889) 1 TTHT ot
1928 # HEAT FHHTH & Y HH F EH

T g
fig gam “M TR S afedt F Fer f5a T § 9l
fem fofew worsa % e @ snfad e wfea gt

16. Which of the following order of planets is
correct as per distance the increasing order

from the Earth?/gest & gt Tt o @ T&t
o frefafad & | & o1 e 9t 87
(a) Mars, Venus, Mercury, Jupiter
HICA, Yeh, T4, FEHd
(b) Venus, Mars, Mercury, Jupiter
h, A, 9, FEfd
(c) Venus, Mercury, Mars, Jupiter
F, T4, AT, Fewd
(d) Mars, Venus, Jupiter, Mercury
HIC, Yeh, Jed, 9
Ans. (b) : 951 § St g8 % IR TR 1 %Y & TH,
He, g4, geefd, Wi, 70T, 9|
o 4 el 30 & oFER W W A & I, Th, T,
HIA, geedfd, T, 37%0T, a€uT|
17. Where is duration of the day and night on
Earth are almost the equal?/“q%‘éﬁ =1 fom 3w
T T TR gl I Ueh WU Bl &7
(a) At the Equator/s[7ed 3@T T

18.  Which of the following local winds is also called

“Doctor Wind”?/frafafiaa o & form wmritar

T et oty ot e €2

(a) Harmattan/gWsa  (b) Bora/aI

(c) Mistral/frg@ (d) Chinook/f=sh
Ans. (a) : ST~ TN AH § 30 90 fww ¥ ufvend
feem & wom archt ag T FUr YF ag @ S TEHE H
ofyef T @ I 7 o A § yeear @t 8 e
T YT 3 WReEE 8 S 21 g6 SR A e w
T TR g A wE @ 21 W& AW Y
et 3 g € 3EY gl 9 FntaAr yefe di
2 wd fget off 3t g ved § 599 W 9w S
2 21

19.

Which of the following places is located near
the Equator?/frfeaflaa & & w4 @1 =
fergare Y & watfirer frere e 87
(a) Kanyakumari/s=AR1
(b) Rameswaram/THYaTH
(c) Pamban/T%H
(d) Pygmalion Point/fraferam dige
Ans. (d) : Trafea @Ee & & 3t @Ee & AW 9
ST S @ AR I R fiu # Rew 31 98 9wa &
it 2 g 1 31w Pt B o e T
¥ e Red ¢ eaded @ 6 9 @ e Il g
Tfeay Fa e, 99 T g Ry (srevEe we)
o T afverft fomg iR HEr (o) 21
20. In which state is the Mettur Dam located?

A oer for T | arafierd 87

(a) Andhra Pradesh/3T=1 J&¥T

(b) Tamil Nadu/afHeHrg

(c) Karnataka/&fea

(d) Maharashtra/"8RTg
Ans. (b) : HX af afeg % Faw o o fem 81 78
1934 ¥ Fad 78 ® fffa e mar a1 s&fs amme
IR SiY, GE9E Joe § TE Sistem | s gewr §
21 I iy Ry # Grel R # Red §1 Fg g
T W T I 2| FAled § FAY T W FURSHEIR
e fRerd 71

. 21.  Which banking entity was declared a domestic-
(b) On th.e Poles/%'@ kA systemically important bank (D-SIB) by the
(c) On Line of Capricorn/Ft T Reserve Bank of India on September 4, 20172/4
(d) On the Arctic Line/3Thfe® 3@ W fadarw, 2017 1 wRdE Red 9% g RS
Ans. (a) : 3TIRT @S H 0° ST @ F A W1 @ e T TS TSR TEET A (-
fergera T o @ed 81 qHeA W@ el (P H A TR @wlég?—s‘;ﬁﬁ?rﬁ%Tw7 i @
T Sl Mg it Rl eng # fawii sl 21 _ .
qHey Y@ W R 9 T4 # Sl e wae g 8 (a) State Bank of India/¥dg @< d
S 21 A U 23 AR & g -7 @ W e (b) IDBI Bank/3TESHE %
TUHAT 21 3 I A [l # R e | R g @ (¢) ICICI Bank/3Tgdamgeam s
' ety e B 2 (d) HDFC Banks/THEiusdt s
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Ans. (d): 4 f@aR 2017 & 9rdE Rd &% g
TIEUHE! (HDFC) ST T il oef SUTeliTa decrgol
S =t foham e 21 e § o uRa H get T
g #1994 # gt off s qEmerd of 96 ° 2

22.  Which city became the ninth Indian city to
have its metro rail system on September 5,

20172/5 TadeR, 2017 &1 &=
TUTTeAt 3TUATERT ATal WA ITeT &=T7
(a) Hyderabad/8sUsE  (b) Kochi/®if=
(c) Lucknow/e@d3  (d) Nagpur/aTTqX
Ans. (¢) : 5 f&daX 2017 F TEFS (30%0) "I A
YOG STOATeRE I8 WX A2l Yo Here gfaen A aren
9T T AEl R & T
23. Who was appointed as the Election
Commissioner is the 3-member Election
Commission of India on 31 August 2017?
31 3WHA 2017 I 9RA & o GeET A
AT W A YRR % AR W fRE g
Teram Ta?
(a) Achal Kumar Joti/3Td $HR S
(b) Sunil Arora/ge 3RIET
(c) Om Prakash Rawat/3TH &3 Jad
(d) Nasim Zaidi/TE Sty
Ans. (b) : 31 3TTE 2017 & NG & a4 9= gA@
SN H FAE TH & 98 W @ Yo T FHRUT qiea
e et & fgeh fohar e
24. Who won the women’s singles title of 2017 US
Open on 9 September 2017?
9 faedeR 2017 = JUA U= 2017 ¥ wiew
Tehet ot Raare feraa Sfar?

(a) Sloane Stephens/TAie &Hg
(b) Madison Keys/Afe s

(c) Venus Williams/d=g faferaeg
(d) Serena Williams/TT faferarmg

Ans. (a) : I UH. 3 2017 # Afeen wwa &1 faqm
e ®hg = Sia e eferq, %= ud fawesa
Afeell The faSiar wAS: - Wi fafereed, S
SARTURT T M JEsT 2

25.

Which city will host the Summer Olympics for
year 2024?/a9 2024 & HHeRTA AUk ht

SIS ShIF T ITET T2

(a) Los Angeles/@i¥ U™

(b) Paris/4ftg

(¢) Rome/T™

(d) Buenos Aires/&A9 3TaH
Ans. (b) : T 2024 & 339 FwrHEA SAfUs Qe @
o g (K@) HEM Fefe a¥ 2020 F 329
HeTehTeli STcifyeh Well &1 STESH it (STa) q9r ay
2028 & 349 HSHHAAH STCfd Tl H STR—SH Arg
uRTew (3mften) # e 21

wwﬁz‘riﬁ

26. “The Freethinker’s Prayer Book: And Some

Word to Live by” is written by............ I''g
WEd YR d%k: Us wW g ¢ fog
=11 KA, g feret 8 2

(a) Khushwant Singh/ @QTEH iz

(b) Vinay Lokapalli/fe== GIEAR Gl

(c) Khaled Ahmed/@Tf1g 37gHa

(d) Matwar Singh/w f4g
Ans. (a) : T HIUHY Yo Te 99 &€ ¢ fog 9’ AW
T g e gr fo T g
27.

Who won the Nobel Prize in Physiology or
Medicine in October 2017/3T@sX 2017 |
forem st fommr aroren stgfelae # e
T ST 32

(a) Michael W. Young/Algshdl S, 411

(b) Micheal Rosbash/ATgshel THaTeT

(c) Jeffry C. Hall/Sst . gt

(d) All options are correct/@¥l fosheq T&t &1
Ans. (d) :

& — 2017 FreIeT YRR fersrar

Torfencar — A g a7, WIgehel UGETST, S T aret
E - S gary, = detmn, sienfan
affferer - o . 9ftwr, IR 3z, 5y TE-A

wrifer — T BRER A @A F & iy s -
ICAN ¥ &I

arefyrer - R9E e, Iom)

28.

Who among the following has agreed to return
a 2000 years old Buddha idol to India
freafaiaa § @ &9 9Ra & g5 @t 2000 TH
T i aE wie o Tt Wen gan v?
(a) National Museum of Korea

Sorel T i i
(b) National Gallery of Art, Washington

ferd 3 e, aRiTe
(c) Australian Art Gallery/3TRfera a1 et
(d) British Museum/fsifesr =fSraw

Ans. () : LT 2 Tl 9”d &I g5 Hf 2000 a9

T A A cliert F TeR ga 3

29.  An agreement for a cultural exchange program
for the year 2017-2020 was signed
between............ in May 2017./a5 2017-2020

& U witehfaes MEM-ye= wEdsn & fog
g 2017 W Uk AU W, qJ TERR
e 21

(a) India and Iran/9Rd a9 3pr~7

(b) India and Afghanistan/9Rd T&T STHEIE
(c) India and Turkey/¥d T Tohi

(d) India and South Korea/¥Rd d9r afefor Hiftar
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Ans. (¢): T 2017-2020 % T TiEpfash TEH-YEH &
ggézonﬁ@mthwgﬁﬁm
|

30.

In which of the following country, India gave
Rs 35 crores to children of freedom fighters?
frafafga & ¥ fore Q91 §, vRa 9 W@t
QAT & ol @t 35 wS % feu 87

(a) Nepal/m (b) Bhutan/¥g

(c) Bangladesh/ﬁT’?l‘l%QT (d) Myanmar/=IiHR
Ans. (¢) : R ‘th ArGT AT & dad 0T o au &
A IR F WA G i@ dd F uRan
el F 35 HUS TIF T BT |

31.

The most 1mportant advantage of an Integrated

(a) easy replacement in case of circuit failure
& faee 8 W Wadr § I
(b) extremely high reliability
HET I=d fagaeHrar

(c) reduced cost/FH AN

(d) low power consumption/3wil &I HT YT
Ans. (b) : T e Hfhe (IC) W THgul gl
Wﬂ@mémﬁmﬁtﬁmmﬁ@ﬁ
faferi= fofeet = 9 @ =amEr S 21 IC § Toft sew
T 919 o S0 2 AR "WesRaT (Joints) T Bl 3
TH I=d favawE S §1 IC # SEshR 3w
fopestt = o am
32.

What are the components of a CPU in a
computer?

ferelt wmreget § iy & e &9 @ B4 §7?
(a) Input, output and processing
gqe, ASYE qd T
(b) Control unit, primary and secondary
memory/&eIa e, Mafhes qar fidtes wad
(c) Control wunit, arithmetic logic unit and
register/&erd afie, dFnfda @fbs I
e T
(d) None option is correct/®Ts foheq &l T&f 21
Ans. (¢) : CPU (Central Processing Unit) T &l
T T 8, 4E B F A QAW IR WRAR I
T SRR STl @ e SR fed B % fau
R 81 CPU F 97 9% 8- (1) ALU-3isfwda
Th THE (2) Herd I (3) MW TR
33.  Which of the
CORRECT?

frefafiaa § @ @9 @ ®aT @ 81

I. Ionic compounds have high melting and
boiling points. [ermates iRt & TR
qAT FALTR IooT B &

Carbon compounds are poor conductor of

electricity/ehTeifser  difier  ote® o
Tk TTE B B

following statements are

II.

III. Carbon compounds have low melting and

boiling point/shTsif-er MRt & AR
AT FAUATR (T B B
(a) Only I and II/3&a 1 T 11
(b) Only I and I1I/Fae 1 72T 111
(¢) Only II and III/3a< 11 @ 111
(d) All statements are correct/F¥t HI TEI 2|
Ans. (d) : @M% A 39 & 8 99 Nacl, KC,
CuSO,, K,S0, f&| aafys Fifies o 3T R0 3=
& o4 2id 81 fdd SefE s & Wi Tee s
T B 21 39 SN 91 i dgd & [T S=5 Tl
HEYIHA Bl & o IS ANH b Mo o
FI% 3T B & |
W (CHy), UIA (CHo), UaAra (CzHSOH) 3t
e M % ILET & | HaTh Feh FEEASTH aY
T T 2 T [ F T SRV 9 STARF Yo
T B9 7 oFd: AR Mok, 9 FIAIE e BT @

Freife e 3 for = T A

34. How many hydrogen atoms are present in
chloropropane?
FARGIO | FEGI ok feha 270] Sufvera
e 77
(a) 5 (b) 7
(c) 9 (d 3

Ans. (b) : FAIYT HN TEERS T (C;H,Cl) 21 37
IO FEEISE (H) % 7 310 SURed & 21 I8 U TeH
R saerefier TaEfE A 71 98 Ris FdEe seE
F Sufef ¥ BEERY IEIANEE & Y -t
Teshigdl o ATATHAT SHLarht daR R STl 2|

35. To neutralize too acidic soil......... is used.
A AT gaT Al STHI & & e
................ T TIRT TR 1T 2

(a) quick lime/fsT &M g3 T

(b) slaked lime/aZM g1 T
(c) Both quick and slaked lime
foTT S g7 a1 30 g3 I A

(d) None option is correct/®TE foheq T&l F&t 21
Ans. (¢) : Hfegad SFEE (CaO) F foAT @m0
(Quick Lime) T8 Hfcqam gEgiEe (Ca(OH),) F1 T30
3T T (Slaked lime) Fad &1 & 1 Hicwaw & s
2 U@ STl ol g Y A i & g 5 aet
T YA foar ST Tt 21 oA © f fSA g g =
(Quick lime) ST & Hre SHGRAT HT g0 g3 T4 |
IRafdd & S @ S I 3 g¥ 99 (Slaked lime) %
TR FAL NG TR F R el T8et 9 e 2|
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36. Which elements are present in stainless

steel/RTH LA H ST | oeel SURY B 2
I. Carbon/&@

1. Chromium/shifHaw

II. Nickel/fhet

IV. Manganese/HTHisT

(2) Only I, IT and T11/3aa 1, 11 72 111

(b) Only T1, T and TV/3&se 11, T F4T TV

(¢) Only I, 111 and IV/&ae I, III @21 IV
(d) All given elements are present

fo T geft A Sufted B
Ans. (d) : 09 1 ¥ @RI (Fe), HIF (Cr), Foa
(Ni), FFHIS (Mn) Td &6 d 3UR9A &4 81 98 T Y
o] €, 9¢ FOR BN ¢ a9 THH FA S TE &1 THH
T st T, S S A T § R 2
37.

The resistance of a metal conductor is...........

ek 4T & TTeTeh Rl FleRIe.

(a) Directly proportional to its length
IH qEE % g 7

(b) Directly proportional to its cross sectional area

ST h G h G 81

(c) Inversely proportional to its length

B &
(d) No option is correct/®TE fasheq & T2 21

Ans.(a):WE&W%W?- (1)@?{?@?1&(2)
T BIBT I AT IFATA I S T H FHH S 2
(3) 3@, & g A% & SR & g STAN § o Ao
Il TYT (4) M % FSARS F Td RS H (5) ek
T A H|
40.  Silicon is which type of material?/fafeTeri= Tehe
Weh T ueTe &7
(a) Semiconductor/3TGaTeH

(b) Insulator/FaTeteh

(c) Conductor/dTeieh

(d) No option is correct/®TE faeheq & T2 21
Ans. (a) : oo, SHfEE, $efaq geaEs ol
FEATH ¢l TEIES F fgd Seed sEEs #
TUET 37fh AT GETCTH! 1 YR HH Bl @1 I uarel
FI SfeRrEhaT A9 TgH W et @, 37efq A agdt 21
41.  Which vitamin is found in lemon?/=ﬁ§f\ " @

A feretfir uram S 87

(a) faer™= A (b) foerfim K

(c) faer= C (d) foerfim D
Ans. (c) : A1d, T, g, [, AR, JATEI A
# faeiftm ¢ wrEn S 21 feifiE ‘0 w1 et T
TS TRE 21 98 9 ¥ geeia g1 W TR #
THH HH F el AWH U & S 2

Ans. (a) : % o1 & A% & AUE IR aH=TE
UM S § A s B AR dgd F G H
ARy dgdl @ SN oW ued ¥ =rels o Sl s
21 SEfs frdl ares @ ufY 3Eh FE F
AT P ATHAMIMT Bl & 37did e Jgd | e
1 Sl wed 2l

38.

While moving from one end to another end
inside a solenoid, its magnetic field..........

[t uftarferent & +fteX T B ¥ T BR W
LR R T C 0 0 N |

(a) increases/sedl &

(b) decreases/SeHl &

(c) remains same/SH Tl 2
(d) first increases then decreases
TEet aga @ fY s g

TR BN W TH R Jo1d &7 FuH &l 2|
39.

What kind of mirror would be best suited for

use in a solar cooker?/®R hehl o U &
g = a1 gdur T Sugh T 82

(a) Concave/3fdddl (b) Convex/3qa

(c) Plane/¥Hee

(d) No option is correct/®TE faeheq & T2t 21

42. The blood clot formed is due to presence of
which of the following?/Txh T oIt TeRTaht
Iufkerfer o SHIUT SaT &7

(a) Red Blood Cells/@Te T Hif¥hTd

(b) White Blood Cells/T%he Th HITITHT

(¢) Haemoglobin/&HIenifar

(d) Platelets/Tieaed

Ans. (d) : TERY I JTEIERSH had WAER T &
TR # TR S 2 A gem, TR, Fsw fRlE 3o
TR fefhd & T & 8 3 g P TR & we
S T Th 1 Tl A T F T8 bl U 21 T §
T HEM 2 ¥ 5 A o oA e g ]

43.

By its which part Bryophyllum can reproduce?
forE T GRT S Y TehaT 87

(a) Stem/d T (b) Leaves/qfaat

(c) Roots/SS (d) Flower/91
Ans. (b) : ST a1 GRS Ui G ST HL Gebel
21 U ufidl o R @ieEr g 21 e @ | e
gt et iRt w1 T i da 81 ' ¥ sufew
Fferd gugh faaem W ool | oSi-sR W o
FHfcrrall &1 fmfor et 8 |
44.  Sex of the baby depends on whose chromosomes?

forgy =t et m& t o foredt e 872

(a) Mother/Hrdr (b) Father/fan

(¢) Both mother and father/dTT Tar T <=1

(d) Grandmother/aTet
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Ans. (b) : i1 () § XY 707 97 84 @ Sfeifsh A1 (4T
¥ XX 07 g7 B &1 fee R # afx gew @ X fem
T g B % X el oy F fverr @ A s XX el
T 3T: HaW @Sl gl Sk Ak TEN H Y O T
& & X v o @ ¥ e fes S 5H ase
g era: ey a1 e & fef frefor gew (R &
TR R el e 21

45.  The change in focal length of an eye lens is caused
by the action of the.../3TR= &8 &I ®ihd it ¥
IREeH...... H FeRaT o RO B 2

(a) pupil/gaett (b) retina/ gf¥Uee
(¢) ciliary muscle/Teameft wigusft
(d) iris/aReATRET

Ans. (¢) : 3T =9 0K 3 9 Rem 3 g1 3w o=
Teatet UM (Ciliary Muscles) & feiad =™si g1
AH BT g1 I A F g g H R e
i T % e w et 41 B % wOT A 3
46. Which of the following statement
CORRECT?/f=1 ¥ & &9 61 %o |t 872
(a) Monera are multicellular
B 2
(b) Protista are always multicelh%ﬂar
|
(c) Fungi do not perform photosynthesis
EEEREIN qgﬁm :ré‘r‘)f ?ﬂ%|y
(d) Fungi do not have cell wall
e | frfer e &t
Ans. (¢) : = U S ¥ THHIYEHET g ed & adr
T o Al NHReAfs HiE 9 81 I8 -
Siray, Hierfa e |
= Wfeder s # off tHRREE Sie e §-
faefad s Al JHRANES IR S &1 e
- erfie, Fred, ity e
= Fa% IHReilE e 8 fhq W wieRa
(Chlorophyll) =T&f T ST 219fd 398 JeTeT Hyeroor s
fpen 7 Bt @1 T FiferE fufa @ @1 S @l
(Chitin) &1 &= &t 21

is

48.  Which is NOT an inorganic gas?

i o 3renTsifren T T €2

(a) Ammonia/3THIf=T

(b) Hydrogen sulphide/gTggIH HehES

(©) Methane/fe

(d) Carbon monoxide/FTa AIIFAES
Ans. (¢) : STEHEME T &- AT, TS TohEe, HET
It ezl wfs fom wee W R WifeEw gu @

e arclt TG # et AE R A & 2 2
49. Match the tiems given in column (A) with those
in colume (B)./=® (@) ® ot ¢ HI=ARI
W (@) # & T yewnl @ frem s
Column- A Column- B
w9- & w9- g
I. Basel Convention 1. Ozone layer
A FHEA IS T
II. Montreal Protocol 2. Hazardous waste
At BICiEAIGH dumping
G 3R

TETf HT T
3. Greenhouse gases
eRae T
(b) 1-3, 112, TII-1
(d) 1-1, 1I-3, TI1-2

III. Kyoto Protocol
FIT et

(a) I-1, I-2, III-3

(c) 1-2, II-1, II-3

Ans. (¢) : €9- (%) wY- (@)
(1) I8 g - TATS T
Tl T T
(2) Hifgaa T - 3 T
(3) FST Tl - gRage W
50. Identify correct type of food chain./@&t @

47.  Which of the following disease is NOT caused SJTGEAT hi UgAT=T?

by metal toxicity?/freteriad o & &= A1 .

T Y PSR 3 ST T B 27 Grass— Rabbit—>Fox/STd »>W@@MIT »>eragt

(a) Minamata/T=ar (a) Decomposer food chain/37q9d @& S@el

(b) Itai-Itai/32TE-32T8 (b) Detritus food chain/®Re @ S@el

(c) Dermati'tis/mﬁ'q o (c) Grazing food chain/=RUT @& 4@l

(d) B]ﬂw()th Mlg;mg%aig%ét%al (d) Parasitic food chain/ s @ BICK
Ans. (c) : FRTERT I 9N (Hg) 1 e @ T4 22| ||Ans. (o) : ST &9 § WrREfEer & ¥R # 2l - (1)
£o$ T HefiEm ¥ HROT BT 21 TAfd S AT 1 HROT| | |[TROT W WA (2) WS W @A (Detritus food
o1 foThaT @1 Safs Hiersfed I H U F A F|||Chain) RO @E e € (30EE) § SR @
6 ST S R 1 T TH e U R eWd W F || |wiwert (g sw a% S 8, R e gem
T o T e B e o e 1 S el e
{U%Waﬁmﬁaﬁ%g@mﬁ%qmw(m)@mm T W g veret | e 7 eiR
TSt I 2 T s gard 1 AT HitHferd 2|
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1. In a period of inflation and price rise the
supply of money ..........

TRTERIT 3 HTal o ghag ot @M § & i

g o Beft -

(a) Increases/df&

(b) decreases/®HH

(c) remains the same/Ush HHA

(d) increases or decreases proportionately
TS €9 9 gfe a1 s

Ans. (a) : TEHIT FT 51 THR off FaT S 21 FE:

T TR § AN WHR YA Sh FN SEvAhd 9

sifersh A # e ffad B @ g @ R qw o e

1 Yo IR ST @ 991 T god TR S 33 o 2

T R gEedife @ Rafd § g9 ey s¢ S ?

it et Tor et b A S qor § @ 2

2. Who among the following is related with
'Labour Theory of Property'?
frefafas & @ & ‘gufw & 9w fagr=’ @
raIfera &7
(a) Adam Smith/TeH Rwyg
(b) John Locke/Si<T wiieh
(¢) J.S. Mill/si.wg. fiet
(d 1.J. Rousseau/3.3, &4

Ans. (b) : ‘GuRT & gu fagid’ @ S ol Gafed 2|

safe ‘@ fagid (Binifit Approach) T8 ‘A wmwe

gHIT  (Ability ot Pay Approach) & ¥fauEs usH

fagr 31 o ‘FEam @ & fagd SwE faa 3

gfcarfed fram @

3. Which is India's first "Global Telecom City" in
the following 2/frefafiad § 9Rd T el
“Tefreret Sferenta fadt’ s ar §72
(a) Hyderabad/%mﬁ
(b) Noida/ATTsT
(c) Kolkata/aTerehte
(d) Bengaluru/aﬁqg

Ans. (d) : TRE 1 T8 TS Sl M e’ 2|

AT § 6 e IR % TSF FAlE F TSEE 2

T 9 1 Al I’ oFf wer S 2

4. According to World Bank what was the
approximate land utilization percentage of India
for agriculture purposes ?/fava Ak & JER

HY Al & T a9y

ITANT YF9Ta o6 2015 | I =T oAT2
(a) 50% (b) 60%
(c) 70% (d) 45%

Ans. (b) : fova % & FTER FH WASHl & T R F1
ST ff STANT Sfrer @ 2015 & ST 60% o

5. Which among the following was used as the
motto for Census of India 2011?

R sl STTUET 2011 o fow feafeafaa o @
THIF—HT TS ATeRT SURANT feha 7o on?
(a) Our Country, Our Family
AR FHLl, R Hied
(b) Our Duty, Our Census/3X @‘3{2'3(, R 499
(c) Our Census, Our Future
IR THE, A BN
(d) Our Country, Our Census
TR Frol, A A
Ans. (¢) : 2011 & SUFT 1872 & o1& § 30 & 1591
T ST 3R WA Aftd & 918 78 S 2
ST 2011 F MR G FHR SEEOAT,  BEN
qfesd’  (Our Census, Our Future) Tl Sefh ¥
‘wres e il eme g fF 2011 # SHIOAT &
ITEN GRT & FoI G fowa H oI S H
17.5% 21

6. Which of the following is not a feature of good
governance ?

frefafaa § & o gomas @t fagreer 7@ §?
(a) Accountability/aaﬁa%pf

(b) Transparency/qRaf¥fdr

(c) Red Tapism/aTel WidrSmat

(d) Rule of Law/& & f4aw

Ans. () : GTEH & TG SHAT o6 T ITER Th 31
YA F &1 AT SN (qdEe & A s o fave
S S e % STER gured @ e @ (1)
T Tl # Saeefear aur yrefdfar, (2) fafr &
YA T (A ), (3) semea # Afae,
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(4) T T foohseBtoT dor YeEA § S 9nfie,
(5) M onfies Tarsii & UgeEs UGS, (6)
TAiERT & ¥ § gRefig faewE W T

7. Who rejected the "Principles of Administration
as myths and proverbs" ?

“fugeRl AR wEEG & ®T W WEA &

Tagr=at’’ &t foram et famarm §7

(a) F.W. Riggs/Th. S g

(b) Dwight Waldo/SaTge aTeet

(¢) Herbert Simon/gad T1ga

(d) Frank Marini/3e AT
Ans. (c) : ‘e 3R FeEdl % &9 § F90ET F gl
1 g EHA 1 TR e 71

8. Which of the following is related to the Second
Schedule of Indian Constitution ?

ORetT w@faem @ gEdt gl @ deer 3
¥ forea 87
(a) Representation in the Rajya Sabha
Tsg g ¥ wfafAfae
(b) Language/4msT
(c) Oath taking/?M9 AGUT
(d) Salaries of important officials
Tl wEfERE 1 A
Ans. (d) : TR e § ot 12 g 81 e |
W oA ¥ weow gafeRdal (- agef,
TSI, AGHT T 9 AT, TST G o I
TS YW, SeAAH AEed SR 3w el &
AT 3R IR F e et ) F o
T At 9, W 3R U 1 Seora fRAr A @1 e
e ogeh #§ 9 W & WA off S ATl Y9y &6
ITerg g1 YT S oAt H Her Wi wed
I 2|

9. The concept of single citizenship in the Indian
Constitution is inspired by which country ?

Ot GfeemT ¥ Uehel ARTReRAT shl STErum
fore Qo1 & AR &2
(a) Germany/?l'ﬁ:ﬁ

(©) Ireland/3TARAS

(b) France/%id
(d) England/g7 G

10. The authoritative text of the Indian Constitution

in Hindi was authorized to be published which
of the following constitutional amendments ?

O dfeue & wiiigd =< U &
frrafafaa d@fgam doneqt o & forees g
JERTIITE i ok ToTq stfirene feram mTam?
(a) 57" Amendment, 1987/57dT T3,
(b) 58" Amendment, 1987/58aT H9ME,
(¢) 59" Amendment, 1988/59aT TIMeH, 1988
(d) 60™ Amendment, 1988/60aT TENEH, 1988
Ans. (b) : 589 Hfgu gened 1987 3w o= wmr &
dfau & Wftga e w1 YERE wH & faw sifed
o T SEfE 57 d GEA g WU, HEed,
fosiRe SR Ametve fumer # orgfad e & et
T S| 603 NG N FFEE g A ISR |
FU @ dmw F 250 F0 FT 9 T T 2500 FO S
fepan )
11.

1987
1987

The Chalukya ruler Pulakesin's victory over
Harshavardhana was in year .

WWW&WG&WWWW

(a) 612 A.D./612 E&  (b) 618 A.D./618 &t

(c) 622 AD./622 T& (d) 634 A.D./634 Tt
Ans. (b) : TeId 3feRg § A1 Jed ¢ 5 A1 e
Qv f5die &1 giaed § et A & 9 W S gen
s gfaelT wuis gam dwet Tensi # S F A=
T AR S Suly gror # off) eader @ f @
IReiE Th JORA & ®9 § 8 q97 SHH AW HEh €,
fafy sl sTel &1 o= @ P R T A e
2 o arerdl o e 97 1 YA Jerhiv Fod o

12. Which of the following Sufi order was the most

orthodox ?

fraafafiaa ¥ § ®F—91 gt Gye™ waiiias
wigardr ar?

(a) Chishti/feredt

(b) Qadiri/®rad

Ans. (d) : T9T wfeerm & ot it favmarnd (c) Sarwari Qadri/tad Hifed
(1) Favs - TSel AT, T e, (d) Nagshbandi/Tererar=<T
e yome Ans. (d) : TERE AR 1 T TN A e
(2) G - T 3R ST § @ g o U §eN dgakl/Eead) ol
T, A SR T 5 TR SR F 3eR A &y e S@re faed
3t | YA RGBT HANEH WA g fgatger @ ogEe
(3) 3RS - T~ & Hf-Frders g T 12 el # St qEE fawdt 3 S o) el
(4) ST - SAHA & THI ASHEHR] | | |HI &l O TR 3G el e 4 ud geuadf
F T Y & E REEEE geuadl 5 & o
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13. For which of the following rulers|16. Which of the following is not an example of a
'Ekabrahmana' has been used ? metamorphic rock ?
frrefefae saent ® 9 fermer forg ‘went smgTor’ frafafas & @ @F-—a1 ®UAka =g &0
WITh AT 87 IR T 87
(a) Kharavela/TRae (a) Gneiss/A ¥
(b) Sushaman/gEH (b) Phyllite/®rIaEE
(c) Pushyamitra Sung/Jsaf# g7 (c) Schist/Rree
(d) Gautamiputra Shatkamiﬁﬁﬂ"ﬂ'ﬂi RUGE] (d) Granite/JATgS
Ans. (d) : T TF Wl 3T WiETed a9 1 2331 | |Ans. (d) : TEH IR
TE I e I A1 A e § g6 TS AH| | (1) s - IqEe, SHee, YRR, 4,
STEI0T 31 “Wehl SR el T &1 36 AU @ & R, wfE
Uy ROT S qA AURSH AHD TR B WG B ||(2) s ) T, T TR, =T,
e § T 3T Ware avt it T o | & o) SeiTEE, T TR
14. Who was the first person to be selected for ol—qlef\rllsd, HITAELE, e
"Individual Satyagraha" during the Indian (3) TUIRA/HERT - 9, e, R |
Independence Movement ?

VRS el <o & SR eafvea

TEmE ' % fT g T gem wts i 97

(a) Deshbandhu Chittaranjan Das

9 Ty foaisH 2w

(b) Sardar Vallabhai Patel/SGER ToetqE g2t

(¢) Dr. Rajendra Prasad/gl. Tois 541

(d) Acharya Vinoba Bhave/3Tamd fatan o
Ans. (d) : 7T YW@ H [ TE FTEFR B g
FEY 3 AT gEmE M St F Aga § wRe fear
THH YET 17 3R 1940 & gl | ¥oH TR &
®q H Wil St 3 emedd fader a9 @ g S&fE W
R §. FETel O ToE 4|

15. Mountbatten Plan (June 1947) provided for a
referendum in which of the following province?

TEeded W (S 1947) ¥ frafafea o @

ferar wia ® wHa 90 e feram an?

(a) Sindh/f&¥g

(b) Punjab/4STa

(c) Baluchistan/ﬂ?ﬂ%ﬁ'ﬁ

(d) North—West Frontier Province/ﬁiﬁlﬁﬂ
Ans. (d) : 22 H® 1947 & 9RA % 349 3R faH
fafeer et SReT o€ ASUedeT 9N | e T
T IR 9RG FH Afely qof w@dEar @ oam 3 5@
1947 & TRUSHEd ANl d Hwem H TR e
- IAC-UEH Wi (Sefea) § SHEd 696
TR T8 iy fpen S % 9w # fiemn =md
g a1 78, s % qRem aga 3o faowe B # s

17.  Stratellite is the

(a) Uppermost band of stratosphere
A B T S0 ST

(b) Lowermost band of stratosphere
A & 9o fA=er A%

(c) High altitude airship positioned in the
stratosphere/31¥% 9 W FHAIHSA H

Ty AT
(d) Natural satellite of Jupiter
geHfd &1 Hidsh 3T
Ans. (c) : 3F 3aE W FAAIEUSA H TG qgAA
F LT Fa S 2

18.

Mount St. Helens is an active stratovolcano
located in which of the following countries ?

wfthg W remEt uda @ ge

frrefafaa o 9 fora 291 o Rera €7

(a) Japan/STard

(b) United States of America/S3wh T3 3R

(c) Chile/feit

(d) Ttaly/zeet
Ans. (b) : 9fFa ©2 STl wdd de g g TS
s # fod @1 o upg SemE w6 IHea
saftafd & frar (g9 i), Wifter @ SmEr (dgeT
=), weve T (faeelt g, sl (fmd ),
FEGH  (SFSR), AU AF  (S(hIH), AT

(3USHfyTE) =7fE)

) ) 1119.  In which Indian state is the Nanda Devi peak
TE & S0 I8 e O @ e @ e located ?
A w6 SR wifehe # aie fer s et Tt =it wra o TR e | free 27
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